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DCI 11 C+J01

=�����
���E9� 11 116 ��/. . . . . . . . . . . . . . . . . . . . . . 
7�������:�$������%�� 123/156 ��. . . . . . . . . . . . . . . . 
����������	��� “BOSCH” COMMON RAIL. . . . . . . 
�����������������	������ 1.5.3.6.2.4. . . . . . . . . . . 
D������	��������������������� 2 400 ±50 ��:���
=�����$�	����'��$��� 700 +50–0 ��:���. . . . . . . . . . . 

DCI 11 E+J01
=�����
���E9� 11 116 ��/. . . . . . . . . . . . . . . . . . . . . . 
7�������:�$������%�� 123/156 ��. . . . . . . . . . . . . . . . 
����������	��� “BOSCH” COMMON RAIL. . . . . . . 
�����������������	������ 1.5.3.6.2.4. . . . . . . . . . . 
D������	��������������������� 2 400 ±50 ��:���
=�����$�	����'��$��� 700 +50–0 ��:���. . . . . . . . . . . 

DCI 11 G+J01
=�����
���E9� 11 116 ��/. . . . . . . . . . . . . . . . . . . . . . 
7�������:�$������%�� 123/156 ��. . . . . . . . . . . . . . . . 
����������	��� “BOSCH” COMMON RAIL. . . . . . . 
�����������������	������ 1.5.3.6.2.4. . . . . . . . . . . 
D������	��������������������� 2 400 ±50 ��:���
=�����$�	����'��$��� 700 +50–0 ��:���. . . . . . . . . . . 

DCI 11 D G 99 TAIWAN
=�����
���E9� 11 116 ��/. . . . . . . . . . . . . . . . . . . . . . 
7�������:�$������%�� 123/156 ��. . . . . . . . . . . . . . . . 
����������	��� “BOSCH” COMMON RAIL. . . . . . . 
�����������������	������ 1.5.3.6.2.4. . . . . . . . . . . 
D������	��������������������� 2 100 ±50 ��:���
=�����$�	����'��$��� 700 +50–0 ��:���. . . . . . . . . . . 

 DCI 6 AC J01
=�����
���E9� 6 177 ��/. . . . . . . . . . . . . . . . . . . . . . . 
7�������:�$������%�� 102/126 ��. . . . . . . . . . . . . . . . 
����������	��� “BOSCH” COMMON RAIL. . . . . . . 
�����������������	������ 1.5.3.6.2.4. . . . . . . . . . . 
=�����
	�������$	����$�'���� E.G.R.. . . . . . . . . . . 
D������	��������������������� 2 700 ��:���. . . 
=�����$�	����'��$��� 650+30–0 ��:���. . . . . . . . . . . . 
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DCI 6 W J01
=�����
���E9� 6 177 ��/. . . . . . . . . . . . . . . . . . . . . . . 
7�������:�$������%�� 102/126 ��. . . . . . . . . . . . . . . . 
����������	��� “BOSCH” COMMON RAIL. . . . . . . 
�����������������	������ 1.5.3.6.2.4. . . . . . . . . . . 
=�����
	�������$	����$�'���� E.G.R.. . . . . . . . . . . 
D������	��������������������� 2 700 ��:���. . . 
=�����$�	����'��$��� 650+30–0 ��:���. . . . . . . . . . . . 
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170 A/�
190 A/�
230�A/�

8������������������'������ :MITSUBISHI A003TA8291 60A
MITSUBISHI A003TA8491 80A

MITSUBISHI A004TR5091ZT 90A
 BOSCH NL1 80A

)������ MITSUBISHI 24V 5,5 KW M009T60471��������
24V 5,5 KW M009T61571

BOSCH EV 24V 4 KW 0001231009
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����'���	� 36,4��������������������������������������������������
#������������!�	�����5!�	�����6 30������������������������
#���������
�!�	�����5!�	�����6 34��������������������������

7��'���	�� DCI 6
#��
$�
����'���	� 28������������������������������������������������������
#������������!�	�����5!�	�����6 24������������������������
#���������
�!�	�����5!�	�����6 25,3����������������������

>��������������  ZF 9S 109� 8. . . . . . . . . . . . . . . . . . . . 

>���������������������� 1����������������������������������������

>��������������  ZF 16S 109 8,5. . . . . . . . . . . . . . . . . 

>���������������������� 1����������������������������������������

>��������������  ZF 16S 151

���������	������	��� 8����������������������������������������������
�����
$���������� 11������������������������������������������������������
>���������������������� 1����������������������������������������

>��������������  ZF 16S 151 + INTARDER

���������	������	��� 11��������������������������������������������
�����
$���������� 18,5��������������������������������������������������
>���������������������� 1����������������������������������������

>��������������  ZF 16S 181

���������	������	��� 10��������������������������������������������
�����
$���������� 13������������������������������������������������������
>���������������������� 1����������������������������������������
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(���
������
���
�	�����	
����

(�!�'

>��������������  ZF 12 ASTRONIC

���������	������	��� 9,5������������������������������������������
�����
$���������� 11������������������������������������������������������

>���������������������� 1����������������������������������������

>��������������  ZF 12 ASTRONIC + INTARDER

���������	������	��� 18��������������������������������������������
�����
$���������� 21������������������������������������������������������

>���������������������� 1����������������������������������������

>��������������  EATON 5206 6,5. . . . . . . . . . . . . . . 

>���������������������� 0,25����������������������������������

>��������������� EATON 8309 8,5. . . . . . . . . . . . . . . 

>���������������������� 0,25����������������������������������

)���
������	��� ���������E��������� ER8
)�
�������	�� 2x0,7. . . . . . . . . . . . . . . . . . . . . . . . . . . 

������� ��������� ER11
)�
�������	�� 2x0,7. . . . . . . . . . . . . . . . . . . . . . . . . . . 

������� ��������� AUSTERAS
)�
�������	�� 2x0,6. . . . . . . . . . . . . . . . . . . . . . . . . . . 

A����
����� P1341 – P1342 – P1345
������ 15����������������������������������������������������������������������������

=��
��������	9� 2x0,8����������������������������������������������������

A����
����� P1340
>����� 15. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
)�
�������	9� 2x0,5. . . . . . . . . . . . . . . . . . . . . . . . . . . 

A����
����� P1370
>����� 15. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
)�
�������	9� 2x0,5. . . . . . . . . . . . . . . . . . . . . . . . . . . 
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��$)��' �����(�'!��

��9�B

8�����	������
�����
������	���� 0,5����������������������

8�����	����������������'����
��	���	�
�
	���'��
����	���� 4����������������������������������������������������

8�����	������
�����
����
��	���	����
	���'�

����	���������	�������'�����������������

��� 8. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

'���,"�I/�&�,�"�'!��

(���
������
���
�	�����	
����

)��������$	������� (DCI 11) 36����������������������������������
(DCI 6) 33

>���
���$	������� + �����	���	� ZF INTARDER 57

�'"�

@���������	��������	� 10��������������������������������������������

(���
������
���
�	�����	
����

@������������	��!�� 10. . . . . . . . . . . . . . . . . . . . . . . . 

�'$���'

(���
������
���
�	�����	
����

.��	����
������	����������
 215. . . . . . . . . . . . . . 

.��	����
��������	���
 285. . . . . . . . . . . . . . . . . . . . 
310
390
400
420
565
570
595
740

7���	����	���
����	����
��������	���
 285. . . . 
400
420
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(���
������
���
�	�����	
����

.��	����
������	 �������
 285. . . . . . . . . . . . . . . 
310
400
420
520
570
595
740

7���	����	���
����	����
������	 �������
285
400
420



B13 9�G��<������
���B�

0���

, #4����������������%���
L #JTubeless<"����������J�����������<
/ #;�'�
�������������������������
M #;�'�
�������������������������
1 #4���������������'�������������

"����������	
�G����D���G

$)�(� ����
7������ ��� ���	��� � ���������
���������������� )��	������ ��
��$��������� ������� ��'�������	��%��
�	�� �������� ����� �� 
�	���

����	����������;���$���������	 ����
������ ��'�
���� �� ���������� 
��������
���������
������$������%���

$��4
���	�94?��.
#��	���������$���	��

�����������9��@�B5���3�
�5�
D�����5�6� �������� '���� ����	����
��	���"�500±50�;�

����������3�
�5���	���
��
���=����
D�����5�6�����������	����$�'����"
500±50�;�

��������
(����

������������#<����������������
�����������������<���'
����������
�;�������������������������
�����
�;��������
�����
����'
������	�����������������������������"��������
�
�
����������
��
���
��������
�'����������
������

���������
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��=�D�� �������������
��	������
 "����������3���G
��	�����5��9���9�5��9�?�
=���9B� �=�����B�

4 860 8 960 6,0
5 220 9 620 6,5

11 R 22,5 5 580 10 280 7,0
5 940 10 940 7,5
6 300 11 600 8,0

5 560 9 880 6,5
12 R 22,5 5 950 10 560 7,0

6 330 11 240 7,5
6 720 11 920 8,0
7 100 12 600 8,5

3 860 7 100 6,0
4 140 7 620 6,5

255/70 R 22,5 4 430 8 150 7,0
4 710 8 670 7,5
5 000 9 200 8,0

10 000 8,5

5 010 9 720 7,0
5 330 10 350 7,5

275/70 R 22,5 5 650 10 970 8,0
5 980 11 600 8,5
6 300 9,0
7 100 12 600 9,0

4 750 8 660 6,0
5 100 9 330 6,5

275/80 R 22,5 5 450 10 000 7,0
5 800 10 660 7,5
6 150 11 330 8,0
6 500 12 000 8,5

5 330 9 800 7,0
5 680 10 420 7,5

295/60 R 22,5 6 020 11 050 8,0
6 360 11 680 8,5
6 700 12 300 9,0

5 560 9 880 6,5
5 950 10 560 7,0

295/80 R 22,5 6 330 11 240 7,5
6 720 11 920 8,0
7 100 12 600 8,5
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���B�

(���
������
���
�	�����	
����

��=�D�� �������������
��	������
 "����������3���G
��	�����5��9���9�5��9�?�
=���9B� �=�����B�

5 660 10 555 7,0
6 030 11 240 7,5

305/70 R 22,5 6 395 11 920 8,0
6 760 12 600 8,5
7 100 9,0
6 700 12 300 8,5**

5 560 10 550 7,0
6 030 11 240 7,5

315/60 R 22,5 6 390 11 920 8,0
6 760 12 600 8,5
7 100 9,0

5 980 11 225 7,0
6 370 11 955 7,5

315/70 R 22,5 6 755 12 675 8,0
7 140 13 400 8,5
7 500 9,0
7 100 12 600 8,5**

6 270 11 090 6,5
6 700 11 860 7,0

315/80 R 22,5 7 140 12 640 7,5
7 570 13 400 8,0
8 000 8,5
7 500 13 400 8,0**

** : ����������������������������$����%������'�
����������'�����������������
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���B�

�"��������%�&����'('+��&
1 – 7������%����
2 – 7�����������'�������
3 – 7���������������������
4 – F������������	�������'�������	�
4 –��������	����'��������
5 – .��	������������������������
6 – .��	���������$����������������������
7 – .��	�������������$��������� (CAM)
8 – 7���������'���	�
8 –;�����������
9 – 7���������

10 – N����������������'
	��������������$���	
11 – 7������������
�5���E����
6����



B18 9�G��<������
���B�

�"��������%�&����'('+��&
1 – =����%����
2 – A����
�����
3 – >��������������
4 – .��	�������'�������	�
4 –3��������'��������������
5 –��������������	����
6 – .��	��������$�'��!�
7 –G�!� CAM
7 –G�!�����
���
�������
8 – 7��'���	�
9 –4��

10 – .��	����������'�����
���'
	��������������$���	



C1 ;��=���9�7�4



C2 ;��=���9�7�4



C3 ;��=���9�7�4

)�+' ���(�!�'��'"����&
(���
������
���
�	�����	
����

1 – 7�!!
�������!������'�
2 – 7���	�

3 – ���	 ����	��5�������� C11 – C12)
4 – D���������'�������	����������9�����
5 – >��!�����������	��������������	�
6 – 7�!	�����
7 – >����	���
���$�'��!
8 – ����
������	�
9 – ���������'
	�������!��
10 – C���������	����	��$����������
11 – ����	�����
12 # =����������LM���	��
13 – �����	 ����	�����������
�
������	������������������������
$�
14 – C���������	����	��$�����������������	�
15 – =����������,L���	��



C4 ;��=���9�7�4



C5 ;��=���9�7�4

$������$)�+')'�

A – >�����	�����	�������	���'�������
B – >�����	�����	��������������'���������
C – >�����	�����	������	����������'�������	���	�
D – >�������	������������ 
E – >�����	�����	���������������	���'����'����
F – >�����	�����	�����
������	�
������������'���
G – D��'�!
�������	���
�����	�
�5�������� C13→C28)
H – )�'��	�������J4�();4<�(DANGER) #�;����	���������������
J – 2������	��SERVICE�5<.+N4@)C2O3�(;3+<6�"����������	�

�������$�����������	����������������	���
%��
�	����
�!������	����
����	���
%
 ������� ���%�
���������
������

K – >�����	�����	�����
������	�
�����������������
L – A����������'���������������������'���	�
M – >�����	�����	�����������	���'������������	���
N – 2������	��
���������	����������
P – ����
%��
���������
Q – 2������	��
�����������	��������	�����'���	�
R – 2������	����������
������������$	�����������'���	�
S – )�'��	����������
��	������'�������������������'���	�
T – )�'��	�������������������	���	�������$	���
U – )�'��	�������������������	���	�����'���	��������������	���
��'���������
V – .�$�����
W – 3�����������������
X –  7���	�
�����	����	���'�����!�����"

  . ����
  . 
������	�����
���
���������
��

Y – 7���	�
�������������9�����
Z – >�����	�����	��������'����������	������'����������������'������	�

AA – >�����	�����	�������������
�����$�!��
AB – ����
������ ��
���'��	���������	��������#�������������


�����������

AC – >�����	�����	������	����'�������
AD – >�����	�����	����������$���������
�����$�!�����

AE – >�������	�����������!������������������ 



C6 ;��=���9�7�4

(�'�'����%�'��������"�!$���

$�4������������	�9��45

(���
������
���
�	�����	
����

G1 – 2������	����!���������	��

G2 – 2������	�����
�
	������
���������"
. ��	��������'��!��������������������"�����	����	����
��!�������

. ��	�%��������'��!��������������������"���!��������������

G3 –�J(����
��
<�
������	�����	������������'�����	�

G4 – 2������	����!������	��������'������
����������������	�

G5 – 2������	����!������	��������'������
�����������'���	�

G6 – J(����
��
<�
������	��������	���'�����	���������
$�
– 2������	����!���� “EBS”

G7 – 2������	� “ABS/EBS” ������� :
. ��	��������'��!��������������������"�����������������

”ABS/ESB” ��������������	 ����������'�����5������'�
��!��������6

. ��	�%��������'��!��������������������"�J>�����	���
<

������	����!������������ “ABS/ESB” �������

G8 – 2������	� “ABS/ESB” ��'����"
. ��	��������'��!��������������������"�����������������
JABS/ESB” ��'����������	 ����������'�����5������'�
��!��������6

. ��	�%��������'��!��������������������"�J>�����	���
<

������	����!������������ “ABS/ESB” ��'���

G9 –�J(����
��
<�
������	����$���	
�������

G10 – 2������	�����������������$����	����

G11 – 2������	����	
����������������5
����	�����!	����6



C7 ;��=���9�7�4

$�4������������	�9��45

(���
������
���
�	�����	
����

G12 – J(����
��
<�
������	���	��������
���������������

G13 – J(����
��
<�
������	����������
������������$	�������
���'���	�

G14 – 2������	�������'��
������������������������$	�������
���'���	�

G15 – 2������	����'�������������
%��'��!�	����
�:�	�����	����'��!�	����

G16 – 2������	����!�����������	���'����$�'��!�

G17 – 2������	����!������������������
����������������

G18 – 2������	����!������	��������'���������
'����'��
����
����

G19 – 2������	�����
��	������'�������������������'���	�

 G20 – 2������	�������	�����������'���	��5���������
������
���'���	����������
���������6

G21 – 2������	����!����������	���	�

G22 – 2������	����
����������������������>�

G22 – 2������	����
����������������������>�

G22 – 2������	����
����������������������>�



C8 ;��=���9�7�4

$�4������������	�9��45

(���
������
���
�	�����	
����

G23 – 2������	����
�������	��������������	9���'����!!�������	�

G23 – 2������	����
�������	��������������	9���'����!!�������	�

G23 – 2������	����
�������	��������������	9���'����!!�������	�

G24 – 2������	���
�����������������	���	����
������������� “ASR”

G25 – 2������	����������������'��������� “ASR”

G26 – 2������	���	����������������������
����
– 2������	���	���������'��������������
����

G27 – 2������	��������'������������

G28 – 2������	��������'����	��������������
����

G29 –�J3�!����������
<�
������	���������'����	�������'�
����'���
����

G30 – 2������	�����	������'����	���������������
�������
5���
�����������������6

G31 – 2������	����������'����	���������������

G32 – 2������	��������	����'����	������������������������

G33 – 2������	����
��������	����������'�����������



C9 ;��=���9�7�4

$�4������������	�9��45����9���@��
��9�G�
��6�

G34 – 2������	���
������'�����������������

G35 – 2������	���
������'����������������������

G36 – 2������	���
���
�	���'��5��������'�6���������������������

G37 – 2������	����� ��'����������������'���������

G38 – 2������	��������������'���������

$�4������������	�9��45�����3���=���
�<

 G39 – 2������	� ASTRONIC ����������
����������	������	�������

 G40 – 2������	������� ASTRONIC

G41 – 2������	����!�������������������� “ASTRONIC”
5
����	�����!	����6

 G42 – 2������	� ASTRONIC �������
��������������'��� (D)

 G43 – 2������	��ASTRONIC �������
��������������'��� (N)

G44 – 2������	� OPTIDRIVER : ”����'��	���
��������������
������”

G45 – 2������	� OPTIDRIVER : ”���������
��	����������
��
���
������”

G46 – 2������	� OPTIDRIVER : ”�������	������������������������	�”
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$�4������������	�9��45�����3���=���
�<

G47 – 2������	� OPTIDRIVER : ”����	�����������������	�������	���	�”

G48 – 2������	� OPTIDRIVER : ”�������������
�������������	�������	������� ”

G49 – 2������	� OPTIDRIVER : ”�
���
�������������	�������	������� ”
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$'&!������������I ����&(����"'!��

(���
������
���
�	�����	
����

A1 – ���	 ����	�����������������������������
�������������	9��5ASR6
A2 – ���	 ����	�����	 �������
�����������'��$���
A2 – >�����	�����	��������	 �������
�����������'��$���
A3 – �����������	�������
�!���
A3 – >�����	�����	���������	�������
�!���
A4 – ���	 ����	��������������	�������5������!�������ADR)
A4 – >�����	�����	�����������������	�������5������!�������ADR)
A5 – >��������	 �����������
��'���������'����'��	�
A5 – >�����	�����	����������
��'���������'����'��	�
A6 – ������������	���	��5��
��
 �:��������������6
A7 # ���	 ����	����������������� (ZF ASTRONIC)
B1 – >������������������	�������'�
����������
B2 – ���	 ����	��������'����
B3 – ���	 ����	�����'����������	������'����������������'������	�
B4 – ���	 ����	��!�����	���'�������
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$'&!������������I ����&(����"'!��

(���
������
���
�	�����	
����

B4 – >����	�����	�����!�����	���'�������
B5 – ���	 ����	����������������� ��'�������$�����%�
B6 # >�����������������������'���������	�
B7 – �������<�����'�<������
��'����'���	�
C1 – ���	 ����	�������������
����
���������
C2 – ���	 ����	���
����
���������
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(�'�'����%�'�������
"�!$���
$����
B
$)�(� ����
7	�� ������������� ��������
����
����	�������� �����
 (D) ���
�������	������ �� $���%�� �����������
��������	��

>�����
 (D) �����������/������������
��'
	������ (+ / – / V).

�5=��@�:�B>�������?�9����� (+) ������
(–) :

– �����	������
��������������� ��
�
���� �

– ��
�����	������'
	�����
��	�
�������������������� �

���9��A:��>� �5=��@�:�B>� �=�������4
(V) :

– ����������������������� �
– ������
���������	���
 
��'
	�����
��	��������	����

��������������������� �

– �����
����������	�������	���
��	��������!�����

$��
��?�9��@������?�9�� (V) :
– ���������������������� 
���	
��������

>�����
 (AE) ����������� L
��������������'
	�������"

���9��A:��>��5=��@�:�B>�.
– �����	��������
������������������
������������������	��J��

��	���� <�

– ���������������������� �����
���������������'
	��������	�
�������

– ���������������	��������
����	����	�������� ���
��	��������� ���������	�
������	���

$��
��?�9��@������?�9���.
– �������������������������'�
��	�����������������'�����$������
,II����
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"�=����9��@��4���6��5�7�4�=����?
���2
>����� (AE) 5���� ���� C13)� �����	���� ���	�������	���� �������� ��� �����
�������� �������������$���!������
�5�� 6, ����9��������'
��������������
�����$��
����������������������������
����������$�����'�������������������
��%�'����������	�6�
2�	���	 ����
�����������������	����	 ����5�������������������������������
���'���	�6����'�����������	����9�����������������������$���!������
��
�
�
�������������������
>�����	���������������	������
	��������������	����������	��������	���
 
��!������ �� ���� �

���� ���������� ������������� ����� ��� ��� �����9��
�	��
 �
 ���!������ , ��������!����������	�����������'���
��������

1 – >�	�����������
��
�������
2 – )�����
����$�����	����$����,II��������������
���������
���	��������

>�'���������
�����������������'����	���������������I���������������
��%	�����----����
)��������$���!������
���	
�����������������	�%������/��������
�����
 (AE).

3 – >
��
	������������������������
��
	������������������������������
������������
�
	��������'����������������������������������
��
������������'��,1#���
���'������$��������	���	��,1#���
���'�
�������������������	 ��
���
'�
���������
2����������������	������������
���������������������������������
��
!����������
����������������������	��5������������ � 0���:�).
>������������������������������������������������������������
��������� ������������������
)���������
	�����$���!������
���
�����	������"
– ���������������������'���	����������	���'����$�'��!��
– �������������	���������������	�������	����������������	��M1����
�
�
�
	��������'������������������������

���
�����
�
(�������	������������	��������<
���
���	�������
�	����

�
�����
���
����'�������������=���
����
�
������	�������
���	��
�
������������	�
���������"��
����
������������	��

4 – D������	���
�5�'�������
6����$�����	����$����,II��������	���#
��������
��
�������
D������	���
����$�����9������	����	�%���������������������������

��!������������������������	
�������������������
����$������
����	��������	�����������
�����4����������
����$��������������	
������
�����������
������	�������������'�����$������������	��

5 – ;�������������
�
	������
������������
������
���9����������'����������	��
6 – 7���������5��������6�����������'�������������������	���'����$�'��!�

����	�����������
��
��������	����9��
�����������
���
���������
��
5��'�����������	���������
���������!������������
����
�������� (X)).
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)��=���
��5B��5��2�.
3���	���������������
����	���� (AE / D) (�������� C13)

1 – .�$������������	
�������
2 – 7��'����������
�������	�
3 – ������
������'����������'������������	�
4 – ��	����������������������
5 – ��	�����'����������
������
6 – �����������
7 – ;�	������������
8 – ;�����!
����������'���� “Warm–up”�5��!������'�6

7	������	������������$������$���� �������	��
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1 – (��2�9�G��<����
���3���?�����4
3���	���������������
����	���� (AE / D) 5�������� C13)
���� ���������� ��� � �����$� �������
� ��� ��$��������
� ���	
������ �
����
��������� 	�%�� ��	���� ��!�������� �� ��������� ���	�� �� �� ��
%���	�
����
$�� �� ������ �� �� ��������$� !���������$� ���	����� 5��'��� ��������	�
����
�������������
 EBS). 4�����������������
�������������
'�������������
��$���	
������ �5�������� F2) ������������'�������������������� “DIAGNOS-
TICA” !���� RENAULT TRUCKS �	�����'������������������� “INFORMAX”
53;F4=D(>)6������
�	���������
�������	���������������������	��

1–1 : ����������������$�������'�����	
��������"
���������� ���������� ��� ��	�������
�� ��� ��	��������
� �������� �	�� ��
����������������������
����'���	�������������������������'���	����'��������

1–2 : 3��������������$��������
����	
������ �5�������� F2).
<������������
� <� �����'��!������
� ���
��� (4) 
��������� ���� ����
���	
������������	��������
<.�������
<� �����'��!������
� ���
��� (2) 
��������� ���� �����'�
�� ����
���	
�����������	�������	���������
������'�������	��������������
3�������� “→ 0” (3) 
��������� ���� 5���	�� ����	������ ��$���	
�������6
��	�������	 ����������������������������
	���B���
������
����������������
���������������������������'�����'����������'���������� “DIAGNOSTICA”
!���� RENAULT TRUCKS �	�� ���'������'�� ����������� “INFORMAX”
53;F4=D(>)6�
�����'��!������
����
��� (5) ����������������!�	��������������	
�������
��	�%�� ��� ����
���������� 4���������� �� � ���	�!�����������
� ������	���

������
���'����������	��!����#��'�������	��

$)�(� ����
��� ���$� ��������	�$� 5��	 ���� �� ���� �������� ����
������� �������
 E.B.S.),
����$��������� ������ !���������$� ���	����� 
����������� ���	 ����	���
�������'��	���J��������������$�!���������$����	����” (G10). ��������	
����
J���������<������'����� (2) �������'������
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!3������=������4��=���7�A�9�G�3���?�����4�=��5�9����5��5����
3���	�������������
�
����	���� (D) (�������� C13)
;�����������$��	
������������
��������������������������	�����
������

���	�� �� �� ������	�����
� ��������� � ����� �� ���	����� )	�������	���

������	�������� ����
� ����� ����	������ ���	
��������� ������

�������������� �� ������������ �� ������������ ��� �������������� ����	
������
���'���	���3�������������'�����������	
������������	�������������������	�
�������������������������$����'���	���
 1–1 : )�������	
�������
 1–2 : D�����������	�
 1–2–1 : >�	���������������'�����	�
 1–2–1–1 : RD
 1–2–1–2 : RLD
 1–2–1–3 : RXD
 1–2–2 : % ����������	���
 1–2–2–1 : ���I����I�I1
 1–2–2–2 : ���I�I1����I�/
 1–2–2–3 : ���I�/����,



C21 ;��=���9�7�4

!3���� ��=������4� �=���7�A� 9�G�3���?�����4� :	�� ����2<����5� �=���7�A� =�
5�9����5��5����>
 1–1 : )��������	����
)���������������
	������	�����������������������
 (D) ��	�%��1����
���5���
���� C13).
 1–2 : 3���������$������������	
��������
 1–3 : 2������	���������'�����������	���������
$)�(� ����
��� ���$� ��������	�$� 5��	 ���� �� ���� �������� ����
������� �������
 “EBS”),
������ 
�������� ������ ��� �����
� ��������� ��������������� ��������������
�������� ��� ������ ������ !���������$� ���	������ ;���
� ����� ��������� ��
�������������	������'������'�����������
�9����������	� 20%.
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 2 – (��2�
��
���9�<����
�����9���4
3���	���������������
����	���� (AE / D) (�������� C13)
>�'������ �������������'��������������� (H) 5).4� / STOP).
!�35��2�.
 2–1 : 3�� ��������!�����
��	 �����	
����������'��!������
����
��� (1) 
���������������
�!
�������	�
�������������	�����!�����7	����������������	���$���!������������
��������

����	���� (D) ���	��������	��������������
������>�� (2) $���������
���$�������
��	����'����!�����
 2–2 : 2������	���������'�����������	���������
 2–3 : @	�������
�5��'� ��
6�����
 2–4 : ��$��������� �
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 3 – $��7�
����
��
���9�<����
����9����9���4
3���	�������������
�
����	���� (D) (�������� C13)
���������	���������������� �����������������
�����	���������	�����	����
�������������
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 4 – (��2�����
���4����9������J���4
3���	���������������
����	���� (AE / D) (�������� C13)
 4–1 : ��	 ��������!�������
 4–2 : 4���'
	�������������������������
;�����������'
	������� �	��
�������	������������
��������������	 �����
���!��������� �� ������
� �������� �������� ����������� ��'
	��
����� �
���������	�������� !����	��������� ��
���
 ���� �� ������������ ��
���
�� ��'��������
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 5 – (��2�����
���
��5���9��	�55����
3���	�������������
�
����	���� (D) (�������� C13)
 5–1 : 8����������
�������
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 6 – (��2��B3����4	B��
3���	�������������
�
����	���� (D)  (�������� C13)
 6–1 : 8����������
�������
 6–1–1 : A���
���������
��������
��
�����
 6–1–2 : �����
������
 6–1–3 : .�����������

��� 
��	���� ���������	�'� ���� /� �������4���������������
�������������
��������������������������������������
��	�������������	 �!�����
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 7 – (��2�����
������5���
3���	���������������
����	���� (AE / D) (�������. C13).
 7–1  : ;�	���������.

   )����
�����������������	
�������������	���'����$�'��!��
 7–2  : 7���.
 7–3  : ;�	����������
 7–4  : ;�	��������
�

   )����
�����������������	
�������������	���'����$�'��!��
 7–4–1  : ;�����
������
���

7����5�	�������6�������	���'����$�'��!���	��
������	���������������������
7	�������������������'���������������	���'����$�'��!�������
������������
����	
�������������	���'����$�'��!��

$)�(� ����
7����������'
	��
�����
A����������������'����������	����������	���'����$�'��!��5�������	�������
��'�� ������6� �	����� ��� ����
� �������������
� ������ ���������� �
������'�
�������������������������������
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 8 – (��2���3����6���7���=�
�
����
3���	���������������
����	���� (AE / D) (�������� C13)
 8–1  : ;�������!������'��
 8–1–1  : 7�
 8–1–2  : ;��
7	�������������
�������������� D1.
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"��)�
'9=���9@������?�
=���	���������� �	 ���� ������ ������
 
�������
 (1).
�����
����
��
 (2) ����$��������
��� �����9
������
����B9@
.�	��
��� ������ ��� �������������'�
�������������������
A���������	 ���������� ������
 ��������

(1).

$)�(� ����
���� ��	 ������� ������ ���	 ����	�
�	���������
�������� �� ���������� �����
��	 �����������������������������	�!���
�������

'9��B9@��	��9��
'9=���9@ :
������������ �
��
 (3) ����$� �� ��	��
��
������
����B9@
�����
��� ��� ����� ������ ��	���� ��
�������������������
��=���9@ :
���� �������
� ������ ������������ �
��
 (3)
����.

$)�(� ����
�����������
����������
��� (3)��������
��

������ ������ �������������� ����������� ���
���������

%��9����	������4� 3���������� 
����A
�	��9���.
P�����	���������� �	��������� �����

��	
�������"
– ��
��
 ������������������
 (3).
– �����������������������������
���
������(4–5) ��������'��7�����������'�
2����	����.

$�����=��@	����������5����
��=��@9��"� :
���� ���	������������ ��'��	������ (F)

������	�� ��������� �� ��'��	������ (A5)
�����
��$� �������$���'��	����
�
����'���
���������
�"
– L�����%���������������������(4),
– M�����%���������������������(5).
��������	���������������������'��	�������
���'
���� ����������
� ����%��
� ��	�
����������������(4–5).

$)�(� ����
>�'��� ����� ������ ��������� ����
���������
������	��������
��	�������������������
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(���
������
���
�	�����	
����

)�"�' �!�'��'�
"�!���%�'��'�� �$)�������
"��)�(�*
A�������:4�������� ������� �����

����	������� ������	����� ���� �
������ � �	 ��
�� ���� �� ����	��
�
��������
� �
	��� 7�����������'�
2����	����.

$��@	����������5���B5�"�
>�������
��
	���������������'��
����	�����������������������
��$ (CR 1620
– 3V). B��� ������
�� (2)� �	��
��� ���������� ��'��� ������	����� 	�������
������������������� (2) '������������	����������������������� (1–3).
)�	3����������
����A������2<�����;���9��=�9���4
;������������
���������� (1–3). B�����
����������������� ����������������

����%��
�
������	�
���������������
������"

– ��	 �������	�������������5��������	�
������
�������$������
�	��������	 ����	��6�

– ������������������������������������������������
– ����������������������
�

���@���3����������
����A
;������ ��� �����
 (1). B��� ��
������� ���������� ������ ��
��� ����%����

������	�
� ���������� ����
������ ���������� ������$� �������� ���� �����
�	���������������������	������9������	 �������������������������������
������������#�����������������
+����������
����A����9��2<�����;���9��=�9���4
;��������������
 (3). B�����
����������������� �������������������%����

������	�
���������������
������"

– ����������������$��������
– ���������������������������������������������
– ���	 �������	�������������5��������	�
������
�������$������
�	��������	 ����	��6�

$)�(� ����
+�	�����	�������	�����������%���	��������
������	�
���������������%���
�����������%�����'�����5������������	�����������������6�������������'����
������� ������� ��� 	 �
 � �����
� ��������'�� 72� �� ����� ������ �'�� �������
�������������
+�	�� ����
������� �������� ���������� �����
� ��� ��������������� ��'�����

������	�
����������5����9������
������	�������������� �������	���6�� ���
�����������"

 – ������
��
�������������������
��	��������	�����	�$����������
 – ����������!��������$����������������������
�
 – ����������!���������9������
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��5����3�9�����
���� ������� ���9����� 5,6� �����
��
���%�
� ��������'�� �	���
������������'��
����	���������������
������
��� 5L6� ���	 ���� ��	��������

������
 � '���������
� ��� ���%���
3���	��

���������
�����	����'������
5F��!�%�
6�"�CR 1620 – 3 V.
)���� �	
���� ���$� ��������� ������	���
���������L�'����

���
�����
�
8�� ������
�� ����"��
����
�
�
�������(��� �	����'�
(� ������� � � �
����� ���� ���� ;������
��������
�����"�'�������	����'����
���	� 	�������"�� �5�� ����#�'
���� 	

�����������������	����������������
�"��
��� 5	�;�
�� ���� ������� 	����'
���� ������'
�� ���� ���	� 	
������"�
�5�� �
���� ���� ���
���
�� �����
�
��
����5������>�
�
��������	����
�
����

��������
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(���
������
���
�	�����	
����

�)��',��&�!�!��(�

��G��<��������	5�?���9�
– >��������������'����'��	�����	
�����'��������������������	��
– 4�E9�������������������
– ����������������������������
��������
– A���������������������������
– A�������	 ������	�����������
– A���������	 ������������
������	 �������������5���������������������6�
– ;���������������
������������������������	���'���	����
– D�'��������������	������	�����<�����'��!������'���	������” (”blink code”),
������	� ��'��$���������'�������

������9���	�����5��9���9���=������4
– 3��!�����������'������������������������������������������������

�	��������
���������
����	�����

$)�(� ����
;����	��
 �����������������!�����
��
�
�������������	��������
�	�����
�����
������'���'����������	���:�	�����	������
������������������
������
�	������ ������� !��$���� ��$�����'���� �� �������� �� ��'�����$ RENAULT
TRUCKS.
– ����������������������������
��
�������'���'����������	���:�	�
���	������'����������������

– ;��������'�
�����'��!��$�����������������������������������������
��������	���'���������'����������5��������������
������	 ��������
%�����	���������6�

���=��� 9����?��
�� ��
����� :���=��
=�����>
�� �	
���� �'�������� ������ ����� ��'��	
�����'�� ������ ������� L� ���
���� ��
�����
�<.����'�< (B7), �����������	���
��	 ����� �����
� �� ��'� ���� �'��
�����'��� ?����� ������� ����	�	�� �
��������'��	����'� �����'����	��
��
���������������
������
��������	�����
L����
�� (B7).
A���������������
����������������	�
������ �� ������ ������������ ������ �
�������
� �	��������
� �������


����	�����
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��
�A�9��������9����
�

$)�(� ����
��9���
��=��E5���� ���3G�
�5�� =��
;9�5��9��2<�9@*

.��������� �������� �
�������� �
���	 ������� ���� ������
�������������'�� ������������'�

����	������ �� ���� �	
����� ��'��� �
���
��'���'�� ��������	�� �:�	�
���	������
�������������������
������
��������� �	������ ����� �	��� �
���
�������������� 
����� ������	����
�����������	�����

>�'�����������	������������������5�
�����
�������������	 ����	��6�"
�� ������������ ��� ��	�� ����	��������
����	�'� ��������������������"

1– ��?�9@�������=�� (1) 
��9��7�����
�
�=�������4�.
– �����������
�������������� ����
– �����������'�����'� ��5��
���	�%�
����%����6�

– ������
���������� (4) ������	���'�
�	���� (3) '�����������������
�����	������MI����
�����������
�����������'���� �������������
����������������������������
�������
�

 
2– ��?�9@�������=�� (2) 
��9��7�����
�
�=�������4�.
– �����������
�������������� ����
– �����������'�����'� ��5��
���	�%�
����%����6�

– ��������	�����	 ���������
�����������5���	
��������
�������
��������	���	�����������������
���	 ����	��6�

– ������
���������� (4) ������	���'�
�	���� (3) '�����������������
�����	������MI����
�����������
�����������'���� �������������
����������������������������
�������
�

$���?��������9���@��
��3��<���:K>
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��9���7�4�9����?��A����9�5B�3�	��3LE5��A
	�J�9B� �� 3�	� 	�J�9B� �=����
B����4
��3��B*

>�'��� ��������	�� ���� ������������ 5�
�����
���� ������ ���	 ����	��6� "
����	�'� ��������������������"

1– !��9�����3��B8�����2<E5�=��9����
����
�
���9��9����=������9B5����=�	�7�2 (1).
;������ ��� �����
 (1) �	�� ��� �����
  (2)
������������'��
����	�����"
– �����������
�������������� ����
– �����������'�����'� ��5M#��	�%�
����%����6����	�%���������������

'
������������'���
������

– ������
���������� (4) ������	���'�
�	���� (3) '�����������������
�����	������MI����
�����������
�����������'���� �������������
���������������������������������
������������������
�

2– !����?����3��B8���

���B���G�������=��
��3���2<�=��9����
����
�����9��9���*
;������ ��� �����
 (1) �	�� ��� �����
  (2)
������������'��
����	�����"
– �����������
�������������� ����
– �����������'�����'� ��5M#��	�%�
����%����6�

(�������	�����	 �������������������5���
������������ �������������� ��	�
��������	�� ����
������ �����
�	������������ ���	 ����	��� �� ��	�� ��
��	��
������ ������
  (2) ������������'�

����	����6"
– ������
���������� (4) ������	���'�
�	���� (3) '�����������������
�����	������MI����
���

3��	 ����	�����������������
�����������
�������������������
������������ (1) �  (2)
������������'��
����	�����
– �����������'�����'� ��5M#��	�%�
����%����6����	�%���������������

'
������������'���
������

– ������
���������� (4) ������	���'�
�	���� (3) '�����������������
�����	������MI����
������������
�����������'������������������
���������������������������������
������������������
�

$)�(� ����
���	
����������������������	������
�����	�
�����	����
�����'�����������
�����������
�������
 �������
������������������������
����
����������������������
 ������'
����
�����'
� �������������� �������� ��
���������� ����	����'�� ��������'�
��
��������������'����'��	��
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)�?�5����?����A�;66��9�����9�
)�������� (4) '����� ����������� �
�����	������ MI� ���
���� ����������
������	�����$������������������
���������
+�	���������������
�����	�����������
�����
�������	���� ��'��	���������� �
������
�������� ������
� ��������� '
����� ��
����������MI����
�������������
 ���������
��	�%�� ��� ������������ ��� ��������� �
����9���������������
��=�����<��������

�!!����������<� ������ ����� ��	����� �
�	
�������'�
����!��$���

"�	��9���7�4�9����?��A����9�5B
>�'�����������	������������������������
��� �����
 (1) �	� (2) ������������'�

����	����� �	��� ��	�� ��� ��������	�� ��	�
����	����� �'������� "� �������� ������ �����
�����������������������L��������������
 (1)
�	� (2) ������������'��
����	�����"
– ��������	����	 ����������
�����������5���	 ����	���������
�	
������'�����������	������
�����
�	�����������������
���	 ����	��6�

– �����������
��������������� ����
– ������
���������� (4) ������	���'�
�	���� (3) '������

$)�(� ����
�� �	
���� �	�$�'�� ������������� �	����
������������'�� 
����	������ ���� �����
�����'
������������������������������	 �
�������
'����'�� ����������� �� ������ 
<�������< (3). ���	�� ���'��� ����$�����
�������$������������� �
���
� �	����
������������'��
����	������������%��� ��
��������
� ��������� 7	�� ���'��� ����������

����
����� ������������� �� �����
���������������� 5�����	�%�������������

���6�

�� �	
����� ��'��� ��� ��������	� ��	�
���
%������������'��
'������	��
��������'�
!��$������	��������������������'����������
'
���� �
����� ��������D����� 
������ ����

���� ���
%����� ��� 
��������� �����������
(4–5–6) ������	���'���	���� (3)������������
��'�������� � <�����'��!������
� �	�����<
5<��%�	����
6�
>����
� ���������� ����������
��
������	����
�����	���
���������������5���
���	��
����. C36).
<�����'��!������
� �	�����<� ��������� ���
��	 ������ ���������� �� �	 �9�
�������
'����'�� ������������ ������
���
���������  (3).
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��
	�����
�6��G9�5
;������ ���� ��'�
������� !��$���
������������ ���� ��	���� ��	 �9�
��������� �� �	 �9�� ������
���� ��
������  (3).
�� �	
����� ��'��� ��� ��������	� ��	�
���
%����� ������ 
������� �'�� !��$��
�
�����������	���'���	���� (3) '
�����
�����	������ /� ���
��� �� +'�
$����������������
� ��
$�����

��
����'��	� ����������
��� ������

��������	���'�� ��������
4������������� ������ ����������
����������� (5–6) ������	���'���	����
(3), ��� �9�� ��'�������
<�����'��!������
� �	�����” (”blink
code), �����	� ��
� ������	��� ���
���
%�����
>����
� ���������� ����������
��
������	����
�����	���
��������������
5�����������������
 ����	��
6�
+�	�� ����� ��� �����
� ���
��'�
���������	�� �	�� �������� ����	���
�������
�� ���� ������ ��	�%�� ��
������������ ��� ��������� �������

�������� ��'�
�����'�� !��$��
��������	���'�������������������	
����
�
�����������	���'���	���� (3) '
�����
�����	������ �����	���� ���
��� �
����������
 ��
�������������'����

 �������=BD��
7��9�
��
�

�����BA
���9�
��
���	���

��3��B

,E�9BA����9�
��

��	������9���	���

'���?��BA
���9�
��


��	����=��7�=�

1 ������������	� ������, ������,

2 �������2A ������L ������L

3 – ������/ ������/

4 Q����	���������� ������M ������M

5 �������������

������

– –

6 ��������������� – –

8 ������	����

������

������	������
���� �����	����

�������
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'+��%'����)�"���')�

?����� �������� ��	�����
� ����������
����$������ �����
��� ��� �9� ����  
������� A����������� ��	���������
��%9�����������������������

���(����
���� ������$� ��� �������
� �����
��������	�� �� �������
� ��	��������

��%9���
�����$������
���������������
�����	���
����	���������	���������	�

��$������� �� ��	������� J���	 ����<�
��� ������������ ���	 ����� ����

���	 ����	���	���������
��������

'�)�,����������)�0�

��������
�'%#�#(&)*
$
+#)#"&)*���
�, �,�%#�
/�������	���������
������'����
�����
������
�������������

���
�����'�����
�� ���������"�
�"��"�
��%�"������������ ��;�����
	�������
���&�
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�'$������:�>�+��:�>

$��3���	������
���9����9�4
������� �������'�� ����� ����������� ��
�	 �.

+� '��!����''(������&

;���$������ ������������� ���������

������� ��������� �� ������ 516�� ���
����$��������� ��	���� ������ ��
���������� ������������ ������� �
�������� ����	��� ����	��

��
������	��
 � ���������
 � ��������
!����  “RENAULT TRUCKS”. +9�������
������ ����	�������� �� ��������
����!�������������������������������'�
'����

(���
������
���
�	�����	
����

+� '��'(������&���)

;���$������ ������������� ���������

������� ��������� �� ����� (1). ���
����$��������� ������������� 
�������
?����� ��������� ���������� �������� �
���������� ��
������������ ��������
����	��������	��������������5����
��
RENAULT TRUCKS6�� +�� ������ �����
����	�������� �� �������� ���'�� '���� �
�������������!�����
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'+/�������I �����

(���
������
���
�	�����	
����
������
����
��
 (1) ���������������������	�
�����������������'���	���������
��������
��� ���	 ������� ��������'�� ��'��	��
������	��������
� �	��������� �����
�
������	���'�� ��$�'��!��� ��
����
���������'�� ����	����� �� �����
��$
�������'��	���

$)�(� ����
+�	�� ��������	�� ����
������ �	����

����	����� �	����������
� �	��������

�����
������������������������	 ����	��
����
����������������� (C30) �������������'�
����	���������

'+/��� ����I ������ �
('"�����%�� ”ADR”
:
�4�9����=��9��������=���BG���J��9�>

��=��@	������������<����9��9�9��4�
������4
��	
�G�
)������������
 (1). ���������������	���
 
������� �� �	 ����� ��������	�� �E9��
 
�
��
 (2) �������������9��������������������
������ �����
��� �	�� �������
��� ����
�	����������
� ����
��� ��� ���	 ������
������	���'����$�'��!��
>���
���������
��"�������	�%��������$����
�� �	������������ �������� ����������
���	 ����	���� ��� ������	����� ��$�'��!��
=����������
������� (3) #����������	����
��	�������
>���
�� �����
�� "� ���� ���$�����
=����������
� ������ (3) #� �
'��������	�������	�������
)��������������� �����
 (1) ������������	�
�����
����������
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$����
� �3J�
�� �B��2<�9��4� �� ��3���
:��=��@	������������3B���������8�9����
��;��9�����5����<��>
?����� �������
��� ����
�� "� "� ��������
�����
 (4) �� ������ (5) ��� ��	��'�
������������'���	��
?����� �����
��� ����
�� "� ��������
�����
 (4) �� ��������� ������ (5) �	�
����	��

����E9��
 ��
��
 (2).

$����
� �3J�
�� �B��2<�9��4� �����?�
��9�5�3��4� :��=��@	������� �
;��9�����5����<��>
?����� �������
��� ����
�� "� ��������
������ (3) ������������� � ��� ��	��'�
������������'���	��
?����� �����
��� ����
�� "� ��������
�����
 (4) �� ��������� ������ (5) �	�
����	��

����E9��
 ��
��
 (2).

(���
������
���
�	�����	
����
'
��9�D�9��@
���	��������'��������������	�����������'���
%���	�. +'���������$�������
�������� �������������4�����	�������'	�����������;���$��������'
	����
�����������'��������������������������	�������
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�'�"�0����)�!���)�

(���
������
���
�	�����	
����

7	�� ��������� ���
������� ������������ ����������� ����
%���� ��������
�����������������516�
����	��
�����
�������� �"

– +�������������
.
– +������	����������	�����������'����

������	�������������������
%���	������
$������$���������������������5���
���� F49).

$)�(� ����
7	��������������������������������������������������������������������'
������������
���	��
 �����
�

)	�� (2) ��
�����	�����������������������������5�������� F48).

>������536��	
�����	�����
����%�������	
�����'������	�����������	�������
���
�%��������������������'���������	�����	���������������������
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!'�(�/������$�)���I �����

���	�9��@�=�����9�
D�������

����
���
����	���������
	��
1 –)�'��	�����������������
2 –)�'��	�����������	����
=
������������������������������������

�������A���
����	�9��
;������������
��
�����
�

!��9���A���
���
���������� �
��
� �� ����� >�����	����
	���� (A) ����'������

'���J����

!9�4��<�B��6������:=�
6������>
�����������
��
������	��������J/<�

+��?��A����9
���������� �
��
� ��� ��	������� JM<.
��	 �������������	�����	���� (AC).

"��@��A����9�:6��B>
3����	�������JM<������������
��
�������
5�� ��	������� J1<6� ��	 ������
������	�����	���� (A).
7	�� �������'�� �����	 ������ !��� ��
�	����
� ����� ������ ���������� �
��
� �
����� 5�� ��	������� J1<6�� ��	 ������
������	�����	���� (AC).
��������������	����������������������
���$���	������$��
����
����	�����

�B��2<����
7	�� ���	 ������ ���������� �
��
� �
��	�������J0<�

$��9���9�5����4�6����:=��?��9��>
������	 �����$����!������$��	��!��
�	����'�� ������ ���������� ��!	��
 
��
	�
� ��� ��	������� JR<�� ��	 ������
������	�����	���� (AA).

$��9���9�5����4� 6���� :=��?��9��>� �
=��9���9�5���B��6�����
������	 �����$����!������$��	��!��
�	����'�� ������ ���������� ��!	��
 
��
	�
������	�������JS<�� ���	 �� ���
������	�����	���� (AA – AD).
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(���
������
���
�	�����	
����

!'�(�/������$�)���I �����

$�����2<����� 3�	� =��9���9�5���BG
6�����A

$��9���9�5���B��6�����
���� ��	 ������� �	������ �����
���������� ��!	��
 � ��
	�
� ��
��	������� J-<�� ��	 ������
������	�����	���� (AD).

$)��'"� !����'' �!�������� �
!����''(��������

D������������� �
���
� �������� �
�	��������� ����		�	���
� � �	�������
�
	��"
,�#��	�����������������
L�#7�
����������	����������

�������������������
/�#D��	����������	���������
M�#@�����������	���������

����9��A�MGC9��9�BA�7���.
������
�����
��
���������������	�������J1<
�� ���
������ �9�� )���	���������	�
���	���� �������� ��������
����9�#������
+�	�����������������
��
�����	������
J1<�� ����
�� �� ��
������ ��� ��	���
����	���������	�� �� ����	��������	��
������������	��!��� 5������!��������
������ �������	��� �� ���� 
�	������ ���
!������	 ����6�
���	�� ��'��� ���� ��� ���
������ �
��
�
����	���������	�� ���	���� ��9
�����	��������������������������������
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(���
������
���
�	�����	
����
���')�"�'$)��(���

���5�9��@��� =��<��9@� ���9���7�28� =��9�������2� �5��9�� �� 
���?�B5
��5=���9�5����9��5��9�����
���5��9��*

(�����������9����� ��������� �� ��������� LM� ��� ��� ������� �'�� �
������ ���
���	 �9����������������	����	��������
����	 ����	����	 �9��

���
�����
�
(�������
��������������<���	��
���;�����	����
������
������
���
���������
��������������
�������������"�������
�
�
���
������
6�����������	�������
���
	����;�


��
�
������
��'�

�����	��'
�

��������

��'$��� #����)'$)��'"�
!����'$'"H�(���'�

, #	�����������������	������������
������	�

L #�������������������	������������
������	�

/ #	�����������������	������������
���������

��=��@	����������=��
'=�������� .� ������� ��� ����  � �����
�������
$�
LE5� .� ������� ��� ������  � �����
������.
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(���
������
���
�	�����	
����
)�����)'����$)',���')'�

�������
� ��������	�"� �
���� �� ��	�T
������I�
;�'�
�����
�����������	��"�������
��
�
��
� ������� ������
� ����	���� �����
��������������������
�	
���

)�����)'����)��&
;���������������
�������� (1).
�������������������������������
�����
�	�� 
������� �
	�� �� ������������ ��
�����	���
�����'���	��������	�������
4��
�����������
�������� (1).

$)�(� ����
������ (1) !
��������
�����	������'���
��'��� ���	����� ����
$�� �� ����
��
������������

(���
������
���
�	�����	
����

$�
�9����
P�����	������������
	���'����	��������
����'�
���� ��	������� �	
���
���������
�5,6�
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(���
������
���
�	�����	
����

! �� ����)�(���
)������� �������� 5,6� 
��������� ������
�����������������'���	���

(���
������
���
�	�����	
����

��)�,���� ��)����� ��"���'
��"��!�#����)'$)��'"'(

���� ��	 ������� ������ ���	 ����	��
�����
� �	������������ (1)

������	����� :

– �����#��	����	�����	���'�������	��
– ���!�#��	����	����������'�������	��
– �����#��	����
���	������
�����
�����������	�������������

����
���	������.
������
��� �����
 (1)� ��� ��	����
 
������
� �� ������� ��� ��9�� ���������
���������
���
���������$�������	����$�

"�6���9��
�	������.
=�������������� �����	� �����'�� ����
��	 ��������������� (B3).
3�������� (Z) ��������� ��� ������ ���$
!
����
�����������!������'��

(���
������
���
�	�����	
����

#����)''+'�)��� ���)'�'�'
!�����

)�	5���?�������.
=�������������� �������'�� ����	�
��	 ������� ������������� �
��	 ������� !
������ ��!������'�
���
���$� �	�����
����	����$� �����	
�����'�������
>�'��������� (B3) �������������!
�����
��!������'�� �������'�� ����	�
��	 ����������,L����
��
7�!������'� �����	� �����'�� ����
��������������� ������������
��������
C�������� ���������� (Z) ��������� �
�����	������ ��
������ !
�����
��!������'��
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(���
������
���
�	�����	
����

"�!$������"���'���"�

���� ����
����������� �����
���	 ����	�� �� 
������	����$
��������$� �������� ��� �����
� 506�
A���'������������	�����	�����516������
����	�������	������������������
=�'
	������� �������������
����	�������������������������5L6�
=�'
	������� �������� ����	������� ���
������� ������� 5,6�� >������ 5M6
����	��
����� �	�� ��������������
������������� ���� ����� ����'�����
������	�����	�����5/6�
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$���'�����+���

���	 ����	�(2) ����
���������	��������������������
���
�	����
(1).
2������'���	�!���(4) ��������/#����������
������	 ����	�����������(3).
��	������ A = ������������	 ���������	����������������������

��	������ B = ��'�%��� ���������.
��	������ C = ��	 ���������������
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(���
������
���
�	�����	
����

��5=��
�4�<9���4
������	 �����
�����
��������	 ����
	���
����	 ����	���5,6�

)�+' ���$)',���')�:���94
�<�G>
 1– ���	 ����	�� �	�� ����'����
�����������

;����������
�����	������'�����
�������'��	 (G27).

$'"'�)����'���)��'���,"���&
"�������&
B	������������� �������� ����'����
����
��� �$	�������� ���'���	�
���������������������E9�� (1) .
���� �������	������ ���'���	��
������������� �	����������
� 
�	���T
��	� (2) � ���E9�� (1) �� 
	������
� �
�������
� ����	���� �����
������� �
���
����������%�����	���
���������LLI
:� LMI� ��� �� ,0� (�� ����������
 ��

$��������������� ��
���
 ��$
�����������

'!�')',�'�-
;��������������������	 ���������E9����
������
�� �� ����'������	���
� �������
�������'�� �$	���� ��'�� ����
��
�����������LLI#��	���
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(���
������
���
�	�����	
����

$��
��55�������
�9�� ”INFORMAX”

G�����	����� ������� “SAE” (1) �	�
����	 ��������������3�!�������

(���
������
���
�	�����	
����

��?�5��9:B>
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��?�5��9:B>

(���
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(���
������
���
�	�����	
����

��?�5��9B
4������������������������ (1) �
���

(2). A��������� �	 ���������� ������
 
�������
 (2).

(���
������
���
�	�����	
����

��D�����
�4�5�D��������5��
���������� '����	�� �����	���� ��%���
����
� �� ���
������� (1) �� ������� (2).
=����� (3) �����	���������������%�� (2)
������������������������������������
�������
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(���
������
���
�	�����	
����

(�������5,6.

(���
������
���
�	�����	
����

��9�5�3��@���5�
�6���7��A ”ADR” :
�4
9����=��9���=���BG���J��9�>
(�����������'�� (1).
���	 ����	� (2) ������������������"
A ��������
���'� ��
��'����
B ���	 �������'���
C ��	�
����������
��'����

$)�(� ����
(���������� �'��� ������	� ���� ���
������
���



C55 ;��=���9�7�4

(���
������
���
�	�����	
����

#��5��9B���56��9����3��B “SINGLE”
1 – @�'����
������
2 – C���������	���
��	��
3 – �������������������
4 – @�'����
������
4 – N�	���	����
5 – @�'����
�����������E����
�����'������

6 – )��	�����������5�
%����6

+�
�?�B���9���� (4 – 5)
'9��B9��
������
����
��
�����$
���������
��������
�������.
����B9��
;���������������
����������������������.

��=��@	���������D�9��
4����'�
����������5R6���
	����������������
 �����
�����������$
����	�������
5S6��������
�5-6�
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(���
������
���
�	�����	
����

����
��@���
'9��B9��
7����� ������������ ���� ������� �
���
5M6�
����B9��
;���������������������������������'�
������������������
)�3�9�
.��������� 516� ��'
	��
��� �����

$�	���	������� ?����� ���	 ����
$�	���	������ 
���������� ���������� ��
JI<�
"��9�=���9��5��9�9�
.�����������$���������
�������������
���$����
'	
��?����������
�����������#
��������������$�	���	������

$)�(� ����
�� �	
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1 – @	�����������'������J�������	���
<���������.
����$
�"�����������������.
����
�"���'������������.

2 – @�����
���
�����������
3 #�=�'
	�������J�����
<����������
������

4 #�=�'
	�������J���$��
<����������
������

5 – =�'
	�������������
������
6 – ;�'��������� ���������� �� ������� �������� 5!
��������������

������������������'
	��
����������������6�

 7 – =
���� �����	 ������ �� ������ � ������� �������	���� ����	��
����
������������� �� ��'
	������
 (8) (��
� ������
� ����	�������� �� ����
���������).

8 #�=�'
	���������	��������������	�����������	�����5����9�#�����6�

 9 – =�'
	����������	�������	��������.
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(���
������
���
�	�����	
����
!�
��@��=����?����:=����?����>

8 – =
��������
����	� ���������������������������

9 – A������!�����
 ��
���	���������������
5�
������������"�������	�����&��
�����������$�"�������	����6�

$�

�������
)�
���������=�

���������=���B��9�
?��������'�	�������������������'��������������
�������$�
?����� �'�� ��
������� ������������� ������� ��� ����	�
 (10) �� ��	��
��
���'�	�����������
)�
�����������������=�

��������
?��������'�	���������	���������������'���	��
�����������������
���
?������'�����	������������������'�	����������������	���������������	������
��������������
�����
���������������	����
!�49���=�

��������
����������'�	�������������������������������	���� (10–11) ���������'��
��9������
��������� �������� �� �$� ����������� ��
	���� 
�����%���� ���� ���
���� �
�
�� �
�������
���������������	��
������'�	����������������������������������
����	�
 (10).

$)�(� ����
�����
� ���'�	�����������$���������������	���������� ���������
 �������
�	�������'��������	���	������������ 5����������'�	��������	������������
��������%�����'�	���
6�

6������2J�A�D��� (12)
(�9�
���=��@	�����4�.
���'�	����� ��
�������������
���������
4����
��������
����������������
A��	���������������
������������	�����������	�������	��
������
�����
������������������ (8) ��
���������
%�
���������������������������	�������
����!���������������	�����������������������%�
��� (12).
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)�5���3�	�=�����9�
)�5���������7�����A���9�D��A
�	�����������������������������
%��
�������
�����������������������������
����������� 5,6� �� ������ 5L6�� �� �	
���
��������� ������ �	�'��� ���
������ �'�
�������������������������������'���
)�	3���������
;����������������
�5/6�����
���������5M6�
������� ���� ������������� ��� ���
%�

���� ��
������� ��
������ � 7	�
��	�'������ �������� ��������
����
����'���� ������� � 	�����
�������������
��
������������5,6��

(���
������
���
�	�����	
����

A�
����
���'��	���������
������������
��� ��	���� �����'�
��� ������
�������������
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�����
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��
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.�!/$0�
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��9�5�3��@�94
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!�'&�' �����')('�

�� �	
���� ���������� �����	� ��

�������������������
������ 
��������� �
���9������� ������������� ���������'�
��������
!�49�����9��5�	�
!�3��������<�B5����9���5�:N> :
2��������� �� ����� ���� �����	�� 516
�����	���� �� ���������� �	
���
����$��������������������������
%���
�������� ���	�� ����� � ����	������������
�����������������������	��
����������� �	���������
 � ��
	�
� �
����������������5M6������	�������5L6��
��	�������5,6��3�������� (B) '������
+�	�3��������<��
�����9��4�:N> :
����������� �	���������
 � ��
	�
� �
����������������5M6������	�������5L6��
��	�������5,6� 3�������� (B) '������

��94?���9��5�	�
�����������������5M6������	�������5,6��
��	�������5L6�5���
�����9��
 �����
6�
2��������� �� ����� ���� �������
���	�������������	�������5L6�
3�������� (B) ��	 �������

���
�������5��9�����=�
LE5�
7	�� ��	�'������ ��$���� ��� �������� ��
���E9��� ������ ��	���������
������������ ��������� ��	���� ��
��9���
� ������� ��� ��� ����$���� �9�� >��
��	���� �������� ������������� ��
�������������� ������������� �
��	�������5,6�

$)�(� ����
+�	�� ��������� (B) �����	����
���������� �� ������� ������� ���������
������������
�������������������������
���	���������
$������������
���������
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���	����C94
�<
!�'&�' �����')('�

B���������	�������
���
������������������
����  �������'����������������

!�49�����9��5�	�
!�3��������<�B5����9���5 (5) :
2�������������������������	��516������	�����
���������� �	
���� ����$������ ��������
������ ����
%���� �������� ��	�� ���
���	������� ������ ������� �� ��������
�����	��
����������� �	���������
 � ��
	�
� �
�������� �������� 5M6� ��� ��	������� 5L6� �
��	�������5,6� 3�������� (B) '������
+�	�3��������<��
�����9��4 (5) :
����������� �	���������
 � ��
	�
� �
�������� �������� 5M6� ��� ��	������� 5L6� �
��	�������5,6� 3�������� (B) '������

��94?���9��5�	�
�������� �������� 5M6� ��� ��	������� 5,6� �
��	�������5L6�5���
�����9��
 �����
6�
2�������������������������������	��������
����	�������5L6��3�������� (B) ��	 ������.
������� ���� ���
��� ��� ��������	��
����$������ 
��������� �� ��
����������
����������'�����������
������������������
��	������ “Test” 5.���6�

���9
;������ ��� �������� �� �������� �'�� ��
��	������� 5L6� �� ��	������� 5/6�� B��
��	������������������������������������
����������������������������������'�����B��
��	������� �����	���� ����������� ���� ����
��'��� ��������� 
�������� �������	����

����������
�������� �� ����� ��	������� ��������� /I
���
���
>��� ��	���� ����� �������� ��������9��� ��
�������������� ������������� �� ��	������
5L6�����������	����������������

���
��@����5��9�����=�
LE5�
7	�� ��	�'������ ��$���� ��� �������� ��
���E9�����������	���������������������
��������� ��	���� ��� ��9���
� ������� ��� ��
����$���� �9�� >��� ��	���� �������
������������� ��� �������������
�����������������	�������5,6�

$)�(� ����
+�	����������� (B) �����	����������������
������� ������� ���������� ���� �����

��������� ��� �������������� ���	����
����
$������������
���������
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��������
���	����
����� ������� �	
�
����������
���������;��������"��
��	�	�	��
���'����������

�

����;�����

�')('��$)�%�$�

+�	�� ��'��� �������� ������� �������� ��������� �����	� ���� �����������
���������������	��
����������������������	��

�����
���������������	�����
���	 ����	���$��	
���$������
���$�
������$�������'��

��94?��
�����
����������������'�

�B��2<�����9��5�	�
4��
����������'�#����������������������9��������$��������	�������
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(���
������
���
�	�����	
����

$'"H1(��&� 0������ $)'��C
�'�)�����I/��'�'�)�,"���&

���
����� !
� &
&$!#)*.#'��&&
��
"# #,�

+����
�����������	���'
�����
�$

�
����
��#��� �
��"�� 
� ��;���
����;����.

� &
&$!#)*.#'��&&
��
$% #1!)#2�"0�

+����
�����������	���'
�����
�$

�
����
��#��� �
��"�� 
� 
���	��
����;����.

)�	3���������
��� ������ ����	��������� �
��� (1)
����������
��� �������������� �
 
%���'
 (2) �� ����� ������ ��	�'����
������� .
���������� �
��
 (1) ������� �	�� �	����
�������9��������������	�������B.

���
����� !
-����
�
����
�;��
�����
�
�
��$
��
��#�'� �
��"��� ���� ����	����� �

�� ��"�� ����;����� ��� ��;����
������;�
�'
�� �<� 
�	�� �
���� ��
���
���
���'����	������
�.

���
�"���	�	�������	���
�
�����	� (1),
���
���
�� �
�� �
�� ��������� ��
�����
�
���
� ��	�	�'� �������
�
%�����
�;���
�� �

��������
�
��
�

��� �����
�

�'� �� ���	�
�
��	��
����&.

+���������
?����� ���	���������� ����������#
���� �
 �%���'
�������������
��
 (1) �
��	������ A.
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$)�,"�8� �(�!�!������)���

=�������
�����������������������������"
#;���	���	��������	���������	�����	����������������	���

#2����������	�

����������������	�����

����'����
��	���	���
	���'��
����	����

#7��	���������
$����%���$�

#;����������������������������������
���'����������������

#8��������������'��'���������	
���������
������
���������������������
�
���������A������������
���������������%���������	��������������������
�	�����������'��#������

#@	�������
��������

'��D�9��@� ��	
�G�� "����� ����	����������
�����������
���� ���� ��� ����	���
�����������
%��$�������
���$������	��
�����
�������� �"

– �?�
����������

– �?���
��@���������	�����������'����

��������	����$�����$������������������
%���	������
$��5�������� F49).

(���
������
���
�	�����	
����
��	 ���������
����	 ����	���	�������������
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$�)�"�$�!�'(�"�������&

���9��9���=��9����
���B5���9��A�9��5.
#��	�������J��������������
'�����

����
����<�5,6"���������	 ���
����������
����
	�������	������������

�	�%������	����������������
�	����������
	��

#��	�������J���������	�������
���!����<�5L6"����'���	���������	���
�
	�����������

#��	�������J������������������#
��	���
���'���<�5/6�

#��	�������J�������<�5M6�

$)�(� ����
?�������������������'���	������������
�	 �������	�������5/6�����	�������5,6�
;�� �����
����� ���	���� �'�� ��	�
�� �
�������������������� ����	������
�

(���
������
���
�	�����	
����

$������A����9��9�����;���9�����A�=��9����
����A�3���������A��9��9����.
(�������	�� ������	������ �� ������������� ��%�!���������� �	 �����
��������������	��������
��������
'����
��������
�
���	����	 ����������'�����	 ����	���	���������������������	�����������
�	 ����������
����'�������	�������J��������<�5/6�
>�����	����� 	���� (G18) ����'������ ��� �����	���� ���
��� ���	�� ��'��� ���
��	������'���
���
)������� ������9�� ��%�!�������
� ���� �	 ��� �� ��9�� �����%����� �
�����
���'���	����$���5����9���	 ���������������������	�������J������<�5M66�

+�	��������	�����	���� (G18) �����	�����'����������'���	������
����������$���
��������	
��������������������	��
��	��
��	����������
��'���
�

���
�����
�
6���������
��������
	���������	
�����'����
�
��"����'����
���'
��	�����
��������
���������
��'�

������	��'�����"�
����
��
��	
����������
�������
�����������	�����
������

��������
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������
����	 ������	�������J�������<�

��9�5�9�<����A� 9��9��� ���9���@�BG
��
���9����
)�������������� ������������ ������
��!������
� ������������� ���� ��	���
��	 �9�����������+9����	��	��������������M
���
���� B��
� ����������
� �����������
�!!��������������������������������$���
�������
� ����	�� ����������
 ��$
�����������$����������

�B��
��9��9������
��5��9����A���6��5�7��
>�'��� �������	���� ����	������ ���	�
��������������� �
�������� �����
��'	���������
������������
�� ������������ ��� ����	�������� ��%�'�
��������	��� ������	����� ����������
(G6–G7–G8) ������	��
���$� !
����

���������� ��������� �� �����	������ /
���
���

(���
������
���
�	�����	
����

��
���7�4�9��9� ASTRONIC

���� ��	 �9����� ����������� ��������� �
����'��� �����	 ������ �������� ��
��	������ “N”:
– ��	 ���������'�����
– A��
���������'���	���������������
����	�������" ��	
����������������
“N”�������'����������� “TEST
 (1) 5����	�����������������	�6�

– >�'�������������	���������	���
���������������'������“TEST”
 (1) ����������>���������������#��
�9����
�������

���� ���������� ���'�� ���������� "� ���� ����
(C76).

��=����9��@�B�����3J���4
– +�	������'������	 ����������������
���������������	������ “N” "
������������������������'����� (2)�
���'	�%� �����'����������������
“N”.

– +�	������'������	 ����������������	
��������	�������	�������“D” ���
����������������"��������'	�%� �
�������������'�����������'���
��	������ “N”�#������'����� (2)���
�������

– ��������������"�������������������
�����'����� (3)�����'	�%� ���
���������������������������	�
����	��������

$)�(� ����
>�'��� ���'���	�� ���	 ���� �����	 ����
��������������������
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���	���������=������9�A
���� ��	����� �������������� "� ��� �������

����	������������
������	����!���� (1)���	�
�����	����� �� ����� �	
����� ������������
����'������ 
������	� (STOP:).4�� �	� SER-
VICE/.+N4@)C2O3�(;3+6
������	� ��
� �������� ��������
��������������5�	���������������
6� 
3�� ��������������������"
���������� ��'��	� SERVICE
5<.+N4@)C2O3�(;3+<6 (J) ���������������"
����������	���������������	����������	���
��!���� �� 
��������� �'��� �� ��	�� ��� ����
��������	������$�����������	������������
�� �	���
%��
� 	����
� !����� �	�� ��
�	���
%
 ������� ���%�
���������
������
���������� ��'��	�� STOP 5<).4�<6 (H)
5���������� *� #� �����	����� ������������6
����������������������	���������������	���
������	���� ������
� �� ���� ��������
����������� �� �	���
%��
� ��	��
� �	�

��	����������
��'���
�
�� �	
���� ���������� ��'��	� (G6) �	��
��
���
��������������	�����������������������
���	����� �� ��������������� ����
���� �
���
	��������'���������'��	���	����������
���
+�	�� ��'��	� ��� ������� ��������� �������
����������������������� ”EBS” �	��������	�
����	�������������������������
���
�� �	
���� ������������'�� ��	����
������������$���!������(STOP:).4��� SER-
VICE/.+N4@)C2O3�(;3+6�� ��� ������
����	��� ����'������ ��	���� ��'��	
(STOP:).4�6 (H).

$)�(� ����
���	
����������������'����	����������	���
��!������ "���������������
����� (2)��������
��'��	� (1)���������������������������������
�	�� ��!������ ���	�������	���� ���������� ��
����	���������������/����
����

4�������������������'��	�� (3)�������	����
��!������ ���������� ����� �� ��������� (1)

����� �����������	��
���������������.

���	�����9�G�3���?�����4
2������	����$���	
������� (G9) ����������
�����9����L������$��	
���$�"
– ���������������
�������	���'�
<���!�	���������'�<�
��������"
����	�����
������	� (G9) �	����
���������/I����
������	�������
���
����������'	���������
���!��������
)������ ��������
������$��������

���	
������ �5���� C19→C21).

– �������������������'��<(����
��'�<

��������"�����	������
������	� (G9) �
�����������������'������������	�#
��
���'��	 (J). )������ ��������
���
��$��������
����	
������ �5���� C19→C21)
����������������	���
%��
���	��

�	��
��	����������
��'���
�
������
���������������$������
���	
��������
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!��9�4�������9�5B������7��7�����9��9���
.���
����������� (L)��������
������	�����'�������
������������������'���	��
��������������	
����������������	���
����$���
<>��!������<�
������� (X) ��9�������������
��
 ���������
�
�
�� 
�������� ��������9����� (Y) ��'
�� ����� ��������� ������� ��!��������
��������������������9�
�5�������� C44).

���9���@�BA�9�G�
��6
����������������������������'������������������
����������	������������
�����
���������'������	
�������������������
 �����
������������'�������	��
�$��������������������
��������������	����$�����������	���
���	
����������������'��	� (G16)�� 
�������������	�������������������	����
��$�'��!��� 3������ �����	����� ����������� �� �	���
%��
� ��	��
� �	�

��	����������
��'���
��	�����������������

���
�����
�
.
�����
	��
��
���
�;��'��#���	����	��	��
������"��
� �"�����
�

����������
���
�
�������
�
�
��	��
�	
��+
	��
����#��	�
�

���
����	�������
�;���
����������������������������'���
������
����������
������������
�;���
���
�
������ �����	���
���"����	���������"����������
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D
	���!
�������	���
���������� (G)
������	���� ��
������ ������	� (1) �
������������ ��� ������� �����'�
������	���'����$�'��!��

���	����� �����4� �� 
������4� 5����� �

��
�9����.
$��� ��9���������5� 
��
�9���� ��3�9��9
�������	�9��@�5����*
��	 ����� �������� �� ����������� ����
����	��� �������� ��
���� 
���
�����
��	�������
1 –4������5����$�����������	����
��	�������	�6�

2 –)�����
�
�������
3 –D������	���
�
�������

$)�(� ����
7	�� ��������� ��������
� ��������
����$���������������������	������	���
�����
� '��������	���
� �����$������� �
���������� ���������	���� ������ L� ����
���	���������������'���	��

$��� ���J����� 
��
�9��4� .� =��3��
=���	B���9�
��������5����*
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���'"��

���
�����
�
(���
������
���
�	�����	
����
�

�����������;�
���
�
���� ���������
���
����
�
����"��
�
����������
���
��
����"��� ��;���#�"��	��
���

�������������
�����������/�������
������������
�"�
�������	�
�
�������?�
������;�������
��;�����
��"��
�
�����"�������
�
������

����
���
��
�9��4

2���������� ���� ��	 ���� ���������

�������

2���������� ���� �������� �������� �
��
���	�������	�������

;�� ���'��� ����	�������� ����
���

��
���������������������	 � (1) �������� 
(4).

(���
������
���
�	�����	
����

��=���� 
��
�9��4� =��� ��=��@	������
6���7���=���9��������
���9��9���
���5��@������=��@	������ :
;�����'�������	�������������������	 �
(1) �� ������  (4)�� ����������� �������

�����������'���	���>�����	�������'���	�
�����9����� ���
������ �	 �� ������ ��
����
	�����������  (3).
4������� �� �	
���� ��'��� !���� �������
���������� ������	���� ��� ��	
�����
�������� ���'���	��� ����9�� �
���
�����	������ ������������ ���������� ��
��������
� ����	�� ��������
�����'����� (5)�� ���������� �����
������������ (6)�� �� ����� �	
����
����������� �	 �� �� �����	������ /
���
������������ (4) �����������������
�������
�������������������'���	���>��
��	���� ���'���	�� �����9����� ���
�����
�	 ���������������
	�����������  (3).
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$��
�E�������=��@	������ :
�� !
���� � ��	����������'�� ��������
��	������ �������� 	�'����� �����	� ���
����'��������'����������������	�������	����
�'��������������
)������� ������ ��������� ���'���	�� �
�����	������ ,I� ���
��� �� ���	�� ���'�
��������� ���� /� ���
������
������������
���$� /� ���
��� ��
���� ��� ��������
� ����	�
��������� �����'����� (5)�
���������� ������������������ (6). B���
���	� ������ M� #� 1� ���� ���������� �
���	�������	����� ��������� �����
� ���
���
����� �	 � (1) �� ����� ������ ��
��������	�����������  (3). ���	�����$�M�#�1
���	�����������������	 �����������	������
������������ �� ��� ��������
� ����	�
��������� �����'����� (7)�
���������� ������ ������������ (8)
�������������9��� (9).
>�����	������!������� (7 – 8 – 9) ������
��
����������������������L����	������	����'�
�������� ������ ����
�9�� �� ��	������
��������������������

$���9�5=���9���G < 5°C : �������. D1.
$���9�5=���9���G > 5°C : ����������������'���	����'
	��
������������������
�����������
���

���9��
�9@�4���5��9�

# ����� ��'��	����� 	����� 5G66� ���	����� ����
$�� �� ��������
� �������� ��
��'�����������������
�
��'���������������!
�����������������

# ��������
����	�����������'��	�����	�����5B6���'��	����
������
��������
���������
�����������
	��������	�������

$)�(� ����
+�	�� ��������	�� �������� ������� ��
��� ��� �� ������	����� 	���� (AB)
�����������������
����'���������������

(���
������
���
�	�����	
����

���������� ���� ��� �����
�
	���!
�������	���'�� ����	��� ��
�����������������
����������!���� (G).
2�	����
� ���� N (1) 
��������� ���
�������� �������� �� ��
���	����
��	�������5����9����
������6�
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$����
��
�9��4���G���
�������54

"��
�9��@ dCi 11

(���
������
���
�	�����	
����

$����
��
�9��4���G���
�������54
)	��
�������	������������������	���

��'����LIT/I����
���������������������

(B2).
;������� ��� ������� ��� ����	�

����	�����������
����	����
���� ����� ����'������ ������	����
	���� (E)�
;������������������� (1)�������������
�����������'�����4��
����������������
����
����	�������������'���	��

"��
�9��@ dCi 6

���� ��������
��$ < 0°C : ������
��
�	 �� ���	 ����	�� ��� ��	������ (3)
5����������	���'�� ��'����6� �
����������
'�������������	���
�	����
����������	���'�� ��'���� (E)�
������
��� �	 �� ��� ��	������ (1) �	�
����
������� ������� �� 
�������� �'�� �
����� ��	�������� ����� ���'���	�� ��
���
�������
�� 	 ���� �	
����� ������ ���'���	�
��'
	��
����� �� ������������ ��
��������
���

#�'���,�'�-
-������
����������	
�
�
����@Start
Pilote@�%��������&������
��
�
�
�"�
����������
��������#���
%���������������
�����
������������
�����
���
��?&�

��9�5�3��@8��3���
�����BA�;���9��<����5�=�
�
����5�9�=����
7�
����������'������	����'
	��
������������������������������������������
�����������
������	����
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(���
������
���
�	�����	
����

)�
��49���G����9BG��3���9���
��
�9��4
;��������� 
����
����� �����	���
��'
	��������$�	����
���������������
���'���	���������	�$�"���  700 (DCI11) /
650 (DCI6) ��:�����	�  750 (DCI11) / 680
(DCI6) ��:���.

��=��@	������
������	 �9�������������������������
��������	��������������������������
�� ���'���	��� �� $�	������ ������� "
������� �������
��� ��	��� (1) ��
��	������ “OFF” �����	������ “ON” �
�������	�������������������%� ����L
�����(OFF → ON → OFF → ON → OFF →
ON).
���� ����������������� ��	��� (1)� ��
“ON”, �����'
	�������� ����
� �����
$�	����$����������"

– 7	��
������������������#
������
�����	��� (2)����������� “R+”
�����������������&�

– 7	�������	��������������#
������
�����	��� (2) ���������� “S–”
�����������������

>�'��� ��	����� ������� $�	����$
��������� ���������� "� ������� �� �����
���
������ ����	�� ����	����� �	�
����������������������������
������
���'� ����� ����'���������� �� ������
�������� �� ���	�� ���'�� �����
��
��	�����
 �!��
�
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)�
��49���G����9BG��3���9���
��
�9��4

��=��@	������
���� ��	 �9����� ����������� �������� �� �

������	�������������������9���
 �����
�
������
�����	��� (1) �����	�������“ON” 5��
���	 ��� �
������������$� ��������	�
� #
����!������ “BOM”). ?����� ������
���������������������$�	����$����������"
���������������	��� (2) ������������� “R +”
�	� “S –” �������
������������	�������
������
;��������������	�������������������'���	�
��� ��	����'�� ������� ��������� �� �� ����
��	�������� ������
��� ��	��� (2) ��
���������� “S –” �� �����
� #� �	�
��������������������'���������#���������
��	�������
������
4��
����������	�������
7	�� ��	��� �����'�� �����'
	��������
�������"

– ������������������	��� (2) �����
���������������������� “R +” �
������������'�������
����������B��
�����	�����	
������	�����
������������
������������������
3	�������������
�����	��� (2)
J�����	��������<5��������%����
�	����������	���6�����������������
����� “R +”��B��������	��
��
���������%�'�����
��������
���������

– ������������������	��� (2) �����
���������������������� “S –” �
������������'�������
����������B��
�����	�����	
������	�����
�����������������	��������������
3	�������������
�����	��� (2)
J�����	��������<5��������%����
�	����������	���6�����������������
����� “S –”��B��������	��
��
���������%�'����������	����
���������

��9�5�3��@8��3���
�����BA��9��
�5�5�J���9�
������
���
 ���������������������������
�����	��� (1) �����	������ “ON”. ������
�����
�����������	��� (2) (��������“S –”�	��������� “R +”) ����������������������'���	��
������
���	�����'
	�������������
��������������"  1 100 ��:�����5�	� 950 ��:������	�
��������	�
������
�������$������
��������
����������������6� B���������������
��'
	������������	��� (2)������
������������	����	����������������$�	����$��������$�
��������������������	
������'����������������	������  1 400 ��:�����5�������.  C126).
)��������������!��
���
����
������
�������������������������	���
����'���������
���� ������� ������	���'�� �������� RENAULT TRUCKS� �	�� ������	���'�� ��������
RENAULT TRUCKS CARROSSIER� 5���	������ ��	� ������ �����!�������� �� �
����

�����6�
F
������ ���
	��
����� ���� ������� �������� ��� �������
 � ����	��� ���� ������
�����	 ������������������������������������	�������	��� (1) ����	������ “OFF” 5��
���	 ��������
������������'����������	��#�����!������ “BOM”).
$)�(� ����
���	
�����
������������$���������	�
�5����!������ “BOM”6��!
���������
	��
����
������	���������%�������������/���:����
'!�')',�'�-
���������������'�������	���������'
	�����$�	����$���������������'�
��������������
����	������	��������
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'!'+����!�'��&�#�!$�����%��

����(�����)�(&�����!�)�����!��'�'"��(����(��'(
����
���
��
�9��4
5)���J���'������������<6
������������������'�������������������$��������������'���	 ���������������$�	����$
�������$� �� �������������	���$� ���
���� ������ �����	�������	��������
	��������	�� �
����������������7�	'������'����������'���	�����$�	����$��������$������	������	
�%�
���	����� ����
����� �� ������ �� �$���� ��� ���	����$� ��������$�� ;�� �� ����� �	
���� ��
����	�����������'���	�������	�
 ��������������������
���������'�
�����������
��
80°C.

���(�����-
����������	�$����$	�������������
��������	�������������������������
���	���	����
��%�������������������'��������������

!��9�5���G��?
���4�
��
�9��4
�����������������	������	��
������$	���� �������������������<ULTRA COOLING
PLUS<� 5!��������� ����	��� '����� ����	 Renault Trucks Oils)�� �������� ��������
��$��������� 
�	������ !���� RENAULT TRUCKS. )��������
��� �� ��
� ����!���
������������������������������������� – 25°C �	� – 40°C.

����5��49��B
;���$��������������������������������
�
	����������������������������������������
�������������������
�
	���������	�������������$����������
������

����������)�(&�������!�)�����!�,�)��(����(��'(
���������� ���� ������ ����� 
������� ��������� �� ���
�
	�����$�� ;�� ����'�
����
���'���	��������	 �������������������	����������	������������
������	�������������
������	���'�� ������� ���'���	�� 5���� ����  C90). P���
	����� �� ��������
��
�$	���� ��
� ����� ���������� ���� ��'	����� ������� �����	���
� �������� )	��
��
������������� ���������� �$	���� ���� ������ ����������� ����� ������ ���� ��� ��$
�������������	���������������
��� ������
	��� �����
$���7	�����������	
�%�����'�
������������ ����
��
� ������� ����
$��� ������� ��
�������� �����$������ ���������
��	�������������	���������������&��	�����'�����'���������
�����
��	�����������

#�!$�����%�&���$����'����('!��)�
=�������
����� ���������� �	������ ��� ������	���
� 	����
� ���������
����
$���������	��

��	
�D�BA�6��@9�
;����	���
�
$���5��������  F15→F16).
;�� ������
��� �� ����� ���� ������������� !�	����� �������� ��� ��������� ��������� ��	�
���'���	���������������������������������B���	
���������������	�������������'����$

�	����$�� ����
��� ��	��� �����'�� ����������� �����$� �������� ��� ���������������

��	����������	����������������
�
��������
�������	��
�����	�%��������������������
�����������������	��������
������������	
�D��
��6��@9���5�?�9�=�����9�������@�	��A�������*

#�!$�����%�&����')�����!�'��&�
�����������
����������������������������������������'���	���)	��
������������������
'����$�
�	����$���������������,III��������������
�������������������������'���	�

��������������������������������
%��
��������������������������,IU�������'���	�

������
����#����1U��)���
'�
��������������	��
�����������������������������������
��������������/�1°)��������,III���
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'+������"�������&
�������������'������������������5���������1�III���������'�6����'���	����������������
�����	�
 ������������	��������������$����������$��;�	����!��������������'���	���	�
����	���������'������	�%������	�$��������$�
�������	�����	�����������������
��
��������
����������	��
;�'�
������������	��5�����������
���
�'�
�6�������������������������������������
����
��������������������	���
�����	
�������

#�'�'(� �'���',"����
7	�� ����������� ���	
�%�$� ���
	������� ���� ����	��������� �������� �������� �� �
������������	�������������������	���'�����$�������	������������
��������	 ����
�	��
 ���������	�"
3���	�����������'����
��������
��������������������
���������	����
������
�������
���'���	��5�������. C90). 3����������������������������'�������������	���
���
����

������������������ ��
�����
������
����$������	����������������������
��	��
���
������������������������������������!�	������'�������������
'�$�����������
�
�������� �� ����� ���� �I+'�� ��(������� !�')'!��� ��� ��� ��� !'+'�
�'�)�!������)�!�'"���'$�����
�'(������'���!$'���'����������(��&�')����+���)��
(��
�
	�������������������������	������
���������'���	����	������������������
��$
��������
A�������
���%��'��'���J�������5�6:'��������<�������������������	��
 ������
����'�
�	����������'�� ����
�������� ��������	�� �� ������	��
 � ������
� ���
�
	������$
������
�
=�������
������������������������������������������������
������$�	����
���'���
���� ������������� )	�������	����� �����
����� �� �����
� ������� ��	���������� ��	���
����������$��������	���������
���������
+�	������������	����������	�'�������	�%������������	�������$�����5$�	���	�����
��!�������� �������	������� ������ ��	�������� ����������� �������	�� �� ����6
��������
����� 
���������� �������� �� ����	�%�
� ������	���
� ������� �
�������
	����

�����������������%�������������
+����������
�
	������
����������������������(����:����5(�6�
������	����� �	���������'��� �	������������ ����������� ����������� �� ������$� 5(6
�����������	���	������ �����	���������5���������"�.�	�������5L�(6�$�L������V�M�(:��
$������J�����
��
�9��4�"��	���������'��������������'��������������������'��������
��������$�����������������	���������������
$�����9������
��
�9��4�"��	���������'�����������������	 ����	�������
�
	��������
����������
4'��������
�����%��������	������	���������'�����������
�����������	���
�������'���	�
����$��������$�������������
��
������1IU������������
�
	������$�������
�

'������4�;���9��9�G����������=�9��3������;���9��;���
������K�<��
– >�����������'���� = 4A – �	�!����������� = 2A
– 8����������!����� = 5A – N�	���	���� = 3A
– .�	������ = 2A – >�!������ = 10A
– (��������
��������	��J����
%��
< = 2A
– (��������������	�����J����
%��
:������
< = 10A

�����9�����=��
��	������<����������5�=���	���������������������
�
	������$�������

�� �����$� 
�	����$� �����%���� 1IU�� ���������� ���	�� ���������� ����	��������

�	�������$������	������������

������
�
	������
���E�������	����	���
��������

5��
������'���	 �������������������
��
�������������	������,����������,1II���:����6�
$)�(� ����
@�������������		�	�������������"��	��������������
�5L�$�,L���#�L/I�(:��V�,L���#�M0I
(:�6�
@������������	�������	�������������"�������������������
�5L�$�,L���#�L/I�(:��V�LM��
#�L/I�(:�6�
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!%�$�'���!�)'�!��'

$)�(� ����
�� ���������� ���
������ ����������� ���� ��	���� ��� �������� 
����
������ �������

������	���� !����
 RENAULT TRUCKS 7	�� ����	��������� ���$� J�������$<

����
������������% �
��$���'�������	�
�
7������ ������������� �� ���� ������� �� ��������� ������������� �����	��

������
�������������������	 �'�
������������������	�������������������������������
����	����������	�������������$����!�������	���$����������
��7	������	��������
�
�������	����
 ��'�����������'��
����
�����"��������  C87→89.

+����������=��7�=�
7�������������������������$����������������"

– �����	����
 ���������������
����
�����������'��
�	����������
– �����������������$��������	
����������$������������'�������	���
�������'�

����
�����5������������1����6��+�	������
�����������'
	�������������

��������5�	�������'�������	���������
��������������������������������6��

– �����	����������'��
����
�������	����������'�������������������������%�����
�������������	������	����'
���
��������

– �������!���������
������$����������������'������������'�����������
– ����������������������5���������
������������
���������	��������	����
���	������������������%����6�

D��	���� ����
��� ��'���� ������� ��� �����
� 	����� �� ���������� ��������������� �	��

������'��
����
��������������������������������	��
���������'��������������
������
��������������
������������'���������
��������������������	���������������'��
�	��

���
�	�����������	�������������"
– ������������
����
���������������	�����	�������	������������������������
���������������	��������������
��	�������������������
 ��
������	��� �5�� �
������	��
����	����	����
 ��'��%������������'��	�������$������	���

�	����
 ��
������6��5)������  C87→89).

– �������������	����� ���������������� ��	�������	����������
�'�	�����

4���������� �
�������
� 5���� �����
���� �������� ��������� ���	����� ���
�����
��������	�����������������
�����'�������������������
��������
���������������������
�	���������������
�%���'��"���'����
���������	��������������������������6�
���������������
������������������������������
���
�����������������
��������
5�������"��9	��
��������"�������
6�
�������������'�����	�����������	�����������������
���
4��
���������������
����������������5���������������������	�������6�
�������� ���������� �������� �� ������������ ������������
 � �������
� �� �����	��
 
�����
�
.��������������	��'������������

���
�����
�
/�����������������
��'�

������
������
	�������
��	���������	����������
��"�
� ��������
��
���
��	��%
����������	��
��������
�"�
�������
�����&�����;���
�
�����	���
�����������"�������������
������� ������?��=��"�������
������
��	��

������;�
�����
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���������������������������������
�
����������

�����
/�������������������
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���
���������

���
����������
��������������	����
	�
��������
/�����

���������������
�������������
��'�

�����
����;���
����
�'��"�
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�����
����
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'97�=���=��7�=�
��	
��������������������������
 ���
��
'
 ��	��������
A����
��� ���������
� ������� �� ���� ��	���� �������� ���	������ ���������
��%�����
4�
������ ���������� �������� �� �������� �������
� ��	
�������� ��� ������
�
���������
4����������� �� 
��������� �������� �������������
� ��
��������� ��������

��������5�������"��9	��
��������"�������
6�
4�����������'�����	�����������	�����������������
���
������������ ������
� 
��	� ��� 
��	�
�� �	�'��� ����
�� ��'��� ������� �
�����������������
��
���������
�J����	��������<�
������
�����'�����������

$)�(� ����
(�������	�����������������
���������
�"���������  C128.

!7�=������9��A�9�� “GEORG FISCHER”
)�	3���������
;����������������� (1), �����
���'����
����� ������	������ �
��
� ����'� (2)
�	����� ;�������� (2) ��� ���
 (3)
�	��������������'��
����
�����
+���������
)������� �	����
����� ��������������
��������� �
�9�� ������������ ����'�
�
��� (2) ����$��������	����������!���
����	����.
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!7�=������9��A�9�� “JOST”
)�	3���������
���������������� (1) �����
������ (2).
.�	��
�������' (3) �������'���������
��
������� �� �'�� ������� �����
��� ���
�
�
=���' (3) �	����
����� �� ��	������
J����	��������<�������'��
����
�����
+���������
)������� �	����
����� ��������������
��������� �
���� ��������� ����'� (3) �
��$��������	����������!��������	�����
���9���@�3���������
2��������� �� ����� ���� ����� (1)�
����
�%��������	�������J�	���������<�
�����%����� ���������� ����'
 (3)
������������.
4�������� ������ ����� ����	�������
�	�� �����	����� �����$������	���'�
�� ���������	��
�

$)�(� ����
�����	��
���������������'��
����
����
“JSK 38” ����� (2)������������������ (1)
�	��
���������������
��
 �

!7�=������9��A�9�� “VBG”
)�	3���������
�����
��� �
��
� (1). .�	��
��� ����'� (2)
������ �'�� �������
��� ������� �� �'�
������� �����
��� ���
�
�� =���'� (2)
�	����
����� �� ��	������
J����	��������<�������'��
����
�����
+���������
)������� �	����
����� ��������������
��������� �
���� ��������� ����'�� (2) �
��$��������	����������!��������	�����
���9���@�3���������
2��������������������'�������
�������
(3) �
���� (1) ��%9	� �� ����������
 ���
�'�����������������������
)	������ ��� ����� ������ �� ����
�
� �
�������� � (4) ��� ���	���� ������'�
�������������B�����������������������
����	�������� �	�� �����	����
�����$������	���'���� ���������	��
�
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!7�=������9��A�9�� “ROCKINGER”
)�	3���������
����������� �������� �	����
 ��

�
����(1). 4���	��
�������'�(2) �������
�'��������������
������
�
��2���������
�����$������	���
� �	����
 ��

������(3) ����'��(2) ���� ��	����������'�

�	�����������������
����������'�
+���������
)������� �	����
����� ��������������
��������� �
���� ��������� ����'�� (2) �
��$��������	����������!��������	�����
���9���@�3���������
2��������� �� ����� ���� �
���� (1)�
����
�%��������	�������J�	��������<�
�����%����� ���������� ������������
����������'
�(2).
4��������� ��'
�� ����� ����	�������
�	�� �����	����� �����$������	���'�
�� ���������	��
�(4).
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�',"��������"')'��
$�
��@���������9���
������	�����	9'��
���9���
�������������
���������	���	����$��������	�������	���
�����	�������������	���
��������� ���������������������������������'���	��

)�3�<�A���?�5
�����������
������� �
 ��������
�������������������	�������	��������������	���

���������'���	��5��	���
�
���������$������6 (L).
(���
������
���
�	�����	
����
+��� ”Driving Monitoring System” (D.M.S.)
(�������	��� ����
��������� �������
� �������� ���� ZF 16S 151 �	� ZF 16S 181,
������ ���� �	���� ”Driving Monitoring System”, �����	� ���� ������	���� �
����	��������������$����
 ��������
��	������������������������'���	����>�� ;�
����� (G) ���������� ���� ��!������
�� ���������� ��$� ������	 � ���� �������
��������	���5���	����������6�������������$��������
 ”D.M.S.” ����$�����	������$

������ "� ��'�
���� ��������	��� �������� ��
������ ����'�� �� ��	������� ����	�
����	���������)������ ”D.M.S.” ����������'	���������������������������
�����������
��������� ��'��������������	����������������� ��	���
�%��	���
� ���� (L) �������'�
��$�������

$)�(� ����
)�������”D.M.S.” ��������������������������	�������!�	������'��5����	�������������
���E9��� �� ����6�� �� ����� ����	��� �'������������� ���	 ����	���� ��� �9� 
�������� ��
��������������

!=���3�
�A�9��4
�������	
�������'������>��������������������������������%� ��$�L# ���	
 ����������
�������������!��������<��	 �������������< (1) ����������!������������	���������	�
5
������	�� (2) ��	����	�$����������	��
������	�� (3) �	��������$��������6���	��"

– ��������	���������������
���������
�����	������	��������&
– ��'���������
�������������	������	����������������
��������������'�
�����	���	���'����������&

– ��'�������5���������'����	�
%�'�6���
�������������	������	�����
.�'���� ��'��� �	��
��� ���������� �������
� �:�	�� ���������������� ��	��� ��� �����
������������!��������<������������������������< (4) ���������������������
������	�
��������������'����	��������	���������������������	� (5). ���������$���!������

��������������� <��
������ ����
�������	����� ��'��	��<� ���	 ����	���� �� ��$
�	
���$�� ��'��� ��������� ����%������� B���� ��
����
� ��'��	� �����	���� ����'���
�����������	���������
������������������������������������
���������������	����������
��� ������ ��	����
� ��
� �������������� A����� ���� �����	 ������ ���������
� �����

��������������	��
 �������������������������������������������
����'����'��	��
3�����������������������������������
���������$�����������
�5)������� C91 – C92)
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$��
��?���� (1)
������������	������������������������
�����	 �����������
�

$��
��?���� (2)
���������� ��	�� ��� ��	��� ��������� ��
�����	 �����������
�

���
�����
�
�	���
�������� (3–4) ���
�!
����;������������������
���
�	���
�������� (5–6) ���������!
����;���������������
���

$��
��?���� (3)
��	 �����
������
 ��������
������	��
��	����������������	�$���������
�

$��
��?���� (4)
��	 �����
������
 ��������
������	��
��	��������������������$���������
�

$��
��?���� (5)
��	 ����� 
������
 � �������
� �
������������ ��	�� �� ��������� ������$
��������
�

$��
��?���� (6)
��	 ����� 
������
 � �������
� �
������������ ��	�� �� ��������� ��	�$
��������
�
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$��
��?���� (7–8)
��	 ����� ���%
 � ���$����
 
�������
�

(�
�6���7�4�=���5�9��������4

���� ���
���� ��� �������� <��
����

����
�������	���
� ��'��	<
����
�������� ��� 
��	���� �� 5)��� ����
C25).
A���
���������� �� ��
���	������
<��
����'�� ����
�������	���'�
��'��	�<�"
���� �������	������ ���'���	��
��	 �9����������������>������9����

������"���������������	������	����������
�����	���'�� ��	������� �
������������� ��������� ����	�
������������������	������1����
����;�
������ ���������� �����'����� (1) �
�����	������ /� ���
���� 4��
�����
����	��� <A�
����
� ����
�������	���

��'��	<����������
���	�������
7	�� ��������'�� ����
���������
<��
����'�� ����
�������	���'�
��'��	�<� "� ���������� ��%����������
��
������� ;�� ������ ���������
�����'����� (2) �������	������/����
���
<A�
����
� ����
�������	���
� ��'��	<
�����������
��������

$��5�<����
<A�
����
� ����
�������	���
� ��'��	<
������ ��	������ ��� ����������
����
���������� �	�� ��������
 
��
���	����� � ���� ������
������	���'�� �������� ”RENAULT
TRUCKS DIAGNOSTICA”
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���	���������=������9�A
������	�������������������"�����������
�������
� ����	�� ���������� ����

������	����!���� (1), �	�������	���� �
����� �	
����� ������������� ����'�����

������	� (STOP:).4�� �	� SERVICE/
.+N4@)C2O3�(;3+6
������	� ��
� �������� ��������
��������������5�	���������������
6�
3�� ��������������������"
– ������������'��	� SERVICE
5<��$���	
�������<6 (J) ������������
��������	������$�����������	����
�����������	���
%��
�	����
�!����
�	������	���
%
 ������� ���%�

��������
������

– ������������'��	��STOP 5<����<6 (H)
5����������*�#������	�����������#
������6��������������������
���#��
�������������

�� �	
���� ������������'�� ��	����
������������$���!����� (STOP:).4���
SERVICE/.+N4@)C2O3�(;3+6�� ��
������� ����	��� ����'������ ��	���
��'��	 (STOP/).4�6 (H).

$)�(� ����
�� �	
���� ������������'�� ��	����
�����	���� ��!������ "� ������������
�
����� (2)�� ������� ��'��	� (1)�
���������� ��� ����� �������������� �	�
��!���������	�������	����������������
����	���������������/����
����

4������������� ���� ��'��	�� (3)
������	�������!����������������������
��������� (1) 
����� �����������	��
��
������������.
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;��	 ��
��� ��� 
������	��
��������
��� �$	���� ��
� ��������
(R), ����������	���������	�����������
���	� 85/90°C. +�	�� �������� 
������	�
��������
��� �$	���� ��
� ��������
(G13)�������	���������������������
��
������
.

���	�9��@� 9�5=���9��B� �G��?
�2J�A
?�
���9�
)���	�������	�������J,<�#����	��WS1°)�
)���	�������	�������JL<�#����	��,II°)�
)���	�������	�������J/<�#����	��,I1°)�

#����)'�����'�)��� ������!�')'!��

;�������
���������	������
�������	��������
���������������� ”COMMON
RAIL” 5>4DD4;�=+X6��4'���������������������	����
��������
��������
���
�	
���� �������	���'�� ������������� �'��������	��� ���������� ��� �����

������	� (G4–G5). ��������	
���������������	��������	����������	 ����	���
��������������!����	����������������!����
�RENAULT TRUCKS.

��9�5�3��@���	�
��A���
�J�A���@2���
�
�������9���5�.
��������	�����
�������	� (G26) ���������$��������	���
%�'����	�����	����
�	���
%�
�����������������
�������$���%�����	 ��������������������������
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�')'+���$�)�"� 

���
�����
�
1����	�� �������� ����#���� ��������� ��������� 	�
���'� ��������
��
� � 
����	���(
�����
�"���������������	� ���	��
������'���������'�
���'
�������
����;�����%@����
������ �	��<�� @&����
���
�	����
��'�� �������%����
�	;�
�����
������	����
	��
����

�
�

��#������	
�&�

����������������������������
�����������������������
����������	���������
���������
 ���������	 ���� ��������
�����������������
 ����	����������	�
����������	����+�	����������������������9��������
���	�������	������������'
��	 ����� �� ��������	�� �������	���� ��� �	�� ��	 ������ ��������� �	��
��
���	 ���������	�����

(���
������
���
�	�����	
����
��55������2<���4�	�
��A�=���
�<�"
���� ��	 ������ �����
� ��������
�������������
����������
������ ��

�������������������	�����������������
$�����

(���
������
���
�	�����	
����
���� ��������� ��������	��� ��
��������
���������	
�� �������������
"� ��	 �����
� �������� (1) �� ������
���%�
� �������� (2) �	�� ���%�

�������� (3).

$)�(� ����
�����������������������
�$���5�������
�	�� ��������$� �������� �� ������
��������6� � ��� ��������
� ������ ��
�������� ����



C96 ;��=���9�7�4

(���
������
���
�	�����	
����
��=�OEATON 5206F

$�����2<�����=���
�<
)$���������	 �������������

���������������������������'��������
����	�������������
����������
������'��
�������
����������������������	 ��
��
�������� ��� ������9������� �
�������� ���
� ������
� �����	 �����
��������
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(���
������
���
�	�����	
����
��=�OZF 9S.109 – EATON 8309F

$�����2<�����=���
�<
)$���������	 �������������

���������������������������'��������
����	������ ���� ���
���� ������
��� �
�����
� ��������� �� ������� ���	 ��
��
�������� ��� ������9������� �
�������� ���
� ������
� �����	 �����
��������
?����� ����
��� �� ������ �����
��'�
�����
� ��������	�� ��� ����'�� �
��	����� ��
������ ��������
��
��	 �������	�
�
 ��������
�(crawler).

����3���=���
�< 
��?
����
�����	��
������������������
�>������$������������������������������
����
������$�<����'������<���	�����
��$�������
��������	������	�����

���(����
�� ��������
� >�� ����'� �����	 ������ ������ L� ��
���	���$� ��	������� "� �
�	�������� /:M� ���������� ���	����$� ��������
� �� �� �	�������� 1:0� ���������
������$���������
��.��������������������'������$��������	��������������
�������� ,:L� �	�� R:S�� �����	 ������ ��� �� ���	����'�� ���������� ��� ������

��
�����	�������������������	�������������������
����	�������7	�����'��
������	 � ����$������ ������	���� ���������� ��������	����� �� ������ ����

�	����������/:M���1:0��7	�����'���������������	�'���
�������	����� ����'�	����
����'��
"�4�=�����2<���4���NCA�=���
�<�����PC2�������9@���9�5�3��4�
��?���3B9@
��?��QR��5S<*
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(���
������
���
�	�����	
����
��=�OZF 16S.109 – ZF 16S.151 – ZF 16S.181F

$�����2<�����=���
�<
)$���������	 �������������

��� ���������� ��������������'�� ������
����	������ ���� ���
����������
��� �� �����

��������� �� ������� ���	 ��
��� �������� ��
������9������� �� �������� ���
� ������

�����	 ��������������
?���������
��� ����������������'�
�����

��������	�� ��� ����'�� �� ��	����� ��
�����
��������
��� ������� ��	 ����� ����
 
�������
�

����3���=���
�< 
��?
����
�����	��
������������������
�>������$������������������������������
�����������$
<����'������<���	�����
��$�������
��������	������	�����

���(����
����������
�>������'������	 ������������L���
���	���$���	�������"����	��������/:M
�������������	����$���������
������	��������1:0�����������������$���������
��.���
����������������'������$��������	�����������������������,:L��	��R:S�������	 �����
��� �� ���	����'�� ���������� ��� ������
� ��
�����	������ ���� ������� ��	�� �
���������������
����	�������7	�����'���������	 �����$������������	�������������
��������	����� �� ������ ����
� �	���������� /:M� �� 1:0�� 7	�� ���'��� ����������� �	�'��

�������	����� ����'�	���������'��
"�4�=�����2<���4���NCA�=���
�<�����PC2�������9@���9�5�3��4�
��?���3B9@���?��QR
�5S<*

�����	 ������ ��	�� <���%�$� :� ���%�$<
�������� ����������	�� ���$� ��������
��4��
����	��������	��
 ������������"
)�	����� (1) ����'�������	 �������������

������������ “H”, �����������	������	����
��� ������� ��	 ����� ����	������ =�	�
��	 ����� ��� ��������� ���%�$� ��������� ��
��������������� ����'������ 
������	� (2) �
����9���������������������	������	��
����
��������
�����������?�������������������	�
��� ��������� ���%�$� �������� "� ��	����� (1)
����'�������	 ��������������
������������
“L”, ������� ����	�� ����	����� ��� ������
��	 ����� ����	������ ;�� ������ ��������
����'������ 
������	� (3) �� ����9���
���������� ����� ��	�� ����	��
����� ��
�����
����������

$)�(� ����
=�	�� <���%�
� :� ���%�
<� �������� �������
��������� �����	��
� ����$��� �� ���������
���%�
� �	�� ���%�
� ��
����� !���������
����	������� ��	���� �� ������� ������� ��
����	������
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(���
������
���
�	�����	
����
��=�O ZF 16S.151 – ZF 16S.181F

$�����2<�����=���
�<
)$���������	 �������������

��� ���������� ��������������'�� ������
����	������ ���� ���
����������
��� �� �����

��������� �� ������� ���	 ��
��� �������� ��
������9������� �� �������� ���
� ������

�����	 ��������������
?���������
��� ����������������'�
�����

��������	�� ��� ����'�� �� ��	����� ��
�����
��������
��� ������� ��	 ����� ����
 
�������
�

����3���=���
�< 
��?
����
�����	��
������������������
�>������$������������������������������
�����������$
<����'������<���	�����
��$�������
��������	������	�����

���(����
����������
�>������'������	 ������������L���
���	���$���	�������"����	��������/:M
�������������	����$���������
������	��������1:0�����������������$���������
��.���
����������������'������$��������	�����������������������,:L��	��R:S�������	 �����
��� �� ���	����'�� ���������� ��� ������
� ��
�����	������ ���� ������� ��	�� �
���������������
����	�������7	�����'���������	 �����$������������	�������������
��������	����� �� ������ ����
� �	���������� /:M� �� 1:0�� 7	�� ���'��� ����������� �	�'��

�������	����� ����'�	���������'��
"�4�=�����2<���4���NCA�=���
�<�����PC2�������9@���9�5�3��4�
��?���3B9@���?��QR
�5S<*

�����	 ������ ��	�� <���%�$� :� ���%�$<
�������� ����������	�� ���$� ��������
��4��
����	��������	��
 ������������"
)�	����� (1) ����'�������	 �������������

������������ “H”, �����������	������	����
��� ������� ��	 ����� ����	������ =�	�
��	 ����� ��� ��������� ���%�$� ��������� ��
��������������� ����'������ 
������	� (2) �
����9���������������������	������	��
����
��������
�����������?�������������������	�
��� ��������� ���%�$� �������� "� ��	����� (1)
����'�������	 ��������������
������������
“L”, ������� ����	�� ����	����� ��� ������
��	 ����� ����	������ ;�� ������ ��������
����'������ 
������	� (3) �� ����9���
���������� ����� ��	�� ����	��
����� ��
�����
����������

$)�(� ����
=�	�� <���%�
� :� ���%�
<� �������� �������
��������� �����	��
� ����$��� �� ���������
���%�
� �	�� ���%�
� ��
����� !���������
����	������� ��	���� �� ������� ������� ��
����	������
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�')'+���$�)�"� 

(���
������
���
�	�����	
����
��=�OZF 12 ASTRONIC F

I – $�)�����'������! “ASTRONIC”

1 – $���
– ������	 �9���������������
�����������������������'
�����	 ���������������������'�
������������“N” ���5�6.

– ���������	���������	 ����
�
����������������

– 4��
���������������
���������
��������������	�������"���������	�
�
����������$���

2 – $�����2<�����������9�A
– ?�����������������������������

�������
�"�����'������	 �����
����������	��
����������(+),

– ?�������������������������
��	�������
�"�����'������	 �����
����������	��
���������
5Q6������������������������
�����
�5/6�

– ?����������������������������

�������
�"�����'������	 �����
����������	��
���������5#6�

– ?������������������������
��	�������
�"�����'������	 �����
����������	��
���������5#6�
�����������������������������

5/6�

����� ���@� ��9�5�3��4� ���=���?��� �
=����A��9����B�.
�������5/6���$����������������� “N”.

$)�(� ����
���������	 �����������������	������
����	������	����������������
�������
�������
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3 – (��E��B��B<�
�5
KC4�5���4�=���
�<�
=���'� �����	 ������ �������� ��	��
��� ������� 5Q6�� ������������� ��������
�����
�5L6�

$���
�<��	�
��
��G�
�
)� ������������ ��������	���� ����'� �����	 ������ �������� ��	��
��� �����
5#6�����������������������������
�5L6�
���� ��	 ������ ��������� �����'�� $����� ������ �������� �����
 � �	�� ��	
 
���������"�����'������	 ����������������	��
���������5#6�

$)�(� ����
���� �����	 ������ ��� ,# � �������
� �	�� �������
� �����'�� $����� ����	�
����	�������� �����	����� �� /:M� ����'�� $����� ����	����� ���9���� � ��� �	���

�������� ���������	��
���������%�����/:M��	���� $��������	�� ����	��������� ��������� ��������	�
��%���	����
����������
������� ����� �����	 ������ ��������� ���� ������������ ��������	�
��
���	��
���!
���� ��	���
����������������������

P�C�'=9�5�	�������B��=���
�<�
)���������
��������
����������������������������������	���
�����������
�����������������	����'�������������������'���	��

(����5��@�BA�5�5��9����J���4�5���������"������$��������
'	�
��	�����6
��������
�������'����������	��� �“A/M”.

(����5��@��4�5�J���9@�5���������"�������'������
'�'����������	�6
;��������������	������	�����������������
�������'����������	���  “A/M”
���������������������������
�5/6�

(����5��@�BA� ��?�5� ��3�9B� 
��
�9��4� 5��	
����� �������	���
� �!!���
'����'���������6
4��
����� ����	�� ����	��������� ��������
��� ����'� ��� ������	���  “A/M”
���������������������������
�5/6�

'�9������
A��	��������������'������	 ������������������
���	���
�������������'�����
�����
�����������	���	���������������������%� �������
�,����
�
�
��	 ��������������
������������������������
�����������	��
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II – '$�!���� “ASTRONIC”

1 –��@	�� “ASTRONIC<�������	���������M��������$�������������"
– D�$������������������������� (4)����
	������
�������
��
!��
.
– ��������
����
	�������	 ������������� (2) ������������������	�#
��	�����
����
������

– ��������
���������������	���� (3).
– =���'������	 ������������� (1) ������������������	���	����

����
������
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2 –�)B<�
�=�����2<���4�=���
�<
+�	���
	����������	�������	������������
���������"��������5/6���$���������
������� “N”.
)� ������	���'�� ��	������� 5�6, ����'� �����	 ������ �������� �����
����������������M�������	�����"

�=�����.�=���?���� N
>�����������������$����������9����
��������;�������������'������	 �����
�	����'����������'������	������������������������'����������	�������	������
�5�6.

– �������" “C/+”
�����	��
�������'����������������	 ��	�������	��
 �
 ����%
 ��������

5�	����������������	#�������
�#�����������������������������
�5/66�

– ;�����"�“–/R”
�����	��
�������'����������������	 ��	�������	��
 �
 ����%
 ��������

5�	����������������	#�������
�#�����������������������������
�5/66�

������.�=���?�����O�S(F
5F
����������������������������
����������"��������� C106).

$)�(� ����
=���'������	 ���������������	����
��������	 ����	��������	������ “N”.����
��������� �� ������� ����� ������	������ ����'� ��	���� �������������
���������������������	�������	�������5�6.



C104;��=���9�7�4

3 –�$������4�=���
�<�
��������������'������	 ��������������� “N” ���5�6.
��� �	
�� � �����'�� ������ ���� ������������ �������� ��	 ����
�����'�����������
 �����������
 �
 ��������
��+�	������
��������	 ��
��
�������
���	��������
������������������������������'�
������������	������
���!�	������'��

4 – ��=������9�5�3��4
!9��9
A��
���������'���	����������	���������������	���
 ��
����
 ��������
�
;�����������������
 �����	�������
���������������
��������
;��������������	������	��������"���������	�����'�������������

$)�(� ����
D������	����� �
������� ���������� �����
 � �����	������ ��������� �����

�������
�"�/#����	������������

���
�����
�
���	���	�� �

�������� ��;�
� ������#�
���� 
�"���� 	�"��� ������
�	������
���� ��� ����'�

�
����� ������;�
�'
�� �"�� 
� �����
�;���
�
��;��������
�����������������

��=�������=�
LE5�
A������

����������������	���
 ��
����
 ��������
�
;��������������	������	�������������
���������������
��������"���������	�
���'�������������

��=��������=����
A������

����������������	���
 ��
����
 ��������
�
4��
������ ���������
� ������� "� ��������	�� ���'������ ������� 5����	����
��	 ������6�

$)�(� ����
���� �����	 ������ � “N” ��� 5�6 ��'���� ��'��� ��������	�� ������������
���������$�����"��������������������������
�����$����
 ����������������
����	�������'�����	 �������

���
�����
�
1�"�������"�����	������������������ ���
���
���'
������'�
��	�����
�
�
�

�������������
�"�
����������� �����7)�3/A/8+�?



C105;��=���9�7�4

+�	�� �
	�� ��������	�� �����	����� �
�����
���������"��������5/6���$���������
������� “N”.

5 – $�����2<�����������9�A
– ?�����������������������������

�������
�"�����'������	 �����
����������	��
����������5Q6�

– ?�������������������������
��	#�������
�"�����'������	 �����
����������	��
����������5Q6�
�����������������������������
�5/6�

– ?����������������������������

�������
�"�����'������	 �����
����������	��
���������5#6�

– ?������������������������
��	#�������
�"�����'������	 �����
����������	��
���������5#6�
�����������������������������
�5/6�

$)�(� ����
���������	 �����������������	������
����	������	����������������
�������
�������
)������� ������������� ��	 ����� ��
���������� �������� ��'
�� �������
�����%������������

������� "� ������������ ��	 �����$
����������������������	���
– 1 : �������������������1#
���������

�����'�����������
– 2 : �������������������1#
���������

������'�����������
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6 – $������=9�5�	��������A�=���
�<�
)���������
��������
����������������������������������	���
�����������������������
�����	����'�������������������'���	��
(����5��@�BA�5�5��9����J���4�5���������"������$��������
'	�
��	�����6
��������
�������'����������	���  “A/M”.
(����5��@��4�5�J���9@�5���������"�������'������
'�'����������	�6
;��������������	������	�����������������
�������'����������	���  “A/M” ������������
��������������
�5/6�
(����5��@�BA� ��?�5� ��3�9B� 
��
�9��4� 5��	
����� �������	���
� �!!���� '����'�
�������6
4��
���������	������	�����������������
�������'����������	���  “A/M” ������������
��������������
�5/6�

T�C�(��E��B
KC4�5���4�=���
�<�
���� �������	������ ��������	�� "� =���'
�����	 ������ �������� ��	��
��� ������� 5Q6�
�����������������������������
�5L6�

$)�(� ����
���������	�����������������������������
��������� ��� ,# � ��	
 � ��������� �����
��	
������
�9�������'��������

$���
�<��	�
��
��G�
�
)� ������������ ��������	��� "� ����'
�����	 ������ �������� ��	��
��� ������ 5#6�
������������� ������	����� �����
� 5L6�
)������� ��'��� ��	 ����� �������
� �����'�
$����������	�
����������
������	 �9���
���������������'��$����������
����
��� �� ��	�
� ��� �����
 � ��������� �	�� �
������
� ��� ��	
 � "� ����'� �����	 �����
�������� ��	��
��� ������ 5#6�� B��
�����	 ������ ��������� ���� ��������
��������	��

$���G�
���	�
��
��G�
�����=���
��A
�� ������������ ��	������� ��������	�
��� ��������������������"
– =���'������	 ����������������	��
��
�������5Q6���������'��������������
,# ��������
���	�
����������

– =���'������	 ����������������	��
��
��������	���� “A/M”������������
��
����
����
 ��������
�

!=���3�5�������������B<�
�
���� �����	 ������ ��� ,# � �������
� �	�
�������
� �����'�� $����� ����	�� ����	�������
�����	����� �� /:M� ����'�� $����� ����	����
���9����������	���
������������������	��
���� �����%����� /:M� �	���� $���� ����	�
����	��������� ��������� ��������	�
��%���	���� 
����������� ������� ����
�����	 ������ ��������� ���� �����������
��������	�� ��
���	��
��� !
���� � �	���

���������������������
?����� 	�'��� ���������� �	�� ��������
�������
 ���������������	�������'
	��

��
���������� �������� �� ����� ������ �������� ��
�����
�� ��'�
��
� ��� �������� 
����
����
��'����5�������� C86 – C87).
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8 – $�����2<���������A9���@��2�9�<��
>������� �������� �������������
�����	 ������� �� ��
���	����� ��	������
���������	������	����������	 �������'�����
7��'���	�� ��������	�� ������ ���
������ �
����'��� �����	 ������ ��������

������	���������5�6. 
4������������������������	 ��������������
����'� �����	 ������ �������� ����$�����
���������������“N”.

��������
(�� 
�����
�;��������������
������
BC� 	�D��� 	�;��'� ���� 	�"��� 	����	�
�������� ����
� ����
���
���� 

��'
��������
��	������
��������
��
���
���
����	�� ��������;���

��
<��
	���������
�	�
�"����"������

�
��������������'���	
�"����� (1)�
���"�����#�'� 
���
���
�������
�
�� ����"� ����	�������
�����������%(&.
1�"��� (�� ����
���
�� ����" “N” ��
%(&�� 	����	�� �������� ��������

������������� ���#����	����
������
�

��������

9 – ����BA�9��5�	
���������	 �����������������������������'����'����������������	�������������	���
�
)�����������������������
���	��
���'����'��������������������������'����	 �������
�����������	 ���������������

KR�C�'�9������

���
�����
�
����
��#��#������
�"�
��������;��
������	���
���

��������!
– �����
�
�
������"�
�����;���� “N”.
– 
	����
���
�������'�
������

4�������� ������ ��� �������� ������	�� ���

������	���������'�������	 �������������
�� “D” ��������������� ��	 ������
��
����'�� ��'��	�� �� �������� ��� ����	�

�����'����� (2)�� ���'	�%� ��
� ������	�
����������������'���“N”.

11 –�'���<�9��@����=������������9�5�3��4
>�'��� ��������	�� ������� ��	�%�� ��
���������� ����
��������� ���������

�����������	��������������'������	 �����
�������� �� ��	������ “N” �� ��'	
%���
���'���	����������	 ������'�����
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12 – ��J�9���7�=����4
8	������ �������� �� ������
�������������������
�������'����������
����� ����'����� ��$������� ����	�����
�������� ��� ����� ����
��������� �
�9�
����	����� ���������� 5,6� J3����
����	����<�� ���'	�%� ��'�� ������	�
�����������
� ������� 
����	����
��������	���
+�	�� ������	�� ��� �����	� ��� ��������
��������
����������"
– ����	�������������	���
���
��	 �����������	�����
���
����
�������������	������	��������

– ����	�������������	���
���
���	 �����������	��������	�
����	���������
�������
�����

���
�����
�
(��
����������"�� �����	�	���������
�������'� ����'� �	����
���� 
����
������;����� ���<
��
� ����"�� ��
�"����������7�#�
�������	��������
���������� 
�"��� ����	
�
���
����
7
�	�
�'� ��"���� �� ����#����
�������� ��������;���
� �������;�
������"�� ������ 	�
���'� ��;�

���
��
��	���
������������������

$)�(� ����
��������������������������'��
�	��"
– ���������������������������	��������������%���	�����������	�������
– �����������
 ���	
 ��������
 ��
����
 ��������
.
– ����������������'������	 ���������������� “N” �������	
�������'����������
�	�������	�%������
����
���

KQ�C���J�9���9�=���BD����
����?�5�
)�������������������	 ����������������������������'
���������������%����
����������'���	��

KP�C���=B9�9��@�BA����@
��

����������������������������	�'��'��������'������	 ����������������	���
�����
������	������“N”.

���
�����
�
1�"��� �

�������� �
��
� ��� ����
�
������� ����"��"��� ���
���� ����<

���	����E�

�����������
@��(������;�����
�������

��������������"��"�
��������������������
	����
��?
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15 – ���
�=�����	��G�9�5=���9���G
)��	 ����������	��
 �����������������"
– �������
���
���������
�� –20 °C : ��������'���	 �������������,I����
���
�������������'�����������
�������������������
���������
���

III – ��'(���&� $�"���
��!���)��')�� :��?�5� ���?����A
;66��9�����9�>

���� ���	 ������ ������� ����	�
����	��������� ������ ��������
���'���	��
������	�����  900 ��:���� ;�
����������� ���������� ���������� 5L6
J.�	��
�������'<�
7	�� �������� ����	����� �
!��� ���
������������	��
�������'�������������
�'��/���������������	������.
)� ���'�� �������� ��
�����	�����
����	������
!�������������	�������
�������������
7	�� �������� �����	����� �
!���
����$������������������
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(���
������
���
�	�����	
����
!��9�5� “OPTIDRIVER”
)������ “Optidriver ” �����	����������	����������������������������	 ������������
�
��
��	������$����
 �������
�������
������������������'�
������������	�����	��!
����'��� ����������������� ����	�� ����	�������� �� ����
���������� �	�� ����
�����
�����	���	�
�� B��� �������� 
	
�%���� ���!���� �� �������������� ��������� 
���	����
������	��� �������
� ����9���� ��	���� ������������������� ���� 
�	������� �������'�
����������
�������������	
�����'	���	����������	���9���������������9��������������#����	�'����
>� “ASTRONIC” (�������. C100→C109).
7������ ���������	������ ������ ��	���������� ��
��� �������� ���������� "
����'��	����� ��������������� �������� �	�� �
����� ��������� ;����
����
��������
��������������	������	��������������'��	���������������������������
����������������	�'������
������	�������������	���������������
���	
��������	���������
����������������'����������������
��������������������

�!!�����������
��9�
���@�BA���9�5�9�<����A���?�5
���� ������� ���
���� ���'���	��� ��'��� ��
����������� ����'� �����	 ������ �������� �
��	������ “N” ��� ��	������� 5�6, ��

��	���� �����������������������$������
�
��������������� (4) ����!��������O��9�F
(“Auto”) (5).
�����	 ����������
�����������	����	�%�
��
�����	������ ��������������� �
������������ ��� ��	������� ����	�
����	��������� �������� ���������������
��
���
�������������������������	��

$)�(� ����
;�����E9��$�����������	�����������������
������ ������� ���'���	�� �������������
��������� ������
� ��
��������
����������	�����	�������	 ��������������

��9���7�4�6���7�� “Power”
����������	���������'��������	����������
�����
������������	�%�����������������
��������	�� ��'� �������� ��
��	�%�

��������	� $����� ��� �����	�'����� ��
��
�������������"
– �����	����� �� ��� ����� ��������� ����	�
����	�������� "� ��� ������ ���������
��!������� “Power” (6)������������ �����
��
��������'��	��&
– ������	����������������	������	��������
���������������������
 (3) �����	 ����	�
(1) : ���������������������!������� “Power”
(6),����������� ��������
��������'��	���

"�	��9���7�4�6���7�� “Power”
)	�'��� ���
������ ����	�� ����	�������� �	�
����������������
 (3)�"���!������� “Power”
(6)�����������

$)�(� ����
F
����� “Power” 
�����������$������	����
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$��5�����������=����
)� ����'��	����� ��������������
��������� ���� ��	����� ��
����� ����9�
��	�����'���	����������������%�����
��������������	������	��������������
���
������ �����	 ������ �������
����������������������������	
�������
�� ����� �	
���� ��� ������ ���������
�����'����� (7)�� �������� ���� ���
����$�����������	����$�����������	�
�����������	�������	���	��5���6� 
4������� ��	�� �������
� ��	��!� �	�

�	����� �������'�� ���������� ���
�����	� ��� ���� ������ ���������
��������� ��� ���%
 �� B��� �����
��	��������
���������������������"
– ����
����� �� �
���
� ������ �������
������ �����	 ������� ��� ���%
 
�������
��	����	#�������
�&
– �	�'�����������������	������	�������
������ �����	���� �����	 ������ ��
���%
 ���	#�������
�

���
�����
0���	�������������;�
������������
�	������
���� 
���;��
��� ��������
��	��������"��  ���� �

�������� �
�����
�
������� ��;���
������
����	�������� ��� ���	���	�� 
���� 
��������
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$��9�4��BA���<��A���?�5
?����� ����
��� �� �������������'�� $����� �
�������� ��� ������ ��!�������� F��9�F
(“Auto”) (5), ��� �
���
�� �� ��!�������

F��<��A” (“Manu”) (8) �	�� ��������� "
������	����������'������	 �������������
(1) ���������	���  “A/M”(Auto/ Manu). 
F
��������������� �
����� �������
���	�'����� �������>� ASTRONIC (���� ���.
C100→C109), ������	 ������������	 �����
��������� �	�� ������'�� ���������� �������
����E��	��������	����	��
 �������������
����������	���������
���������������������
�������� �	�� �������� ��� ��	����� ���������
7	�����'�������������������$����$����"
– ����������������'������	 �������������
(1) ��������<Q<��	��<#<���������������'���
�����	����������
����
����&
– �������'�
�������'������	 �������������
(1) ������������������������������ (2) � (3).

���5���BA���<��A���?�5
��� ������ ����� ���� �������
�������������'�� $����� �� �������� ��� �����
��!��������F��9�” (“Auto”) (5), �����	����
����
��� �� �������������� ��������

��������������
'
 �����������������������
�����!��
� �������'�� ��	��!��� 2� ���� ����
���������������������	�������������������
�������'�������' (1) ��������<Q<��	��<#<��;�
������� ����'�	�� ��!�������� F��<��A”
(“Manu”) (8) : ���� ������� ���� �� ���������
������ ��� ��$�������� ���� ���������
�
��������������?���������
������������
�������������'�� $���� F��9�” (“Auto”),
�������������	�������$�����"
– ������� ���
������ ����	�� ����	�������� �
��������������������������9�&
– ����
���

��� !
���� � ������	�
���
�����
��������� “cruise control” ;
– ������	����������'������	 �������������
(1) ���������	���  “A/M” (Auto/ Manu).
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$)�(� ����
���� �����	 ������ ��� �����
� $���� ��
������������������!��������F��<��AF
(“Manu”) (8) � “R” (9). ����	����
��	�����
 � �����������
�� ����
����
�������'��	�����������������
������
������	������ ����'� �����	 �����
������� (1)  ���������	��� �“AM” (Auto/
Manu).

)�?�5����?����A�;66��9�����9�
>�'��� ��������� (10) 
��������� ���� �
���������� �	
���� ��� ��� �����	�'����
����'��	����� ��������������
�������� "� ������ ���������
���������
� �
���
� ������� 
����	����
5�������. C112).
>�'��� ��������� (11) 
��������� ���� �
���������� �	
���� ��� ��� �����	�'����
������������
�������������� ����9�
�������������	 ����������
�$���"
– �����������	 �����>������
���	��
 
����
���������������	 ��������������

�������&
– ������ ��	 ����� �
����
 � �������
�
���
����� ���������
� ������� �� ������
������������������
 �����	��
��	 �����	
����������
������������

�	�����
� ���'����
� ���������
� �	�� �

��	����������
������������	 �
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(���
������
���
�	�����	
����
����+�'��)'�' ��&�!�!��(��F�+!” (ABS)

B���
���
����������	��������������	�����������	9������������������������
F
�����������	���	�
����'���	������������������'����$�������������������������
”ABS ” #���
���	��������

!�!��(� ”EBS”
7���������������������������!
����������������������	���������������
����������
��	9�����������������
������	 �������	�����
���������"

– ��9�5�3��@�3�	�=��7�=��"���������������	����'	���������'���������
5�������� C75).

– ��9�5�3��@���=��7�=�5������9�5�A ”ABS ” ��� ”EBS” :  �����������������
����'����5������
�������������������
������	����
������������$��������
�����	�$����1����,1���:����6������������	���������������������	���


������	� (G7). �������������������%� ��
����������	���������	���


������	� ���������

– ��9�5�3��@���=��7�=�5�3�	����9�5B ”ABS ” ��� ”EBS” : ������	���


������	� (G7) �������������

�� �	
���� �����	��� �	�� �������������� �� �������� �	�� �� �������$�� ����� ���� ������

������	�5	�
6 (G7–G8) ��������6����������	������$���������	����������������������
7	���������������������������� ��
����������	��
�����������������������������
 
���
��	�����!����	����
�
������9����
������������	 �!�����
(���
������
���
�	�����	
����
!�!��(��$)�"'��)�/���&�$)'+��!'������&��'�1! ”ASR”

���� ���'����� �� ������ �	�� �� ��������� 
���������� ���� 
����
����� ���������
��
����
��������� ���	9������������������	�������������������'�����������
B���!
��������
�����	�������	��
 ������������"

1)��������
���������������'�������	9��#����������������'����	��������	� 

���������'���������������������� ����������	����'����	����

2)���	
��������
���������������$���	9��#����������'����������������
������������'���	�������������������������'����	������������������	����
�
����������������������
���������'���������������������� 
���������	����'����	����

���
���
��"
– ���������!
���������������
����
���� ”ASR” �����������������'�������
�����������������	���
�
������	� (G24).

– ������������%������	���
�����	��������5���'��'�	�	9�����������������6������'
�������������������� ”ASR” ���������������'
	�����������������
���	 ����	� (A1). ��������	
����������������������'������������������
������	���
�
������	� (G25).
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��(�"������

��������
�������
��
������������	�
�����
������
���
���������
�
����
�������'���;��
�
�"�
�����(�������������
������������'����
���
�������
�	�'�
����;���
�
��������'
�����	�����������
���� 8��
�	����������������
�'
���

�������
����	�
����������	���������1�������'
��������
��	�� 8���	����	�������;���
��	��
�������	�����������
�������
	����'
���8�'
������'
���

���
����	��
��'�

����������
������;��������
�	����
��� (A6).

$)�(� ����
)������'��	 (S) ����'��������'������'���������
������������	���	�����'���	�
��%9	�����������	���'�������	��5���
��	������
����������'���	�6�
F
�����������	���	�
����'���	������������������'����$�����������������
������� ”ABS ” #���
���	��������

7	�� ����
���������� �����$� �����	� ��$� �������� ���� �
	9�� ����
�������
�����������
� �������� ��� �������� �������	�������� /� �	��
 ���
������������"
– ���������,���
���
 ������	��������"��������� C116.
B����������������	��������
��������������	���	�������$	�����	��'����

������ ”J”.

– ���������M���
���
 �������	���������"��������� C117.
B����������������	��������
��������������	���	�������$	�����	��'����

�������”J” ��������
����	�����������������	���	��������	��������'�
��	�����������

– ���������1���
���
 �������	���������"��������� C118→C120.
B����������������	��������
��������������	���	�������$	�����	��'����

������ ”J” ��������
���'�����	�������������	���	����	�����	�����������
�����	���	�����	����
������	���������
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��5�
��9��@� ��� �BG��=�� �� 
���B5
9��5�	�5 ”J” ����3�	���
�
)�������� ��� ��
���� ������������ �
������������ ��� �������� ��
������
����	��
�� ����������� ��������� 7	�
�����	����� ��������� ��������	�
���
������ ����	�� ����	�������� �
������������������ (1).
– ��=���?�����R :
F
�������������
����������
������	����
'�����
– �� =���?����� K� ��?�5�4� ��� =�
��@
��������9����.
F
�������������'�� �����	���	�� ��	�
�������� ����������	���� ��� ���� ��
����
����������
������	� (U) '�����
– ��=���?����� K������?�5�4����=�
��@
��������9����.
+�	�����������'���	����%��-II���:����
"� �������
� �����	���	�� ����
�������
��� ��
���
��� �� ������������

�!!���������� �� 
������	� (U) '�����
>�'��� !
������ �����	���	�
����
��������� �� ������	���

�!!���������� ��
������	� (U–T) '�����
+�	�� ������	����� 	���� (S) '�����
�������������5��������
������
��	����
����������������'���	��*6�
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(���
������
���
�	�����	
����
��5�
��9��@�����BG��=����S�����
���BA
9��5�	 ”J” �=�����BA��� ;���9��<����5
	�5�
��9���5� 3�	� ;���9�����
�
=���9�������4
)�������� ��� ��
���� ������������ �
������������ ��� �������� ��
������
����	��
�� ����������� ��������� 7	�
�����	����� ��������� ��������	�
���
������ ����	�� ����	�������� �
���'��������������������������� (1).
���������M�����������"�������	 ������
����	 ���
� ����
� ����$���������� ��
��������	���� ���������������� ������
(1) ����	�������I������	�������M�
– $���?�����R :
F
������ ��� ����
���������
����������
 ����
������	�����'�����
– $���?�����K :
F
������ ��������������'�
�����	���	�� ����
���������� 
������	�
(C) '�����
– $���?���4�M�U�P :
F
������ ��������������'�
�����	���	�� ����
���������� 
������	�
(C) '�����
+�	�����������'���	����%��-II���:����
"� �������
� �����	���	�� ����
�������
��� ��
���
��� �� ������������

�!!���������� ��
������	� (C–U) '�����
>�'��� !
������ �����	���	�
����
��������� �� ������	���

�!!���������� �� 
������	� (C–U–T)
'�����
+�	�� ������	����� 	���� (S) '�����
�������������5��������
������
��	����
����������������'���	��*6�
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(���
������
���
�	�����	
����
��9�5�3��@���
��
�9���5  DCI 11
��5�
��9��@���� �BG��=�� �� 
���B5�9��5	�5
”J” ����3�	���
�8��=�����BA���;���9��<����5
	�5�
��9���5� =���9����5B5� ;���9�����
������
�
��	�5�
��9���5
)�������� ��� ��
���� ������������ �
�������������������������
�����������	��
�
����������� ��������� 7	�� �����	����
��������� ��������	�� ���
������ ����	�
����	�������� �� ���'��������� �����������
������ (1).
������� �� 1� ���������� "� ��� ���	 ������
����	 ���
� ����
� ����$���������� ��
��������	�������������������������� (1) �
��	�������I������	�������1�
.�������
���H 70°C (���� ���� C119 “Engine
quick warming”).
– $���?�����R�.
F
������ ��� ����
���������
����������
 ����
������	�����'�����
– $���?����� K� 
�� P� ��?�5�4� ��� =�
��@
��������9����.
F
������ ��������������'�� �����	���	�
��	�� �������� ����������	���� ��� ��
����
����������
������	� (C) ���'�����
– $���?����� K� 
�� P� ��� ��?�5�4� ��� =�
��@
��������9����.
F
������ ��������������'�� �����	���	�
����
����������
������	� (C) '�����
– $���?����� N� ��?�5�4� ��� =�
��@
��������9����.
F
������ ��������������'�� �� �������'�
�����	���	����	��������������������	���
����������
����������
������	� (U) ���'�����
– $���?����� N� ��� ��?�5�4� ��� =�
��@
��������9����.
F
������ ��������������'�� �����	���	�
����
����������
������	� (C–U) '�����
+�	�� ������ ���'���	�� ��%�� -II� ��:����� "
�������
� �����	���	�� ����
�������� ��
��
���
�����������������
��!!���������� �

������	� (C–U) '������ >�'��� !
�����
�������'�� �����	���	�� ����
��������� �
������	���
� �!!���������� �� 
������	�
(C–U–T) '�����
+�	�� ������	���� 	���� (S) '�����
������������� 5��������
��� ���
��	����
����������������'���	��*6�
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$)�(� ����
(�������	�� �������	���� ������� �	����������
� �	�� '�����	������

�����	���	����������'��	 (C) ���'����.
�� � �	
���� ���������� �����	� ��
� ������������ ��#��� ����'����
�	����������'�� �	�� '�����	������'�� �����	���	��� !
������ �������'�
�����	���	��������������������
����������
������	� (U–T) '�����
7	��������������������	���'���$	��������'�����	������'�������	���	����
��
��$���
���$��������������������'���	����	�������������������%����,�1II
��:����
4������� �� �	
���� ���������� ��� ������� �����'����� (G20) ������ ���'���	�
����$�������'������������L�,II���:����
B	�������
����	����
� �	����������
� �����	���	�� ����������
����� ���
��	�����������������������������	��#������/���:�����������	��
���	�����$���
)������'��	 (C) ���'����.

+B�9�BA� ��
���� ���9���� �G��?
���4

��
�9��4 (”Engine quick warming”)
>�'��� ���'���	�� $�	������ �����

������������%��������������������
��
�$	�������� �
���� ��������	����
������� (1) �����	���	����������� �,
�	�� L�� ��� ������ ������������
��������	���2������	� (C) '�����
D����� ��	���������� ����	��������
�����	����� ��� ��
���	��
�� !
���� 
�����	���	��� ����� ��������
��
�$	���� ��'�� ����
��� ��� ��%	�� ��
70°C. >�'��� ��������
��� �����%���
����� �����	� !
������ �����	���	�
����������������
���	��������
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(���
������
���
�	�����	
����
�B��2<�9��@ (A6) 
A = ���	�
�A�9������"�!
��������������

��
��
 �5�������� C118).
B = 	�
�A�9����� :

– ����������������	���	����������
���������5'	��������������6�

F
������ ��������������'�
�����	���	�� ����������� �������

�����
��������'�������
�������������	�
�����������
3������������������	�����������
����
������������ ��� '�
��� ��������	�� �

��	��� �� �������� ������� ���������
����	��� D������
� �����	���	�
��
���	��������2������	� (C) ���'�����

– ����������������	���	���
��'
	�������$����5���������

��������6�

2������	� (C) ����'��������	��!
�����
��������������'�� �����	���	�
�������������
2������	� (C–U–T) ����'� ���� ��	�
!
������ ��������������'�� �
�������'�������	���	�
�������������
5�������� C123→C124).
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(���
������
���
�	�����	
����
)�
��49���������9�

��������
�
8��
	����
����"���
����	����
�
��������;������	��
���

�������������������%� ��
�/I���:����
����������������������'����	��!������
����	�������������	�����	
��������
��
��	����
� �����	����������

�������� �� ��� ����	��
�� ����	�
����	��������

����=��@	���9@�4���
��49���5�.
– 7������������	 ��������
��	���
 �������������������
��
���
���	�����'���������	�
����	������������������
�����	���	���	�����������
��������

– �������������������	 ����	� (A6)
�� “A” (��������	�������
�������

�������
�JEBS<���1#����������
��������������	���	�).

– 2������������	����5,6��� “ON”.
– ������
�����	����5L6������

��������� “S –” �����������	����

����������������������������	�
�������
 ����������

– ;��������������������!�������
“CRUISE” (3).

– 4��
����������	������	���������	�
������������	���	���	������	�
��������



C122;��=���9�7�4

?����� �����'
	�������� <���
����
 <
���������"

– +�	����	�����������������������"
������������	����5L6������
�������� “R +” ��������
����������
 ��
�������

– +�	����	����������������������"
������������	����5L6������
�������� “S –” ��������
����������
 ��
�������

– ������������%�'����������
�����
�� (R+ / S –) �����������������
������������I�L1���:��

������������ ��	���� 5L6� �� ����
� ��
������
 (R+ / S –) ��������� �
���
�����������������������
��������	����
7�
���
�� ��� ����	�� ����	�������
��������� ��������	�� ������ �� 	 ��

������� ��������� ��������� 5���

������	����
6�
F
�����������������
���	��
��������
������� �������� ��� ����	�� ����	�����
4��
����������	������	����� "�!
�����
��'
	������ �������������
���������	��������
B��� !
������ ��
���	�������� �
��!������� “CRUISE” (3) ��������� �
�������"

– ��'��������������������	�
��������������LI���:��

– ��������
��������������	�
������������	���������
�����	�����5��������'���	
����
��'��������
����������������������
��������	�������%�������L���:��
��	����
�
������
���������6�

7	�� ���������	����� ���������
��	������
� �� ������� ��������
���������� ��	���� 5L6� ����� �����
�������� “R +” ��������
����������
 ��
�������
�����	����� !
������ ��'
	�����
��	
��������
�9����������	�������	���
5,6��� “OFF”.

$)�(� ����
;�������
� ��'
	����� ��� ��	�����
�'��������	��� ���������
)	�������	����� �'�� ����	�������� �
��������� �'��������	�� ��������
���	 �����*
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(���
������
���
�	�����	
����
��9�
���@�BA���
��49���������9�

��������
�
8��
	����
����"���
����	����
�����
����;������	��
���

�������������������%� ��
�/I���:����
����������������������'����	��!������
����	�������������	�����	
��������
��
��	����
� �����	����������

�������� �� ��� ����	��
�� ����	�
����	��������
=�'
	����� ��������� ������������
�������������
� ������	�� �������
�����	���	���� �������� �� ����� �����
��������$�������������������	������
��
���$� ��������� <�������
���<
�������
�� =������ 
������	� (C–U–T)
����'� ���� ���� ���������
����������
 ��'�� �����	���	�� 5���
���. C118).

����=��@	���9@�4���
��49���5�.
– 7������������	 ��������
��	���
 �������������������
��
���
���	�����'���������	�
����	������������������
�����	���	���	�����������
��������

– �������������������	 ����	� (A6)
�� “B”�5��������	�������
�������

�������
 “EBS<���1#����������
��������������	���	�6�

– 2������������	����5,6��� “ON”.
– ������
�����	����5L6������

��������� “S –” �����������	����

����������������������������	�
�������
 ����������

– ;��������������������!�������
“CRUISE” (3).

– 4��
����������	������	���������	�
������������	���	���	������	�
��������
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?����� �����'
	�������� J���
����
 <
���������"

– +�	����	�����������������������"
������������	����5L6������
�������� “R +” ��������
����������
 ��
�������

– +�	����	����������������������"
������������	����5L6������
�������� “S –” ��������
����������
 ��
�������

– ������������%�'����������
�����
�� (“R +” / “S –”) �����������������
������������I�L1���:��

������������ ��	���� 5L6� �� ����
� ��
������
 (”R +” / ”S –”) ��������� �
���
�����������������������
��������	����
7�
���
�� ��� ����	�� ����	�������
��������� ��������	�� ������ �� 	 ��

������� ��������� ��������� 5���

������	����
6�
F
�����������������
���	��
��������
������� �������� ��� ����	�� ����	�����
4��
����������	������	����� "�!
�����
��'
	������ �������������
���������	��������
B��� !
������ ��
���	�������� �
��!������� ”CRUISE” (3) ��������� �
�������"

– ��'��������������������	�
��������������LI���:��

– ��������
��������������	�
������������	���������
�����	�����5��������'���	
����
��'��������
����������������������
��������	�������%�������L���:��
��	����
�
������
���������6�

7	�� ���������	����� ���������
��	������
� �� ������� ��������
���������� ��	���� 5L6� ����� �����
�������� ”R+” ��������
����������
 ��
�������
�����	����� !
������ ��'
	�����
��	
��������
�9����������	�������	���
5,6��� ”OFF”.

$)�(� ����
;�������
� ��'
	����� ��� ��	�����
�'��������	��� ���������
)	�������	����� �'�� ����	�������� �
��������� �'��������	�� ��������
���	 �����*
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(���
������
���
�	�����	
����
'�+')�('/�'!��

$)�(� ����
;��������� ����� ������� ��������� ��'
�
����� ����	�������� ����������� �������
�����������
'���#�������������
)���'�����	 ��
����������	����������	�
�������	�� �������� ����	���������
���������������� �� �����	�� <.�$��������
7�����<�

'93���5�J���9���������3���=���
�<

4����� ��������� ��� �������� ��������� ;�
�������������$�	����$��������$����'���	���
��
���	����� ��	������� ����'�� �������
������������	 ���������	����������������
0����
���
;���������������
 (1).
��	 ����� ����	������ �� ����� ������
��������� ��������� ��$������ ������
����������;�� ������	����� ������� ��	���
����������� 
������	� (G22)�� 7	�� ��������
��$���������������������������
���	����
��	����������	 ���������	��������������
��������
 (2). ��������������� (1) ����9�����
���9� �������� ��	�������� 2������	� (G22)
���������

(���
������
���
�	�����	
����
'93���5�J���9���������3���=���
�<
ZF 12 ASTRONIC

!���
��?�J�5�4���9�5�3���5�.
– ����'������	 ������5,6���	��
�����

“N”.
– ��	 ��������������������&
����	�����������	 ����	� (A7).

3�������������	���"�(N) ���
������	� (G22).
4����� ��������� ������� ��	 ����� �������
��������
������	��������
���	��
 �����
�
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)�
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$����B=������	�	���
����?�5����J���4�
��
�9��4��
����<�������. 1 400��3S5��*
��	�����5��9���9��3���
�����48�=���9������
��;��=����J���5�����9�5�3��28
��?�5����J���4�
��
�9��4�5�?����	5���9@�=���=�5�J�����9���@��
�����
�9��
6��5B RENAULT TRUCKS.

�� ��9�5�3��4G8� �3���
�����BG� �
����<�9���5� �3���9��� ���5�G���	5�� �93���
5�J���9�8� ��3�2
�A9�� 5����5��@�BA� ��?�58� �=��
�����BA� �	
�9���9���5
�3���
�����4*

����9�5�3��4G�5�
�6���7�� “BOM” :F5������3���<��4F>�������3��A�=���
�<
ALLISON, �93��� 5�J���9�� ���J��9��4�9�4� <���	� 6���7�2� ��5������*
���9���@��4���5=� 	�?�
��9�4�=���	�
�A�9���������93����5�J���9�*

$)�(� ����
;��������� ����� ������� ��������� ��'
�� ����� ����	�������� ����������
�������������������
'���#�������������
)���'�����	 ��
����������	����������	���������	��������������	���������
�����������������������	��<.�$���������7�����<�
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5����'����
$����	�������������'�
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����	������ �� ��	����
����� ������������ �	��������

����������������
����������������	��������$���%�������������������������������

�������������
�����������������	�������	��
 �������������������"
– 4�������������'�
�����#���'�
�����$��������
�
��������������
���������������	����'��
������5��������	�����	 �������	������������6�

– (�������������������������	�������������		�	���
��������%��� ��
�	��������������������	��5��������	
�����	�$����������	����
���'�
���6�

– B�������������	
�������%���5��������!������������E9���
�������
���� 6�
– ��	�����������!
����������������	����������
	����������������'�

����	�����

– )�������������	���������������$���
�����������
– @����������'
	�������
���������	���
����$�������
$��
– ���������������������������5�����
������'��	��������������
�����������
����������������������'���	�6�

– A����'��������������������������������������������������������������	�
������������
���
 ��'������������	������

– ���������	�����%�������������	���
�
�������������������$�������%� ��$
,I���:����

(�9�
�
�A�9��4
– ��9�5�9�<����5��=���3�5�.
)������������������������������������
���������	���
�
������������������������'�
������	� �������������������'������'��������������
– )�<�B5��=���3�5�.
>�'�������������
��������'�����������������$�������
���
�������������������	���
��	�� ��������� ��������	�� ����� ,I� ��:����� =����� 
����	����� ��
��
 � �����	���

������	�����������
�%������������
���
�
�������
;������� ��� 	 �
 � ��� ������� �
	���� ������������'�� 
����	����� �����	���
�����	 ������������������
����������'
	�������������������'
	���������
��
 �
?����� ����
����� �� �������������
� �������� �	��
��� ������� ��� �����
 5�����	���'�

�����6��
	����������������'��
����	�����
– ���9���@�BA����9���
��� (AB)
A���'������� ���� ��	���� !���������
� 
������� ��	�%�� ��� ����������
��� �����	����


���� ��	������������������'�
�������E9���
�������
�����5��	�������������6�
– �����A�BA�=��9�
��6�<����A����	�9��@ (G12)
���������� ��� ����	�� ���� ������!������� ��!������ ���� ������ �	�� �����������
��������������!
�������	����������	��������'���
	��������������������
���	��
��
������
�
����	�����5��	����� ��	����������6�

'!�')'),�'�-
D�������
�����������������	��	�������	��������������;����	�������������������
���������������������������
����������������'�����	��

$�����9�����
������ ��� ����	�� �����
��'�� �����'�� 
������	� (G12)� ��������� �����	� � ���������
.���
����������������5��������  C136).

$���=�
�49�A�=�
LE5��A����
��A���@2
2������	� (AB) �����	�����'�����
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!7�=������ S� ���7�=������ �� =��7�=�5� �� ���<��� ��9�5�3��4� �� =���5�9�<����A
=�
�����A*
"�4��97�=����4�=��7�=��.
#2������������������	�������$������	�������
#4�
������������������������
#=���	������������������
����
�����
#��������
�����������	�������'�������������������������������������
 
%���'
�

#)	�'�����
��������������	���������������������������������
����
�����
#4���	������'�����������������������	�������	��������	������
��������	��

"�4��7�=����4�=��7�=��.
#4���'
	��

��������
�������'��
����
������������������������	��������'���
#���	����������
������������������	�������$������	�������
#2�������������������������
#������������������	�������	��������	���������������	��



C130;��=���9�7�4
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��9��7�����
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�=�������4
��	 ���������
����	 ����	��
2���������� �������� 5��	�� ���	����
����
$�� ����������������
�����
���'���	�6�
"�4�	�
�A�9������4�6���7���.
;������� ��� �����
� 5L6�� ������	���

�������'��	�5,6�����'������
7	�� ���	 ������ !
������� �������
��������� ��� �����
� 5L6�� ������	���

�������'��	�5,6�'������
'=��������D�����.
7������� �����
� 5R6� ������
� ��
�������������	����
� �������%����� �
���
������ �9� ����
� ���	�� ��'��� ���� ���
��������
����������'�
���
$�
LE5�D�����.
7������� �����
� 506� ������
� ��
�������������	����
� �������%����� �
���
������ �9� ����
� ���	�� ��'��� ���� ���
��������
����������'�
���
����9�������������5��@��A��B��9B�.
?����� ����
��������� ������������

�
	���
����	���������������������
�5L6�
>�����	���
� �������'��	� 5,6
����'������
;������������������
	�������������

516�� ���������	�������� �����	���


�������%�����
7	�� ���	 ������ ������������'�

����	������ �������� ��������� ��
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�5L6��>�����	���
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��	������'���
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�����
�
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�
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��������������<
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	���������������
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B���������	����������������	�������"
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���(�����-
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���
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����������

)�<��A��=��������
(�������	����	�������������'�
�����
��$�������� ��� ��������� ;������� ��
�����
�506��7�	�������������	�����5/6�
7	�� ���
	��������� ���'�� ��
�����
����������������
�506�����������C����
5/6���'������
7�
������ ������� 506� ��
���	��������
��	�� ��������	�� ��'�
���� �� ���
��
��������
���������	��
'=�����������.
+�	���������506�����������������������
��������
�5,,6�
�� �	
���� ���������� ������ ��������
������	����� ���� ��� ���������	�����
�����������������
�5,L6�
$�
L�5����:
+�	���������506�����������������������
��������
�5,L6�
���	
��������������������	�����������
���� ����������� ��� ���������	�����
�����������������
�5,,6�

$����
�=������=��
�����4���
��	��
�� �	
���� ������������'�� ����	����
��	��� �� '�
����� ���� ���'����� �� �����
��	����������� ���������� ��'�
��
� ��
������
� ���� ��� ���
�
 �� 7	�� ���'�
�����	���������� ������
�������� (B1),
������	����� 	���� (AB) ��	���
���������
���	�� ������������	����� ��'�
���
	���� (AB) ��'������
������ ����� ���� ������ �����	���������
�������� (B1)� ����$������ �������
���	��RI����
������	����'���������'�����
��'��	�����	���� (AB).
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��	��
�������������	 ����	���
���� ���������� ������� ��� ����	�
�����
��'�� ������� 
������	� (G12)
�	��
��� ����������� ��� �	���
%
 
�������
 � ������ � ��	���� �	�

��	���������'�����������!�����
7	����
���	���������������0����������
�����
� <)��� / Stop” �
	���
������������'��
����	�����
�����	����� ���
� ���� ��	�
� ��������
5��� ��	��� LI� ��:��6� �� ������ ����'�
���	 �������������
 ��������� �
3������������ �����
��'�� ������

������	� (G12) ��������� 
���������
��!������ .��� ��� ������ ����������� ��
�!����	���� ���	
���� �
 � ���
�������
 ����
�
����	����� �������������
� �
���'�������� ��
�����	� ���� ���
����������������'�����'����������'�
�
	��� RENAULT TRUCKS,
����	 �����'�������E9�
 (1).

$�������@��4����9��A������9�5B
���� �	���������� �
	���� ����������
�������	�����������
�������	��������
������������ ��� �����������
� ��%�'�
��������	�� �� ����������	������ ��%�

�������
����	 ������
	�� RENAULT TRUCKS �
���E9�
 (1)� �	�� ������ ���'����� �
��	���������$��������
�
.���������� �� ���'������������
����	�� ���� ���	 ����	���
���	�!������������������	������

'!�')',�'�-
;������
�����������������������	���

������
�����%�'����������	��
3������������'������
������	����$��
��������� ��������� ������ ��������� �
��$��
����������
���	��	 ��$���
����
��������������	�
����������� 
����	����� �	�� ���	�
������� �������'�� ����������������
����$������ ����	����� ������� 
��	��������
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��� ���� ���� ��	������ �	��
 ����
����	����	�������������������"
#�������
��������������'����������#
��������	9��������������
��������	��

#��$���������	���������������	� #
��������������������������������#
������������	9���D�$������
����#
	�������
��������������516�����9��
�������	��������������������
����������5G266�

���� �������	������ ��������	��� ��
����	������������������������������
(G26) �� ���� ��'��� �������������
�	����
����� ��	�� ��	9��� ��$�������� �
�����	���
������	�������

$���
�9�58�����
��
�9@�4�	�
��5�G�
�5
A��	������������	�����������	���
���
��	�������� ����	��
�� ������� 516, ��
����	������������������������������
5G266�
?���������	������������	9���"
;������ ��� �����
� 526�� ������� 516
�����������������$��������	��������;�
����	�� ��������� ��������� � 5G266
���������

(���
������
���
�	�����	
����
��9�5�3��@�����
�J�A�	�
��A���@2���
�
�������9���5�.
�� �	
���� �����	��� �� '�����	�������� ����
���� ��� ������	����� ������
����	������
������	� (G26)�"�������
�������������	���
���!����	����
���	��

�	�������������	 ����'���#��������
������
7	�� ��������� �����
� ���
��
� ���E9���
� ���� �� '����
��	���	���� �������
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��������
���������E9����������	�'������������
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�� ������� ���������� ���'���	�� '�����	�������� 
��	����� �������� �
	��  ��
����������������
����
	 ����$�����������	��������
��	����� 5–7 ������	�%���
����������. ���������	
�������������	����$�'�����	������'��
��	������	��
��
��
����������	��
 �����������:
����������
����������	�������	����������� ���������������������	���������
����
����� �	�� ��
����������&� ��	�� ������ ��� ��� ������������ 
��������� ����
5�����
�����
���������������	����������%	��'�6��A�	���������������'�����	�
����$�����'������������A����������'���	���������������������	����	����������
�����������	����������	��������������������	�%�$��������$����'���	������
��	�
����������5�������� F44).
+�	�� 
� ���� ���������� ��������� �� �����	���
� ������� �������� ����������� �
�������������	������	������	����������$�����'��������	��

��� �� ���5� ���<��� ��� ���
��9� ��5�5�� ��	3���9@� 
�
�����<������ �	�B� ��3�
�	5��49@� �G� =������<��@��2� ��
��������*� ����2� ��3�9�� 5�?�9� �B=���49@
9��@��������6�7�������BA��=�7�����9*

8��������������������������	������	�����������	
�������	�����������%����
������� ������
� ��%�
�����
���� ��������� �	��
��� ������������ �
�������	���
������������� �
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�������
����������
7	�� ���������� ���'���	�� "� ���	 ����
����'�����5���	 ������������6�

���	 ����� ����� �	������������� ��
������ ���	 ����	��� ;���'��� ��
���	 ��
��� �	������������� ����
���	 ����	���� ��	�� ���'���	�� ��9� ��
��������	����������������������������
�� '���������� �� �� �	��������$
����������$���������	��

+�	��� ���� ���	 ������ ���������
��������
� ����� ������	���'�
��$�'��!�� ����	��� �������
�� ���
��'��	����
����� �
�������� ����9�� �
�����	������ ��������� 0� ���
���� ��
������ ���������� ��������� (1) “����
��$�'��!�� ������”. A����
��� ����
��$�'��!�� ������� ���� �����
��
��������	�.

���
�����
���� ������;�
����� � ����
�� � %�����
GC� ���'&� ��	�������
��� ���
�
����� ����
��� (F25)� �
���� �����$
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�
��������	���		�����
���
������
�����	��
������"��
� �"�����

$)�(� ����
���	
������	�������������������	��������������������$�����������
���	����
��	�������� ����9�� ��$����
� ��	� �����	����� ����������� ������ ����������
������������'���	���	��
���������������$������	� (F25) �����	 �������������



C140;��=���9�7�4

(���
������
���
�	�����	
����
��9�5�3��@���
��
�9���5  DCI 6
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(���
������
���
�	�����	
����
��9�5�3��@���
��
�9���5  DCI 11
������ (1)� ���	 ������ ���'���	�� ���
�������
��
�������.
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$����
 (5) ���9�����9�5�3��4
;������� ��� �����
 (4) �� ��	�����
������� 516 ��� ��	��'�� ��������
���'���	��� 4���
� ���	 ����	�� #
�������
��

$����
 (3) �����?����9�5�3��4
;������������'�����	������������ (3) ��
��	��'�� ��������� ���'���	��� 4���

���	 ����	��#��������
��

���������� ��	 ������ ����'�
���E�������	�� ��	������ ��
��
 � �	�
���� ������� ������� (5) (���� ���.
(C39→C40)).
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– �����	���������#����H����	���
	��
(������������ ������
������
�
������	�����'�%�������������
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������
��
���	�������
�
�'����������
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 ��������������
��	��������������� (2) ������
����
7	������
�����������
��
������	��

����
�������
� �
������
 (1) �� ���������
���������
��	�������	��#!����
���������� 
������"� ���	�� ��	���
��$������������$�����%�� (3)����'�����
��
����
����	����� �� ������������ � ��	��

���	� �������������� �� ��������� �
�����	����� ��	�������� ������ �����
���������� 
�������� �� �	
���
�������	���'�� !
��������������
����������� �� �������
� �	�
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– ���9�������������������	��������
���������

– 
�������
��	�������
��	����'�
	���������

– ���	 �����$�	���	����.

(���
������
���
�	�����	
����
(�G���<����A�=����
�.
���� ������������ ��������	��
�������	������ ���'���	�� �� �� ����'��
������������
���	�������	�����������
�	������������$������$���������������
������ 	�� ����
#���
��� �������

������� ��� ��������
� ����	
�
4���������� ������������ ���������
������������� ������ ������
�
2���������� ����' (1) ��� ��	������
<���E��<��3���	��

����������� (2).
=���	��������� ������� ������������
��������������� >���
��� ��
�������������� ������� �� ���
���
��	�������� 7���	����	���� �� ������ 
(2) ����	��

�������������������� (3).
7	�� ���������	����� �����	���'�
��	��������������
��������������' (1)
��� <4�
������<� �� ������� ��
�������������
� �	��������� �����
�������

$)�(� ����
�� �	
���� ����
�����	���'�
���������������������
��������������
�����	����� ��	������� �� ���������

����������	���7�	�
������
���������	�
����
�����
4��������� ����	����� ��	��
�������
�������������� �� ��������� �
�����	����� ��	�������� +�	�
�����
�������������������������������
�� �������
� �	�� �!����	����
� �'���

��'�������	��
���� �������
��
� ������� ����������
����������%���
�����������
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��	����	���������������������
2���������� ����' (1) ��� <���E��<�
3���	��

����������� (2).
��	 ����� ��������� �������� ��� �����

(4). =���	��������� ������� ������
���
���������������7������������
�������
��	������� ��� ��	��'�� �������������
�������
7	�� ���������	����� �������'�
��	��������������
��������������' (1)
���<4�
������<������������������
 (4)
��� �������������
� ����	��������
������� �� 9�<����� ;9�
�� 5������� ��

��?�9����������=�
��?���

$)�(� ����
���	�� ��
$� ��	��$� ��������� ��
������������ � �� �������
� �
�����	����� ��	�������� �������� ,1
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�� �	
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��	������� ����� �� ���������� 
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���� �	����������
� �������������
5�������� �	�� ������6� ��	��
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��$���������� ��������
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��J���A�4J���:

'9��B������4J��� : ����������
��
�5,6
�	�� ���	��������� ������
������������� ������ 5L6�� ��������
������������������������������
�
+�	�� �	�����
��������� ��	 ������ ��
��
���
������������������	 ����	���

����B9���4J��� : �������������
��
�5,6�
4���������� ������
 � ��������
� �
�����
��� ������ 5L6�� @	��������
���������������

(��9���G�?
�����
�5���9������5=���9�
D�6�����
�����9��5��9� :

'9��B������ 4J��� : ���������� �
��

5L6��������
��������5,6��7	���	��������
��������������

)�	5�J��������9��5��9����4J��� :
3 –7������
4 –D�����������
��	 �
5 –)���������	�����E����������
6 –)���������������� ������������
7 –��	�����%	��������'��
����
����
8 –>���%��
������	�������������
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��<����=��B��=���
� (1)
2��������������%��
� (2) ������������+�	������$��������	���������������
����%��
�� (2)�����	��

������������
�����'���������.

$���=���5�9�<����A�=�
�����
2�����������������
������$������	�������
2������������	���������������
 ���������
 (4).
A���������
���
��������
2�����������������������������	���������.
���	�� ����	��������� ��������� �������� ��	���� �� ���������
� ���������� �
������������������	�������	����������������

���
�����
8�� ������
�� ���	����
�� ������
	������

��<����=��B��	�
� (3)
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(���
������
���
�	�����	
����

(�
�6���7�4�3�	����
�7������
1 – 2����	�������������	�����

����
$�����������5�������������
���� D2).

2 – .���������5��������������������D5).
3 – 2����	����������	����
�5������#

������������� D4).

(�
�6���7�4� �� ���
�7������5� 3�	
��
���������4
1 – 2����	�������������	���������#

�
$�����������5������������������� D2).
2 – .���������5������������������� D5).
3 – 2����	����������	����
�5������#

������������� D4).
4 – 2����	�������������������5���

��������������� D4).

���
�����
(�� ����;����� ���
������ �
���	� 

������
�
�� ������;����"�
����'�

���� ��	��������� ��
�
�
	������������ ������
�
�� ���	���	�
����
����	��'��'����������
��������
���������
������'��������

+B�9�BA�=�
�
����:6���7�4 ”warm up”)
B���
����
����������	����
������������������������������������������ D5
>�'�����������	��������������������������
���H 5°C, ����
����
����������	���
������� ��������� ��������
�
� ��������� �� �$	���� ���� ����
��� �
���

��������� ������� ��������� ���'���	�� �� 1 000 ��:����� �� ����
����������

�������	�������$	����
B��� !
������ ����������
����� ��'��� ��������
��� �� �$	���� ���� ����
��
�����'��� 70 °C ������������������
�����������	������������
�����������
������
�� 50 °C.
���� �������� ��� ����	������� �	�� ���� ����� ��������	�� ���� !
�����
���
	��
����� �� ������� ������ ����������� �������
� ���	�� �����'�� ���
���
���'���	�����	����������
����������������	��
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�=������������=��
������5���	
�G�
=
������� 
����	����� �� ������������ ��
��������'�� ��	������� ����������
��������	����� ���
�� ����
$�� ����

���	���������$�������������������
�� ���������� �� ������������ �� ���
���	 �����
� �����	����� ���� �
������
����������������������� ���������
��
�� ������������ ��� ������	�������� ���$
��$����$���������
�

$���?�����K
����
$� ������	��� ����$� 5��������� ��
���������������6� �� ����	�%�
� ������

����
$���������
���������5����'�6.
$���?�����M
����
$� ������	��� ����$� 5��������� ��
���������� �����6� �� ������
� ����
$�� �
�����
���������5����'�6�
$���?�����Q
����
$�������	����������������������5�
��'�6�������	�%�
�������
�����
$������$
5����������������	�6�
$���?�����P
����
%��
�������������	��������������
���������� 5�	�� ���
��� ��'6� �� ����$� 5��
	���������������������	�6�
$���?�����N
����
$�������	�����	��������$�5��������
����	����������������	�6�

$)�(� ����
>�'��� �������� �������� �� ������	����
���������� ������ ����
$�� ��������	�����
����
� ���	������� ������������� �����
������$� ����������
��� ������	�����
��	�������������	 ����	��
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�=������������9��47��A
B����
�����������������!
�����"

����7�4����9��47������D��5���	
�G�5
������
����
�����
��������

– ��	������ STOP : ���	��5��������
��
��������
$�6.

– ��	�������I�"����	��5����	�%��
�����������
��������
$�6.

– ��	�������,�"�
����	����������	�#
������5,#�����������6.

– ��	�������L�"�
����	����������	�#
������5L#�����������6.

– ��	�������/�"�
����	����������	�#
������5/#����������6.

– ��	�������M�"�
����	����������	�#
������5M#�����������6.

����7�4� ���9��47��� ��	
�G�5� ��3��B
:��7�����47�4>
������
����
�����
��	���"

– ��	������ STOP : ���	��5��������
��
��������
$�6.

– ��	�������,�"�
����	����������	�#
������5,#�����������6.

– ��	�������L�"�
����	����������	�#
������5L#�����������6.

– ��	�������/�"�
����	����������	�#
������5/#����������6.

=�����
	����������	����:
– �����%�������������������%���
����
$���5�����
���	�����'������#
���������������6,

– ��	
���������������$	���������	�
�������	���'�����'�����������	�#
����������������������

F
������ ������
	����� ��	���
����	���������� 	�%�� �� �������
����	�%�'������������������

�=������������
�7������5 (6)
���������� �������'���	��
���������
������������	������������,������
���
������� ��� �����
� 
����	����
���������������	����	 �������������
������������������
���� ��	 ������ ������������
����'������	�����
4���'
	�������������������������
��
��'	�������	����
�
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�����9���9�5=���9��B
2������	���
��� ��	������� ���������� � �
�����������������	����
���������
���
– ����������"�$�	����
– �����:������������"�
�������
– ������������"����	�

���	������	��������	����
���'
	������
��������������������������������������
���
	������ ������� ���� ������ ��������
���������	��������
�����

��=��@	���������G���
��2�=�
�
�
)�	5���?�������S��
����������
�

– A����
�������������������	��������������
– 
�������������	 ����	�������	��������JI<�5�����������
���'������
$�6�
– 
���������������	 ����	����������	���������
$�������	�������J�������#
��������:�
��	������	�'�<�

– 
���������������������������
������J���	�<.

>�����	������������
��������������������"
– 
�������������	 ����	�������	��������J,<�

������	����������������� :
– ����������������
������������������
$��

;���������������	������������������5����������������������	��������'�6"
– 
��	�������������������������
���������������'��������'���	��

���	�� ����	������ ��
������ J��������������:
��	����� �	�'�<�� 
���������
��'
	�������������
��������	��������	�����������������'�������������������
��������'�� ��	�������� 7	�� ����%����� �!!����������� ����������
��
������	���
�����������
$��

��=��@	���������9�=��2�=�
�
�
+�	����������
�����
�������������%����������
������
���'������
$�"

– ���������������	���$����
������������������
����$��
����
������������
����	��

– �	���������	���'�����
���
���������������������������
������J�����#
��	���
�$�	��<�������	 ����	�������	��������JM<�

������	�����������������"
– ����������������
������������������
$��

>�����	����
�������������	��������������
��"
;���������������	������������������5����������������������	��������'�6"

– ���������������������������
��������	���
�����������	�������
– ����������	������������	 ����	����������	���������
$��
– 
����%�����������������������	������7	������%������!!����������
����������
���������	���
�����������
$��5���������
������	������
J,<6�

+�	�� ��	���	���� ��������� �	�� 
����%���� �������������� ����	����� �	�
�$	��������� ����	��

��� ������
	��� � ����
$�� ������� ���� ��	 ������
��������������.�����������
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���9����@��4���=���������9@.���	�����
5L6.
����	��9��@��4� ��=���������9@.
����������������������
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���9��47����BA� �2�� �� ��BD�� �
;���9��=����
�5
2����	����� 	 ���� ���
�����	�����
���� ������� L#����������'� (B5)
�����	 ����	��

'9��B9����2��
;�����
��� ��� ������
� J,<
�����	 ����	�������	����'����������
	 ���

����B9����2��
;�����
��� ��� ������
� JL<
�����	 ����	�� ��� ��	��'�� ��������
	 ���
��������������������
�����������	����
��	�$��������������������������������
	 ��$���%����������

�;��9�����BD����;���9��=����
�5

�� �	
���� �������������
�����	���������	 �������%�������

����	��������
��
 �
)���������	�����
 (1 – 2) �	������
����
��$���������
������
���
�������
�
���������%����'�����
��	 �����1�����
��������� (3). ;������������	 ��������
����������������������������������	 �
�	��
����	���������������
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��
�����	����������������	���
����	����
�����������������������	�����������
��� ���	����� ���� �� �� ��������� ����� ��������	��� ���� ����$���� ��� 	����'�
���	���� �� ������
� ����$������ ����������� ���� ���	������������ ���� �����
RENAULT TRUCKS �����������������
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���'�'(���� '�'$������ ��$�
WEBASTO Thermo 90 S

B���� �������	�� ������������
�������	����� ��������
����� 
�	����
�	������	������������	���������������
����
�� �$	�������� ���'���	��� ��'��
���'���	��������������

���������������������������
���516���
J���	�<.
$�������3�9�2J�5�
��
�9���.

–>������
����	���� (12) 
������	���
���<I<�����	�������������������

�������	����'�����������
���$	�#
�������������
������	������������
–>������
����	���� (12) 
������	���
���<�	���<�����	��������������#
�����
��������	����'�����������
�
����	������������

�� ����$� �	
���$� ����
� ���	 ����	�
��	����������������

$��� ��3�9�2J�5� 
��
�9���"
;���������� ��� ��	������� ������

����	���� (12), !
������ ����	����
��������������� ���'���	���
(��������
� �������	�� ������ ����
��	 ��������	����	����

7	�� 
	
�%����e ��������� ����	����
����
��������� ������� ������
	����
����
$���������

$���
����2<����5
������ ����� ���� ����	����� 	 ���
��
������������������������������ ���
����'���� ������������������������

)�
��������
2������������	���
 ���������
�
����
����������������� (11).

��5������5=B (10)
4���	����� �������$� �����
� !����� .
����������������	�����������
����
���
����������������������������	������	�
����	��
����	�����
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����'������ ���������� ����	�

����	�����
���� �'�� ���	 ������ ���� ���������
����	�� ������ �� ��'����� ;������� ��
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�������� 1� ���
��� ���� ���������� �
���
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���
��'���� ���������� ���� ����	��� ���	�
��'������	�
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� 5,I6�� >�'��� ������
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��
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>�'��� ������� ��'���� ���������� ���
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��������������5MY16�
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;������� M� ����� ��� �����
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 ���� !
������ 5,6� 5J�
��	����<6�� ;������� ��� �����
� 5M� �	�� 16�
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"�4���9���	�7���O3�
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;������ M� ����� ��� �����
� 5S6�� ���������� ���������� �����	�� 5,6� J�
��	����<
5��	���	����6�
�� 
������	������ ������ ������������ �������� ������
� �������������
������������������1����
���	���������
����	������������������
�5M��	��16�
"�4��9��2<���4�O3�
��@����F:
;������1�������������
�5S6��3��������������	��5,6�J�
��	����<�5��	���	����6
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���2<�����3�	�=��
��55�������4
;������ ��� �����
� 506�� ��������� ������	����� ���������� 5/6�� �� ������ ���������
�����	����	�����������	�����
7	�� ���������� ���
� �����	����	������� ����	��

��� ������� 5M−16�� )��� ����'��!
J������	����	��������������<������������ ������	����	����������������
)����� ���� ������������� �
������ ���������� �����	�$� �������$����������� ������ /I
���
��� ����������� �������� '������������������ �����	���� 	�� ��������� 
����
�����
=������
����������������������������������������
���

���2<�������=��
��55��������5
�������'��������������
�����
 ��/������������������������������
��������������	�"

�B3���K"���������,�������������
�5S6������������J�,�<�5-6������������'���������������
�������5M−16�����
��������������������������������������������	�����������'�����

���������� �
���
� ����� ���� ������� ������� 5M−16�� )��	����
� ������ ���������� �
�������� >�����	���
� �����	� J� ,� <� �����	����� ����������� 3��������� �������� 5R6
���������������,I����
���
�B3���M"���������L��������������
�5S6��������	���
������	�J�L�<�5-6������������'�����7	�
������
�������������������
���

�������������������,�
�B3���Q"���������/��������������
�5S6��������	���
������	�J�/�<�5-6������������'�����7	�
������
�������������������
���

�������������������,�

$��
��?�9��@���9@���3�9B��9�=����4.
D������	����������	����	����������������	����������"�,LI�����
O�'9�=�������9��2<����F"�������������������/����
�����������
�516���������	�����������

�������� �����	����	������� ����	������ >��� ��	���� ���� ���������� ������� ��'����

�����������
��
 ������	����	�������������������������5M−16�5��������
���������
��'
	����������,I����,LI����6��B�����'��������������	����	������������������	����
�������������� B��� �����	����	������� ��	������ ����
� �	�� ���$� �������� ������
����	�����
O�'9�=������ ���2<���� F"� �� 	 ��
� ������� ��� ������� ��������� �����	����	������
����	��������	������!
����������
����������;���������������
�5M��	��16��	�����������
�����	����	������� 5��������
� ��������� ��'
	������� ��� ,� ��� ,LI� ���6�� B��
����
����	����������	����	�������������������������������������'�����������

����������������	 ����������	�����5������
����	������	�������'�������������
������6��������	�������	������������������
������	����	��������������������������
�������

"�4�	�
�A�9������4�=��
����9��@����
������
���B3���"
;�������,��L��	��/��������������
�5S6���������������������	����'���������������;�
����	�������	������������	���
������	�5-6�
"�4�
�	��9���	�7���=��
����9��@����
������
���B3���"
+�	���������
������	�����	����
�������������������������������	����������������
�5S6
��������������������������	����������	����$��������
�

'�9������
;������� ��� �����
� 506�� >�����	���
� �����	� 5/6� ���������� �� ������ ����������	���
���	����
� ������� .
������ �����	����� ����������� ��� ��������� ����� ��� �$	�������
���������5��������������������6������������������������	��������
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�'�(',������$'��"��

�����2<����.
�	�������
����	����������	���������'������������!
���� �����	����������������	�
�����	 �����������������������$������	� (F22). ������������������������
�506�
;�� �	������� 
����	����� ���� ������$� ��������
�� ���������� �����$������	� (F34).
A�����������'��������������������
����
����������������������������
�506�
+�	�� ���	�� ����	������ ���	�� �
���� ����	����� ��� ���������� ����������� �
���	�!�����������
�������	���
�
'�9��������9�=�9��4���=��7�������3�9B.
�����<���=���
����.
����������������������� ��������'���� ������������������������
���������� ���������� ������� ������ �������	�� ����	�� ������ ����
��������
���	 ����	��  (13) �� �������� ��� ��������
� ��	���� ��	 ����� ������ �������� 5��	���
������������'��	�����	�����5/66�
������������
����������������������������	�!�����������
�������	���
�
$���
�D�����=��5���.���������������
�

. ����������������������'���
	��

. ���������������	�������������

. ������������������'������������	���	������'
	���������

. ��������������������
����$	��������

. �	�������������$	���������������
���
��������
������������	 �����506�������������������5��������	���/�����6�
+�	���������	���������������	�������������������������	�!�����������
�������	���
�

���������
���
�����
(�����������
�����"������
����

������������
������� ����
��� (F34).
7����#��
�����������
�
���
���
����
���	��
�������#���������
����
� ��"��
����
������	��������������������������
������������ �����
���
������� 
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������	
���
������������������������������
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�����
�������
	����
���		�����
��������
��������������;���
�
��
������
���

����������
��������	
�����"��	��
�����
+
���
�������� �������
	����
�����
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WEBASTO AT 2000

����������'��������������������������
�	�� ������������ �� ��'�������� ��
��������;������� ��������� ��� ��	���
��'���������� ��'�� ������� �� �������

������	����������	��

)�
��������
2������������	���
 ���������
�
����
����������������� (11).

��'"���"��!�����)�����)�(���

���� ��	 ������ �	������������
����'������ ���������� ����	�

����	�����
���� �'�� ���	 ������ ���� ���������
����	�� ������ �� ��'����� ;������� ��
�����
� 5,I6�� ����	�
� �������� KM.RR�� �
�������� 1� ���
��� ���� ���������� �
���
��'���������������������1����
����
���
��'���� ���������� ���� ����	��� ���	�
��'������	�
���'������

���9��A������5������9�����
�4���
���
;������ ��� �����
� 5,I6�� >�'��� ������
��'���� ���������� ����� 5R6�� ����
��
���������	��
�������������5M6��	��516�
>�'��� ������� ��'���� ���������� ���
����	��5L6��
�������������
��
���������
��������������5MY16�

mo tu we th fr sa su
��� �� )� ?�� ��� )
� ���

��5������5=B (12)
4���	������������$������
�!�����RENAULT TRUCKS ����������������	�����
�����
����
��������������������������������	������	������	��
����	�����
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���������$�����������	���)	�������	�����������������	����������������	���
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�������������� ������ �������'�� ���	�� 
��� ��	�� ��!������������ �9
����$����������	����������

(�����
�4�
��
�9��4�:
��
�9���A>
Renault Trucks Oils ���3�����4�RENAULT TRUCKS

Maxima RLD 15 W 40 / Maxima RLD Eco 10 W 30 RLD

Extensia 10 W 40 / Extensia Eco 5 W 30 RXD

Maxima 15 W 40 / Maxima Eco 15 W 30 RD

RD : !=�7�6���7�4 RENAULT TRUCKS =���5�	��8����9��9�9��2J�A������2 ACEA  99–E3.

RLD : !=�7�6���7�4 RENAULT TRUCKS =���5�	��8����9��9�9��2J�A������2
ACEA 99–E3 ���� ACEA 99–EN �� �9��<�2J�A� 9��9������ MACK T9 ��
�����
�=�7�6���7�� MACK EO–M PLUS.
RXD : !=�7�6���7�4 RENAULT TRUCKS =�� �5�	��8� ���9��9�9��2J�A� �����2
ACEA 99–E4 ���9��<�2J�A�9��9������ MACK T9 ��
�������=�7�6���7�� MACK
EO–M PLUS.

(�����
�4�����3���:����3��>�=���
�< ZF (+ INTARDER) / EATON
Renault Trucks Oils !9��
��9 API

Prexima 40 CF–4 / SF

Longevia 75 W 80  GL4*

75W80 (GL4)* : ���9�9�<������5����8����9��9�9��2J����=�7�6���7�45 ZF : TE–ML 02
(ZFN 13010)

7������ ��� �����
� ��������$� �������	��� �� ������������ ��� ��������
��
����	
������������������ E3/E4.



E2 �5�	�<�B����
�*�5�9�����B

!9�=�7B�������ER8 – ER 11 – AUSTERAS
(�����
�4�5��9�� P 1340/41/42/45

Renault Trucks Oils !9��
��9 API
Longevia P 80 W 90 GL5**

Longevia PXD 75 W 90 GL5**

HD Eco 80 W 90 GL5
HD 80 W 90 GL5

(GL5**) (�����
�4� ;��9����BG�
������A8� �B���4J����B����2�9�5=���9�����
�9��<�2J���9��3�����45�9��9�������=����������2 n° CEC L48A95�
��KPR°!.

(�����
�4�5��9�� P 1370

Renault Trucks Oils !9��
��9 API
Longevia P 80 W 90 GL5**

Longevia PXD 75 W 90 GL5**

(GL5**) (�����
�4� ;��9����BG�
������A8� �B���4J����B����2�9�5=���9�����
�9��<�2J���9��3�����45�9��9�������=����������2 n° CEC L48A95�
��KPR°!.

7������ ��� �����
� ��������$� �������	��� �� ������������ ��� ��������
��
����	
������������������ E3/E4.



E3 �5�	�<�B����
�*�5�9�����B

)���5��
��5�Renault Trucks Oils.

�B3����5�	�<�BG�5�������	�����5��9���9�9�5=���9���BG�������A*

"��
�9��@�DCI 6 – DCI 11

(�����5���� ��5=���9���

Maxima 15 W 40 �� – 15°C  ��  + 50°C. . . . . . . . . . . . . . . . . . . . . . . . . . . 
Maxima Eco 15 W 30 �� – 15°C ���  + 30°C. . . . . . . . . . . . . . . . . . . . . . . 
Maxima RLD 15 W 40 �� – 15°C  ��  + 50°C. . . . . . . . . . . . . . . . . . . . . . 
Maxima RLD Eco 10 W 30 �� – 20°C  ��  + 30°C. . . . . . . . . . . . . . . . . . . 
Extensia 10 W 40 �� – 20°C  ��  + 50°C. . . . . . . . . . . . . . . . . . . . . . . . . . . 
Extensia Eco 5 W 30 �� – 25°C  ��  + 30°C. . . . . . . . . . . . . . . . . . . . . . . . 

����3��� =���
�<� �ZF  (+ INTARDER) /
EATON

����3����93����5�J���9�

(�����5���� ��5=���9���

Prexima  40 �� #10°)��� + 40°). . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

Longevia 75W80 �� #25°C �� + 40°C. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

!9�=�7B�������ER8 – ER 11 – AUSTERAS

��
��A�5��9�:5��9B>�P 1340/41/42/45

(�����5���� ��5=���9���

HD 80 W 90 ��   – 25°C  ��  + 30°C. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

Longevia P 80 W 90 ��   – 25°C  ��  + 50°C. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

Longevia PXD 75 W 90 ��   – 35°C  ��  + 40°C. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

��
��A�5��9�:5��9B>�P 1370
!9�=�7B�������

(�����5���� ��5=���9���

Longevia P 80 W 90 ��   – 25°C  ��  + 50°C. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

Longevia PXD 75 W 90 ��   – 35°C  ��  + 40°C. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 



E4 �5�	�<�B����
�*�5�9�����B

(�,"���)'"�����')(�

�B3����5�	�<�BG�5�������	�����5��9���9�9�5=���9���BG�������A*

"��
�9��@�DCI 6 – DCI 11

(���� )�3�<�4�9�5=���9���
SAE 5 W 30 �� – 25°C  ��  + 30°C. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

SAE 10 W 30 �� – 20°C  ��  + 30°C. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

SAE 10 W 40 �� – 20°C  ��  + 50°C. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

SAE 15 W 30 �� – 15°C  ��  + 30°C. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

SAE 15 W 40 �� – 15°C  ��  + 50°C. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

����3��� =���
�<� �ZF  (+ INTARDER) /
EATON

����3����93����5�J���9�

(���� Mil.l API ��5=���9���
SAE 40  2104 E  CE / SF  – 10°C  ��  + 40°C. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

SAE 75 W 80  2105  GL4* �� #25°C �� + 40°C. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

75W80 (GL4)* : ���9�9�<������5����8����9��9�9��2J����=�7�6���7�45 ZF : TE–ML 02
(ZFN 13010)

��
��A�5��9�:5��9B>�P 1340/41/42/45

!9�=�7B�������ER8 – ER 11 – AUSTERAS
(���� Mil.l API ��5=���9���
SAE 80 W 90  2105 D  GL5 ��  – 25°C  ��  + 30°C. . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

SAE 80 W 90  2105 D  GL5**  ��  – 25°C ��� > + 50°C. . . . . . . . . . . . . . . . . . . . . . . . 

SAE 75 W 90  2105 D  GL5** ��   – 35°C  ��  + 40°C. . . . . . . . . . . . . . . . . . . . . . . . 

(GL5**) (�����
�4� ;��9����BG�
������A8� �B���4J����B����2�9�5=���9�����
�9��<�2J���9��3�����45�9��9�������=����������2 n° CEC L48A95�
��KPR°!.

��
��A�5��9�:5��9B>�P 1370

!9�=�7B�������
(���� Mil.l API ��5=���9���
SAE 80 W 90  2105 D  GL5**  ��  – 25°C ��� > + 50°C. . . . . . . . . . . . . . . . . . . . . . . . 

SAE 75 W 90  2105 D  GL5** ��   – 35°C  ��  + 40°C. . . . . . . . . . . . . . . . . . . . . . . . 

(GL5**) (�����
�4� ;��9����BG�
������A8� �B���4J����B����2�9�5=���9�����
�9��<�2J���9��3�����45�9��9�������=����������2 n° CEC L48A95�
��KPR°!.



E5 �5�	�<�B����
�*�5�9�����B

(�����
�4�
�
�����<����G�=����
��

��
�����<����4����9�5� Renault Trucks Oils ���5B

2��	������
	���'��
����	���� STARMATIC 3 ATF DEXRON III

)���	���� Fluide FE 4 SAE J 1703 F / DOT4

4������������������������t°  >–15°C STARMATIC 3 ATF DEXRON III
4������������������������t°  <–15°C ST 15M HV ISO 15
4������������������������t°  <–37°C HGF 26 HV ISO 15

4$	�����������'���	� MAXIGEL PLUS RENAULT ��� D*
4$	���� ������������ ULTRACOOLING PLUS RENAULT ��� D*
* : ��'��������
�����

������9��9�B���5�	��

'3�	��<���� Renault Trucks Oils ���5B

RAE )������NLGI 2����'
�����	����. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

	������'����	������������EP

)����� NLGI 2 ����'
�����	�����
RAM 	������'����	������������
���. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

���
	�!������	������

!5�	��

2 G L�����������	���
D������$��������#���������%����

1 D ,���������������



E6 �5�	�<�B����
�*�5�9�����B



E7 �5�	�<�B����
�*�5�9�����B



E8 �5�	�<�B����
�*�5�9�����B



E9 �5�	�<�B����
�*�5�9�����B



E10 �5�	�<�B����
�*�5�9�����B



E11 �5�	�<�B����
�*�5�9�����B
o



E12 �5�	�<�B����
�*�5�9�����B



F1 �G�
����3���?������

��)����&

������4�
����9�4�C����9�5�9�<����A��G�
�	����9�5�3���5*
3����
����� ��� �������������� ������	�� �� ���	
�������� ���������� ��	���
��������������� �� ������	���� ��$���� ��� ������	�������� ���� ��������	�
����	
����
����������	�����?����������
�	���������	
�������������������	���
������������ ������	�� �� ��$��������� ���	
��������� �� ��������$� �	
���$� �
��	�������������� ��$���	
�������� �	��
��� �
����� ��� ��� ��	�������
�� �� ��
�	���	������� ����	
�������� F����T��'�������	�� ��� ��������� ��� ��������������
����%����� �	��������� �������	���'�� ��������� �	�� �����	 ������ �����
���
�
���������$��� �� �����
� ���% ��� ��� �� ����������� ��	�� ������������ ���������
�������	���������������
 ������
����
�
���� ����������

$�������3���?������.��5*�����5��
�7�������9�* F3.
4����������	����������	�������	���<�9������9��

$)�(� ����
7���������������'�������'�����������������	��������	����������
���������	��
��
����	�������� ��	�������	�� ������� E3 (RD)������	���
%������������	�������
������	��������������	�������	��������������������
�	���
�����	
�������

)������������� ����	������ �������	���$� �������
� � � #� ������������ 
�	����
������������� '��������� 7	�� �$� ����������� �
���� ����������� �� �������
� �
����E������'������
�����������	���������
������������������������������	��

!5�	�<�B��5�9�����B
.�	���� �����#��'�������	�� ������ ������	���� 
������� ��������� ��������$
�������	�������������� ��
�����������
 ������
����
������$������������	�
�
A����T��'�������	�� ������	���� ������ �������������� ����	������ �������

�������

!�3�2
�����;9�G����9���7�A��34	�9��@��*
B��� ��� ��	���� ��	�'� �	���	���'�� ������ �	
����� ��� �� �������	����� 
�	����� �	�
�������������'��������

��������
�������
������"��"�
�
��

�����������;����
��
�������
��'�"������
�����'
���#��	��� �� ������ ���;��� ��
�� "������� �� ��"	�� �
�	�
�� ���� ��'�

���
����

����'�
�;��
���������
���
	�������	�����'
������
��
����

$�������� �����4� 5����� 5�� 	 ���� �'��'���6�� 2������� ���	�� �	��
��� ���'��
���������������������$�
�	����$�5��������	��	������'�
�����	���������'�
���6�
��������
�'��������	���
��	����������������%�������������1����
�����	����	��

�������������'���	��

$)�(� ����
������@�5�����
��
�9��4"��	����	��������'������������
����������	�����'���	�
�	��
��� ��'
	�������� ��� �����%��� ���'���	�� ���	�� �	���	���
� ���������� 5��
����%����
$������6��;���������
������������
�����

– ��������	������$��������
���������
"����������
�����������������
��������	��

– ��������	�����������������
���������
"��������������
����������������
��	�������<����'�<�

'=��3���������9�5�3��4����
���
�
���	������	�����������'����$�������'�����	
��������������������	����������
��	���� ����������� �����	���� 	�� ��	�������	�� ����	� ���� ������������
�
�����������������	
������������	
������ ���������	��



F2 �G�
����3���?������

��3��7�� ��	�BG� �=���7�A� �3���?�����48� =���<��5�4� ��� 
��=���� =��3����A� 
����8� �
	�����5��9���9���9���������A�=���5�9�������
$�)�'"� �'!�������� �!�'�'�'+!��,�����&
��%� ��������	�� ����
������ �������
�� �����	� ��
� ��������������� �	�������

��$���	
���������������������'�������������	
�������
<.�������
<� 
������	�� ��$���	
������� (G9) ���������� ��� ������ ��������
� ������
����
��������������	��������	��������	���������������������	
�������������9�����

��������������	��������
�9������������
����������������
��������	�������������������������������	�����'��
������	����������	�����������

��������	��
����������
	������������� ��������
������$��������
����	
������ �5���
���� C18 → C21)�� ������ 
������ �$� ����� �� $��������� A�������� ��� ��������������'�
���������������
�	����
 ������!������������	��������������	�������$������$��	����
�������� ������������$� ���'���	��� ������� � �� ���� �	�� ����'�� �	����'�� �����
���	
��������

��5=����9 ��=6������C
������

9�G�3���?������

$��6����9�C
<�����

9�G�3���?������

�5* 
�9� <��B

D�����������	� X* X X

D��	���������
�������

X X X X

D��	�������� X X X X

4$	���� ���
��������

X X X X

F����������
���	�������������

X X X X X

=��������'���	� X X X X

����
%��
�!�	��� X X X X

4�
%���	������
$� X X X X

=�'	���������

������

X X

��������
������	���'�
��$�'��!�

X X

x* : #<A�!������������<���$���	
����������������'�����	
��������5DI6�5���	�<I<6�
#<���!�	�����������<���$���	
�������������	���

7	�� ����'�� ��������	��� �� ����� ������������� ���	�� ����
����������� 	�%�� ��	���
��$��������� ���	
�������� ���'���	�� �� ��
%���	�� ����
$��� ��� �	
�� � �����'�
��$���	
�������� <DI<�� ������ ������	���������� �� ��
'��� ����������� �� ������ �
$������������$��������
������!������������
��	������
�������	����
���$��������

���	
������ ������������	� ��������������$���������������
�����	
���������%�'�
��������	���B���������	����������������������������������'������'�������������
”INFORMAX” (3;F4=D(>)6��	�����'����������'���������� ”DIAGNOSTICA” !����
RENAULT TRUCKS. 4�����������	�����
����������������	�!�����������
�������	���

������
���'����������	��!����#��'�������	��
F$��6����9�<�����F�9�G�3���?�������"�������������������������	
��������������	���
��������� �	���������� �����	���	��� �� �$� �������� ���������� �������� ��� 
�	���
� �
������$�����	
�����������������	��
F��6������������F�9�G�3���?�������"�����������������������$���	
��������������	���
����������������	������������� �



F3 �G�
����3���?������

$����4��5����5�����:=����<�9�����=����
�������>

')���
KM

')���
���23BG�������4G�;��=���9�7��

7��'���	� DCI 6 20 000 �	��0���������5<DI<6
7��'���	� DCI 11 30 000 �	��0���������5<DI<6
D���  P 1340 – 1341 –

1342 – 1345 – 1370
���
�������	�
)�
�������	9�

20 / 30 000 �	��0���������5<DI<6

�������BG�������4
;��=���9�7��

�����5��@�BG�������4G
;��=���9�7��

>�������������� ZF 
9.S 109–16.S 109

16.S 151/181 
ASTRONIC
INTARDER 

2��	����������������

200 000 �	��L�'��� 300 000 �	��L�'���

>�������������� EATON
5206 – 8309

2��	����������������
200 000 �	��L�'��� 300 000 �	��/�'���

���
�����
�
3
4�$
 �(#%�
50'&'�)��%���67
0��! #(�,�8
�� �.
 0��"��
 37
 777
 0�
 9
 $��.�'�%*
 ()#0& #'#4��1
 ��+��&.�
 $:�!�#,#
/$% #1$%'�
&
0 ;0�
! &:�!�8



F4 �G�
����3���?������

��9������B���������3���?�����4�:=����<�9�����=����
�������>

RENAULT TRUCKS

�(

RENAULT TRUCKS
���23BG�������4G

')���
RENAULT TRUCKS

OILS $��6����9�C
<�����

9�G�3���?������

��=6�����������
�

9�G�3���?������

 DCI 6

Maxima Eco
Maxima

20 000 7��'���	� DCI 6 Maxima RLD Eco
Maxima RLD

�����
����������
��

20 000 �	��L�'���

Extensia Eco
Extensia

�
��������������

������

 DCI 11

Maxima Eco
Maxima

�
����	
�������
������������	��

40 000 7��'���	� DCI 11 Maxima RLD Eco
Maxima RLD

���������������
�����	��� 40 000 �	��L�'���

Extensia Eco
Extensia

���
�����
�
3
4�$
 �(#%�
50'&'�)��%���67
0��! #(�,�8
�� �.
 0��"��
 37
 777
 0�
 9
 $��.�'�%*
 ()#0& #'#4��1
 ��+��&.�
 $:�!�#,#
/$% #1$%'�
&
0 ;0�
! &:�!�8



F5 �G�
����3���?������

��9������B���������3���?�����4�:=����<�9�����=����
�������>

RENAULT TRUCKS

�(

')���
RENAULT TRUCKS

OILS

F��6������������F
9�G�3���?������

')��� OILS �������BG
������4

;��=���9�7��

�����5��@�BG
������4G

;��=���9�7��

>�������������� ZF 
9.S 109–16S 109
16.S /151/181 

Prexima 40
90 000 �	��L

'���
160 000 �	��L

'���
16.S /151/181 
+ INTARDER

2��	����������������
Longevia 75W80

200 000 �	��L
'���

300 000 �	��L
'���

>��������������
ASTRONIC

+ INTARDER

Prexima 40 90 000 �	��,�'�� 160 000 �	��L
'���ASTRONIC

+ INTARDER
2��	���������������� Longevia 75W80 LII�III��	��L

'���
/II�III��	��L

'���

>�������������� EATON
5206 – 8309

Prexima 40
90 000 �	��L

'���
160 000 �	��L

'���
5206 – 8309

2��	���������������� Longevia 75W80
200 000 �	��L

'���
300 000 �	��/

'���

D��� P 1340 – 1341 
HD 80W90

HD Eco 80W90
80 000 �	� 2

'���
120 000 �	� 2

'��� P 1340 – 1341 
1342 – 1345

���
�������	�
Longevia P 80W90 120 000 �	� 2

'���
240 000 �	� 2

'���� 
 �
)�
�������	9�

Longevia PXD 75W90 240 000 �	� 2
'���

400 000 �	� 3
'���

D��� P 1370
Longevia P 80W90 120 000 �	� 2

'���
240 000 �	� 2

'��� P 1370
>�	9�������
����

Longevia PXD 75W90 240 000 �	� 2
'���

400 000 �	� 3
'���

���
�����
�
3
4�$
 �(#%�
50'&'�)��%���67
0��! #(�,�8
�� �.
 0��"��
 37
 777
 0�
 9
 $��.�'�%*
 ()#0& #'#4��1
 ��+��&.�
 $:�!�#,#
/$% #1$%'�
&
0 ;0�
! &:�!�8



F6 �G�
����3���?������

(R�.�$�������3���?�������:=���=����A��5����5�9����
��5����>
(K�.�$�����?
�A��5����5�9����
��5�����:��<���4����9���A��5���>
(Q�.��?�
�
��
()�.�'��3����3���?������
A :  ���	���?
B� 800 000��5�=��3�
�
B :  ���	���?
B�  400 000��5�=��3�
�
C :  ���	���?
B� 200 000��5�=��3�
�
D :  ���	���?
B���KMR�RRR��5�=��3�
�
E : )�	���9���
�
��������?
B�  400 000 �5�=��3�
�
F : ��?
BA�
�
�����<���	���?
B�  120 000 �5�=��3�
�
G : )�	���
���
�
�
H  : $�����?
�A��5����5���������3���=���
�<

���'+!��,������ M0 M1 M3 MP
)	�������	������	��
 ��$�������"

3���������������������	�����(�5*��9�. F3/F5) X
>���
��'����
��	���������	���� E
)��������$	������������������������������:������
���	���� E

7��'���	� X X
A����
������5�5*��9�* F3/F5) X X
=��
�������	����
�������	�� (�5*��9�. F3/F5 ) X X
.��	����
�����5�������6 X
����	�������������"

A�����������
�����������	���'����'���� F
A������������'���	���������
%���	� (DCI 11 / DCI 6) D/G
A������������'���	�������������
����'����
��	���	���
	� X X
A�������������$��	���������
$�'������
%��'��!�	������
��������������� X

A������������$��	��������!�	�����5!�	�����6��������
���	��� X X

A������������'���������������������'����������	�
�������'�����	� X X

A������������$�������������	���$�!�	���������'���	� X X
A������������5��
6������	��������'��������� (DCI 11) B
A�����������
 (DCI 6) D
A������!�	������������	������
$� X
A���������	���'��!�	��������������������� (ZF + intarder) H
A����
�$	���'���������
%���	���'��!�	����� G
A�������������'����	����'�������������������'������
(DCI 11) B

A������������5��
6������	��������'�����������. (DCI 11) C
A�������������'����	���������	���������'���	� (DCI 11) A
)��������������
�������������
�	������
�(������	����
������� ��
������ (HENDRICKSON)) G



F7 �G�
����3���?������

(R�.�$�������3���?�������:=���=����A��5����5�9����
��5����>
(K�.�$�����?
�A��5����5�9����
��5�����:��<���4����9���A��5���>
(Q�.��?�
�
��
()�.�'��3����3���?������
D :  ���	���?
B���KMR�RRR��5�=��3�
�

���'+!��,������ M0 M1 M3 MP
����	�������������"

)������ %��������� ��� ��� ��$� ���	����� "� %�������
�����
�� �������� ����	����E�������� ������� �� ������$
��$����������������������
���

X

4����������� X X
4�������!�	�����'�
��
������������	��� X X
����
��������
%��$���������� X X
=�'
	���������������	  D
=�'
	�������'����'��������� “J” D
4�������"

>����������� ����
%��'�� ���������9��� "� �� ������

�����'�� ����
$�� �	�� '�����
� ����� ���� ����	�%��
���	�����������������  ��������������������5�B=���4A9�
;9���=���7�2�����<��������B�������<������9�6

X

)��������������!�	�����5!�	�����6�'�
��
��������
���	��� X X

F�	�����������	������
$� X
F�	�����������������'���������'���	����� X
)���
���������������
��������������
$���5�	���������
���
�
� '�����
� ����6� ���� ����	�%��� ���	����
5�B=���4A9��;9�9��G�
�����<��������B�������<������9�6�

X

=�������5�6���������
������'������
$���	��'�����
�����
��������	�%������	�����������������  ������
����������5�B=���4A9��;9���=���7�2�����<��������B����
��<������9�6

X

B	����������	���	� X
���������.

@�������5����	����6�����	 ����	��������
�5��'���6 X
8��������������������
���������	���$��������� X
8���������������������������� X X
8�������������'����
��	���	���'������
��
�������������������� X X

8�������������'����
��	���	���'������
����
	���'�
��$������ X X

8��������������������������������
$��5��	������
� ������$���
�����������
�$��
������6

X X
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����3���?������

(R�.�$�������3���?�������:=���=����A��5����5�9����
��5����>
(K�.�$�����?
�A��5����5�9����
��5�����:��<���4����9���A��5���>
(Q�.��?�
�
��
()�.�'��3����3���?������

���'+!��,������ M0 M1 M3 MP
���������.

8�������������'�����	������'������
���
�	������	���� X X
8����������������'���	��5���	��$	���'��������	���6 X X
8���������������
��������E9���
�������
���� X X
8�������������������5������6�5���	�6 X X
)��������������������������	�
����
���������� X
)���������
�	����
	���'��
����	�����5	 !�
��
����:%�������6 X

)�������������������%�������������	����������������$��
�����$

X

)���������%�������$����	���
����������$�'����%�� X
)��������������������������	���������	�����
���'����$
%	��'�����������
���
	���
��������
������
��� X

)��������������9�����������	������
���������������

����'������	���
�������������
����$	�������
����'���	�

X X X

)�����������������
���
	���T�	���������	����
���'���	������������������������������

X

)�����������������������������$������
 X X
)�����������������%���������������	�������'������	���� X
4����������������
�����5���������������������������

����	����6

X

)����������������������
�	������������'������	���

������������
����$	������������'���	� X X X

>���	������������5
���
�����������������������
��������6

X

>���	������������������������������ X
7�
�������
	���'��
����	���� X
7�
������ ��'��	������� 5����������� !����� '���������
�'���� ����#��'��	�� ��'��	� ��	 ������ �����
� ���������
�	�!���������	���������	����������
�����
����
���'��	��
������6

X

=����
��������	���$��������� X
7�
��������������'����	�����������	���	�������$	��� X
7���� ���������� ������������� �	��������� ��	������� ������
���'����
����������
��	��
��	����������
������������	 X X

7�
�������	������������������������������'��
����
����
5��'���6 X

7�
�������	���������������	�����������'��
����
����
5��'���6

X



F9 �G�
����3���?������

(R�.�$�������3���?�������:=���=����A��5����5�9����
��5����>
(K�.�$�����?
�A��5����5�9����
��5�����:��<���4����9���A��5���>
(Q�.��?�
�
��
()�.�'��3����3���?������

���'+!��,������ M0 M1 M3 MP
���������.

F
�����������������'��	����������������������
%��'�
!�	���� X X

=������������	���#��������	���$������������������

����	��5������	�����	������
������	�����	�����
���	 ����	������'
	���������	����6

X

)���������$��������
%��'��!�	�����5������������	�
����$�����6 X

3���������������������	���� X
C !����	�5��	��6������������ X
4����
����������%�����������������	����������	���	�
������
%��
������

X

A���������
���������
����
����������	
���������5�5*
�9�. F53 ) X

7	����$�������������������$�������������'����	�
����	���� X

)������������������
����$	���� ��
�������� X
8��������������������5���	����
�������������
������'���	���$����������
	���'��
����	�����
�$	�������6

X X

)����������������!���
����	����$������ X
���������������������'��
����	�������������
������
��������$�����'������������������
���'
	������
 X X X

7��	���������
$����%���$���	�� X X
���%���������������	��������$���
�������������� X
=�����������������������
���
���������������� X
A�����
���	����$�'��� X
A�����
���������	����	�������������5�����������6 X
����������������������������������������
����	���� X
����
����� X X X
���
�	����#���������������$����	���� X X
���
�	����#���������������$����	������������� X X
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"��������

������	�����2J���;����B
���� ������ ��	�
%��� ������������ �'�� ��
������
� �������
� �	9���
%
�������	� ��
�����������$���������������
;�����'�� ����	��������'�� ����
���� ��	���� �����	���� �� ������������� �
��
�����	��
 ����� ���������� B������ �������� ������� �� ����%� � ��� ���
����$���������� �� ��	����� ���������� 5��� ���	 ������� ����'�� 	���� ���'�
����
���6�
���������� ��
���� �	�� ����
���%
�������	� ��
� ������ ����������	����
����
����������������������'��������
�����	 ��������������

��������� 
������ ���	�� ���� ������
��������	���'���
�� (1)�

���� ����$���������� ��������
����$������� ��	�������� ���	�� �����
��	��������������� (2).
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����3���?������

��9�5�3��@���
��
�9���5 DCI 6.

7	������
����������
����������'���	�
����
����� ����� (1) �� �������
%
�����	��
 ��
����
$ (2).
���	�� ���'�� 
���������
%
�����	��
 ��
����
$���������������

��������	����'������������536.

D������ �������� ������� �	����'�
����������" 70 ;��

���������	����'������������ (4)�
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����3���?������

��9�5�3��@���
��
�9���5 DCI 11.

��������	����'������������516�

D������ �������� ������� �	����'�
����������" 70 ;��

���������	����'����������� (2)�
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����3���?������

�����)'������(�!��

(���4�BA� 6��@9�� ��� �5���B5:�>
;��5��9�5:�5�>
7	�� �������� ���������� �E9���
5��6
�	�����5�) (1).
$�����9������ :
A���	������E9���
5��6��	�����5�6 (1)
���	��.
)�������
�	�������5�6����	��.
A�������� ��
��
 � �	�����5�6� ��
���������������������
������ .

���
�����
�
– ��%<�/%*
(# 25+5 ��
– �$!#)*.#'�%*
&�$% /���%
$! 8:

5000262684
– �$!#)*.#'�%*
(&���#��% &4�$0&1
0);4

7�
��� ���'���	 � �������
����� �
����������'������������.
�� �	
���� 
������� ���������� �������
���������� ���������� 
�	������	���

�����$������ �� ���������� �����

!�	����.

��9�5�3��@���
��
�9���5 DCI 6.

��9�5�3��@���
��
�9���5 DCI 11.
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��9�5�3��@���
��
�9���5 DCI 11.

%��9��3�?�BA�6��@9�
)����� ������� 526�� A�������� ������

�	������ 536�� ���� �������� �������
������� 526�� �������� �� ��������

�	������	��546�

���(����-
���� �������� ���	 ��
��� ������
������������������	�������������30�;��
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����3���?������

!�!��(��' �!�����'�"���

��
���9��� 	�������4� ��	
�D��
�
6��@9��
"��?���=�����49@�4���
��4���
+�	�� ���������� 5G156� ����'������� ���
���������� ���� ������
� �	�����
����
%��'�� !�	����� �������� �� �'�
�	��
��� ���������� F
��������������
���������������������!�	������	��
��
������������
�������
�������������� �
��������� �	�� ���'�� �$������ ���������
!�	����� ���� ������� ���'���	�� �
�������
� ��������� ��	������'�� ��	�
,1II���:����

(���
������
���
�	�����	
����

!�G�A���	
�D�BA�6��@9�
A�����
��� ��������
� �
$�

!�	���
 ��
� �	����� (3)� �� �	
���
��'��	������������������	�����'����.
4��������� ����� (1). )������� ���%�

(2).
3��	������ !�	���
 ��
� �	����� (3).
7	�� ���'�� ��������� �'�� ��� �����
�������������������������

��������������������������������!�	���
������ ����� �������� ��������
�	������� (4). A�����
��� �	������ 5M6
������������� �� �����
� ������

������
� ��������'�� !�	���
 ��'�
�	������ (3).
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������ 
��������
� !�	���
 ��'�
�	������� 5�	�� �	�������6� �����	���
�����
������������
���������
�� (6) �
��	�����
�	������	� (7). B�����	�������
��	��������������������
�
;����� �	������� ��� ��	���
������'������ �������� 
������ �
��!����������4����� �������
��� ����

�	������
 (8–9).
���� �������
� ������� �������
��
��	������� !�	���
 ��$� �	��������
)�����������������������
�����������������	���������������%�

(2)�
����������������������������������
���� ���������� ��������� (10) ��
������������	����������%�����������
���
������	  (11).
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!�!��(��'���,"���&�

$��
�G�����������9�5B��G��?
���4���9�<��������
��
�
�
(�������	��������	��������������	����
��$	���� ��
��������� �������JULTRACOO-
LING PLUS<� 5������������� Renault Trucks Oils6�� �������� ����������
��� ��$��������
������������ ��'�������	�� #� RENAULT TRUCKS.� B��� #� ��������� ���� ���������
��������������������������������
�������������������������������������������O�������
�������������
����������������������������
��$����#L1°)��������	����
����$������$
��������
��$� �	��
��� ��������� ������ �$	���� ��
� ��������� ������� ����!�����
JMAXIGEL PLUS<�
��QW1�U�JMAXIGEL PLUS”��	������������������$	���������#�������������
��$
����#//°)�

��Q,I�U�JMAXIGEL PLUS<��	������������������$	���������#�������������
��$
���#MI°)�

$)�(� ����
4$	���� �
 ��������������������������������������9$�	����	��MII�III���������'��
;�����������������������
��������	
���������	�������	����������'���������	��

��
��	�����$	���� �
 ����������JULTRACOOLING PLUS<�
�� ������������� ��� ������ ������������ ��������	�� ������	������ �� �$	���� ��

��������  “ULTRACOOLING PLUS –35°C”� 5�	�� ���
��� �����$� ��������
�6��4�� ����
�������	����
������	������������������	�����������

���(����-
4$	���� �
 ���������������������	
������	�������%����������
'��������!��������	�
����
'�����$	���� �����������������A���������������	�������������#�����������	�
��������

)�
��9��:B>.�<��9��������?�
4����������'���5��	���	�����������
�	������������	��	���6��	��������	
������'������
��'��	�������� “DANGER<�� 
������ ��'�� ����'���� ����� ����������� �	��
��� ����
��
�����������������
$����	��'�����
����
�
���	���'�����������

���
�����
8���������'
��;���� �;��	��
�'�
����	���������"���'�����
���

��9�5�3��@���
��
�9���5 DCI 6

'9��2<�2J�A�4����9��49��
��	 ����������'�������	�������������������������
�������
$���$	�����������	���'�
���$�������� ������ ���������� +�	�� �����	����� ��� ��������� �	���	����� ������� �
��������
���5�������������6�#���%��-1°)���������$�����������������	�������������

��	���� ����	����� ���	�!������������ ������	������ �	�� �!����	���

��	������������'������!�����

��9�5�3��@���
��
�9���5 DCI 11.

$���9����5BA����9��49��
��	 ������ ���'�� �����	������ ��	����
����� �������
� �	���������
�� +�	�� ����
�����	���������������	�$��������������������������'������
������	� (G5)�������	����
��'��� ��	���� �����	����� ���������������� ���	�!������������ ������	������ �	�
�!����	����
��	������������'������!�����
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!�9�����
��9���
)�	3����.
4����������	�����5,6�
4��������������
�5L6�
4����������
�����5/6���������������

5L6�
'<��9��.
�� ����	�� ������ �	�� 	���� �������
��
����
� 5L6� ���
�
� �����'�� ����
$�� �	�
'�����
� ������ ���������� ��	�%��
���	����������������
�����
!3����.
7�
���

��� �� ��������� ��������
������
� ���������� ����������
�����	����	��������	����������
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'<��9�����
��9���������?�
7	�� �������� ���������� ����$�����
������ ��������� 5,6� ����
$�� ����
��
(RAS).
)�����������
�5�������. F18).

!� ���
�7�����������5� ��	
�G�.
�������� ������ 5L6� ����	����
������������� 5/6� �� ����������
���������������������
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=��������� $��
��� 5M6� �� �������
� ����������
����506�
4���������� $��
�� 5R6��)������� �����
51#,I6� )������� ����	�� 5S6� ������� �
� ������
���
���
�������%��
����5-6�
���������� ������� ���	�� ���������
(RAS). �����������������������������
������5,,6�����
���������������
���	�� �������� �������� ��������� ��
�������7�
���

����������������������
���������������
����������
A��������$��
���5M6����������0�;��
2���������� ����
� ���������� 5���� ���.
F18).
���������� '������������� ����
��
����
$������
���
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'=���?���������9�5B�:����>

��9�5�3��@���
��
�9���5 DCI 6.

7	������
����������
����������'���	�
����
����� ����� (1) �� �������
%
�����	��
 ��
����
$ (2).
���	�� ���'�� 
���������
%
�����	��
 ��
����
$���������������

0�5��	�����2J���=����� (2)
���� 	 ���� ������������ ��
������

�������
� �	����� ����	�� ����
����� ��
�������
)	������ ��� ����� ������ ��� ��������
�	����� ����	�
� ��� ������	�
����	���������� ����������?������� �$
�	��
��� ��'��
� ������
� ���
����$��������� ����	��

��� ��	��
 
���
�5�������������
'�$�����������	�

�����������6�

��������
/����
��
���;��������
���
�����
���
���� "������� �
�"�
����� 
�� �������
������
�� ��
������ ��� ���
����
��
�����
��� %��
���;��&� ��� GDI
�����
������	��@���������
�����@�%G&�
������ �
�"�� ����������� ��
���
��
5���
�� ����	�� ����
��"�� �

���
��
������������ �����������
��������
���

���(����
7	�� �	���� ��������� ��� ����
��
�$	�������� ��
���

��� �	��
 ���
�������"

– 2���������������������������
��
 (5) �����	�������<���	�<�

– 7�
�����������������'���	 ���
��������/����
�������������
,LII���:������������������������'��

– 3��	��������	���
 ������
 (2).
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������ ����� ���� ���	������ �	���
 
�����
 (3), 
��������� �� ����� ���� ���
����������5�
�����
�����������'�6�
D��������������������: 2 ����

��9�5�3��@���
��
�9���5 DCI 11.

)������������
 (4).
D��������������������: 80 ����

��9�5�3��@���
��
�9���5 DCI 6.

)����������
�5������6����	����������
546�
D��������������������: 25 ����
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)����������
�5�	��������6 (10) 5��������
�����	���	�� ZF INTARDER).
D��������������������: 35 ����

��=���������9�5B
A������������������	��������	������
���������������'������������$������
��	���������$	���� ��
����������
����������� $���%�� 	�� �����
��
�	������������.
�����������������
�����	�����������
��	�������<���	�<�
������������ �������
� ����
��� �����
��������� (2), ������� �����������
������ ���	 ����� !�����������
�
������������
$��
A�����������	���
 ������
 (2).
7�
�����������������'���	 ����������
/����
��������������,LII���:�����������
����������� �'�� 7�	�
��� ��� 
������
)����� ��
��� ����������� ���'���	 �
���������� 
������� �� ��	�
���� ��	�
����$������
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�'$�����&�!�!��(�

��=����BA�3��
�� 
��������� �������� �������� ��������
����� �������� ���	����
� ���� ��
�������
�� �������� ��'
�� �� ���� ������������� 7	�� ���'�� ������
��� �����

�	����'������������������������	������'�������������	������������
��������
�

$��
��������9�5B
����
����	 ��
�������������$���������	��
 ��$��	
���$"
#���	���	���	���'����������
#������	��
����������	�����������
#��������������	���������!�	�������
#���������������	���������'���	�
���'���%�
�����

0�5��	�����2J���=�����
���� 	 ���� ������������ ��
������
� �������
� �	����� ����	�� ����
����� ��
�������
)	������ ��� ����� ������ ��� ��������� �	����� ����	�
� ��� ������	�
����	���������� ���������� ?������� �$� �	��
��� ��'��
� ������
� ���
����$�������������	��

�����	��
 ����
�5�������������
'�$�����������	�

�����������6�

���
�����

-���"�'
������������
����
�����������������#���#�
����������� ������
�

������
�
��#�
��

�
$)/4��
$&$%���
'! �$0�
COMMON RAIL:
0�%�,# &4�$0&
.�! �2��%$<
'�!#)�<%*

0�0&�
(�
%#
�&
(�)#
"�1$%'&<
$
0#�%/ #�
%#!)&'�
! &
 �(#%�;2��
"'&,�%�)�
=#4��*

#!�$�#>8
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���@9��
��3�A��<��9���9�=����

��������
�
���;�����������
��������	��
���
��
��
#�
����������
	������
������������������
��
��������
�
����;��������������������
�
��%���
��	�
���

����������
�&�

��9�5�3��@���
��
�9���5 DCI 11.

=��������� ������ (1). 3��	���
!�	���
 ��
� �	����� (2). �������
'���
	������������������������
��	�����
�������
� ������� ���������� ���������

�	������	���
�����	���� (3–4).

��9�5�3��@���
��
�9���5 DCI 6.

=��������� ������ (1). 3��	���
!�	���
 ��
� �	����� (2). �������
'���
	������������������������
��	�����
�������
� ������� ���������� ���������

�	������	���
�����	���� (3–4).
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(���
������
���
�	�����	
����

'=���?��������?�G��6��@9��
4�����
�����������
������546�

 ��9��
���	�� �	���� ������ ���
$� 556�� ������
�
����� 516�� �������� �� ����
��
!�	���
 ��
� �	������ 536�� A�������
�'�����	������
�����������������
$�556
'���
	���
���� �������
� ������� !�	����
���������� ���������� �� ��	������

�	������	�
��)	�'��������
��������516
�������	��526�

��������
-���"�'
������������	������
����
�
���������������#���	�;� ������
���� ������
�����#�'
��� �
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���
�����
�
�#!)&'��1
?&)*% 
=?&)*% �>
(����

���������������
���
���	�����	
�
��'����
���'�
����
��"��
����	��
(���������
������� �������������
����� ���#���
����
��������
���
-�������
���������� ���#�'�����
���������
�
����������

�����?
���	���	�����
����@Common rail@���������
�

�
������	���"����������������
�����
��������������������'����	���
��;�����������������;����0����
�
������
��������'
����	����
������@������@���
����������

����������#���"����
��
��"�
�
�
����

���@9���<��9���9�=����
3���	��

��� ��	���� !��������
!�	�����
���� �������
� ������� ������� 5�E����

�	�����6���	����������
���

��5���� �5���BG� 6��@9��2J�G
;��5��9��
4��������� ������� (1). ���� ������
�����������������
��	��	�������������
�$� '���
	��� �� ���������� �������
��
��
 �

$����<���
�	��@��
�����9���
������������� ��
��
� 5L6�� 4���
����
��������
� ����� 5/6�� 4��������� ����'
�������5M6���������������������	������
���������������������
��������
A����
��� ��������
� ����� 5/6�
�����	����� ������� ��� ������� ����'�
�������5M6��
A��������� �������� ����'� ������� 5M6� �

��������
��
�5L6�

��������
-���"�'
������������	������
����
�
���������������#���	�;� ������
���� ������
�����#�'
��� �
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��J�9��
�	��@��
��9�=������9�	�5��	���4

7���	����� ���	���� ������ ����� �����$� ������ �� �������� >�������� ���	���
���	���������������������������������>�������'����������������	���'�����	���
5'���
	�6� $���������
����� ��������
��
� !�	���
������� 5TLF6�� ���
��������
��$���	����$�����������
����
������	
�!�	���
�������������	����
���	���� �����
 ���� ������		�� ����!����� ����
��� ���� �����

���	������������
B��'�����������������������	���������	��������	�������������	�������������
����	
�%��#�������	��
 �������
������������������������'�����$��������	���$
�������$������
������'���
������RENAULT TRUCKS.
���� ����� �� ���
����$� ��������
�� ����	�������� ���	������ ��������

����%� �������������'���
	��������������
�����

– 7	���������������������
��  – 15 °C : ����	��������'���
	��>	���� “E”
(TLF – 15 °C)

– 7	���������������������
��  – 20 °C : ����	��������'���
	��>	���� “E”
�	 ��LIU����������5������6

– 7	���������������������
��$�V – 25 °C : ����	��������'���
	��>	����
“ARTIC 4” (TLF – 44 °C)

$)�(� ���&
a6 7	���������������������	���
��!!�������������������
�������	�����
���	��������������������������
�����%��I°)�

b6 ���F�������5��'	������
�����
 ���
�����������
�����������	����
6���
�����%�����������%����/IU���!�����	�����	�����������

c6 �������$�������$���������%����1IU���!�����	�����	�����������5���
����������	�������	��������������
������
�������6�

d6 D�������
����'�������������������	��������$�����������������
������%���������������������������	����������!�����	����

e6 F��������������������RENAULT TRUCKS�����$��'��������
����������

��������
�
���
�����
3�	������
���� ������
�
���� ��	����
������ ��	������ �

����������
"���'����%0
�����
 EN 590).
�����	��
����������JK������"����	�"�����
����
� ”Bio–diesel”, ���������"�
�������
�������
�"��������������
���	���
�����������

����
�
����
�����
�
�����
� EN 590.
-�������
����� "���'���� � �������'� ��� ��	�������
���� (� ������ ������ �
�
����������"�
��"������
��"����
�'������	��
���
+����	� �����
�
�� ����������'� ����  �������� 
����
�� 
� �����	� � ���� 

	����
�� ����;�
� 
��
�
�� ������	���� 
� ���
����
����
��"�� ��
������(

�	�������������� �������������
��
�
��
����
����������
	��
�$!#)*.#'��&�
,# ;4�,# ”Aquazole” $% #,# �����@���
�
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$�
�
����9��@�9�=����
B�������
�������������	��������������������
���
������	�!�	���
������
����	���'�����	�����.�������
���
������	�!�	���
����������������������
����������'������	���'�����	����

���(����-
+�	�� ��������	�� �������� ����'������	��� ����	���'�� ���	����� ��
����	�����������	��������������5�����������������6�����	��
���

�=�B�� ”COMMON–RAIL”
��������������� ����$������� �������� ���	����'�� ��������� ����
 ���� �	�
	 ��
�������
��������������������������������	����������'����$�����

$)�(� ����
4�����
�������������
 ����
��	�����!����	����
������������	 �!�����

��)+'�'($)�!!')

��=���
���9��3���5=�������.
;������	����� ������� �
��������������� �����
��������� ��� ������������

��������� ���'���	��� �������	����
� %
�
�� ����
����� � ���	�� ��
������� ���� ��		�������� �� ����$� �	
���$� ����$������ ����������� ��
�	���
%
 ��������
 ������� ��	������������$�������'�����	
��������
;�����$�����������	���$���
����
����������$�����������
��
���������������
����	���������	��
���
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�'�'����%����")'�

��	�������5B���

��9�5�3��@���
��
�9���5 DCI 6.

5����$�	���������'���	�6
;����
����$��	�����$"�0,25���
;�����
����$��	�����$"�0,50���

��9�5�3��@���
��
�9���5 DCI 11.

5����$�	���������'���	�6
;����
����$��	�����$"�0,40���
;�����
����$��	�����$"�0,70���

)�
���������	�	����
����
��9��5�	� “J” 3,05 ± 0,05 55
7	�� ����	������ ���
� ���������� ������
����� �� ���'����
����������
� �	�� �

��	����������
������������	 �
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���&,�����$)��'"�'�'�)�(�&

���(�����-
+�	�� ������
����
� ����
��������
����	��������� ��
$� ��������$� �����

�	������'������'�����������������������
����'�� ��� �����
� �������	���
������
�������

���9���@�BA�=��3��" SEEM 8251

(�9�
�������9���4
– ����'
	��

�������������
– 7�
������'���	 �����������
���������,�����

– ����������������'
	��

�������#
�������������

$)�(� ����
���� �������� ��������$� �����

���������� ���������� �	��
��
������������ ������������� ��� ����$
�����$�
���� ����������� ��$�������'�
���	
�������� ����'�
��� ���������
���	��� �$	���� ��
� ��������� �	�
��������������������������

���<���4���94?���4
>�����	����� ��	������ ���������
��������������
����$ SEEM.

)�5��@ (��*

��= �C�� ���BA +� 	��<*

AV10 2 87 → 95 66 → 73 56

AV 13 1 65 → 70 52 → 57 48



F32 �G�
����3���?������

��9�5�3��@���
��
�9���5 DCI 6

������9��

4�����
��� ��	��� �� '�
��� 51–26�
;�����������������'
	��
�����������
536��A�����
�����	�����'�
���51–26�

(���
������
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���������������������'�
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�������� �������������'�� ���������
������5L6�
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��������� �
������������������E����
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�����<����4����9�5�.
#�����������
������������������������1
#���	������������	������������
���

�����
����������

7	�� ����
��� �� �����
� ������ �������
�������� �������� ����� (1) �� �������
%
�����	��
 ��
����
$ (2).
���	�� ���'�� 
���������
%
�����	��
 ��
����
$���������������

0�5��	��47����B��=����� (2)
������������������
������
��������

�	���������������%
�����	��� �
)	������ ��� ����� ������ ��� ������
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������	������	����� ���������������
7	��
��	������$���	��
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���� ����$��������� �����'�
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�����
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4���������� ���'���	��
���������	�������� ����� ����	�������
������5������	 �����������	����6�

A" ����
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������

>�'�����	����� X ��%	���� 25±1 �������
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�')'+���$�)�"�  EATON 5206

)	�������������5,6�

��������	����	�����������������
�����
5L6�

!�=��� (3)
�������� '���
	���� ����
��� ������
����
$���������
��������
����������

D�������������������� (1–2) : 35 ;�

�')'+���$�)�"�  EATON 8309

)	�������������5,6�

$)�(� ����
)����� 5L6� ������	���� ��� �������
����������� ���� ������� �� ���
%���
�����������
$���

��������	����	�����������������
�����
5/6�

!�=��� (4)
�������� '���
	���� ����
��� ������
����
$���������
��������
����������

D�������������������� (3) : 35 ;�
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�')'+���$�)�"� �ZF

��= ZF 16.S 109 / 9.S 109

!���
)�������������
 (1–2).

$)�(� ����
���� �����
� ����
� ��������� ��������

�	������	����������������'����

��������	����	�����������������
�����
5/6�

D�������������������� (1–2–3) : 60 ;�

!�=��� (4)
�������� '���
	���� ����
��� ������
����
$���������
��������
����������
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��= ZF 16.S 151 / 16.S 181

!���
)�������������
 (1–2).

$)�(� ����
���� �����
� ����
� ��������� ��������

�	������	����������������'����

D�������������������� (1–2) : ∅38 : 120
;� / ∅24 : 60 ;�

��=�����
;���	��������	������������������ (3).
>�'��� ���	�� ����	�� ����	��������
��������������
���	����'������������
)� ������������ ��������	���� ����
���'���	 ������������������	������1
���
���A������������������'����������
����������'���	 ���������������	�����
1� ���
��� )����� �����
 (3) �� ��	���
���	���)��������������������
�

!�=��� (4)
�������� '���
	���� ����
��� ������
����
$���������
��������
����������

D�������������������� (3) : 60 ;�
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��= ZF 12 ASTRONIC

!���
)�������������
 (1–2).

$)�(� ����
���� �����
� ����
� ��������� ��������

�	������	����������������'����

D�������������������� (1–2) : ∅38 : 120
;� / ∅24 : 60 ;�

��=�����
;���	��������	������������������ (3).
>�'��� ���	�� ����	�� ����	��������
��������������
���	����'������������
)� ������������ ��������	���� ����
���'���	 ������������������	������1
���
���A������������������'����������
����������'���	 ���������������	�����
1� ���
��� )����� �����
 (3) �� ��	���
���	���)��������������������
�

!�=��� (4)
�������� '���
	���� ����
��� ������
����
$���������
��������
����������

D�������������������� (3) : 60 ;�
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��= ZF + INTARDER

!���
)�������������
 (1–2).

$)�(� ����
���� �����
� ����
� ��������� ��������

�	������	����������������'����

D�������������������� (1) : ∅38 : 120 ;� /
∅24 : 60 ;�

D�������������������� (2) : 60 ;�

��=�����
;���	����� ���	��� ��� '��	������ �����
��������� (3). A����
��������
 (3).
���	�� ��� ���
��
� ����� ,� ���
��� �
	���
��������	���� ��� �������� � �����%� ��

,I� ��:���� �� ��� ��	��
���� �����	���	�� ZF
Intarder�� ���������� 
������� ���	�� � (3) �
�����
��������
�������������������0I�����

��5����5���4��
��6��@9���	�5�
��9��4
)����� ���� (4)� �� ���%�
 (5)�� ����������
�����
�!�	���� (6).
�� ����
 � �������� ��������� ���	��
��	������� 
�	������� (7–8)� �� ���������
!�	��� (6)� ��� �����. ���� ������ ���������
������������	�����'��
�	������� (7–8)������
����$���������������������'��������
�������������'��� (9) �������
�!�	���
�
����������������������%�
 (5)������������
������ (4) (�����
��� ����� ��������� �� L/
����).
!�=���
�������� '���
	���� ����
��� ������
����
$���������
��������
����������
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'�+')�('/�'!��

��= Hydrocar 2266

!���
)�������������
 (1).

$)�(� ����
���� �����
� ����
� ��������� ��������

�	������	����������������'����

D�������������������� (1) : 50 ;�
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$'"��(�I/�&!&�'!�

!9�=�7B������
!���� 5����"� �������� �����
 (1)�� ��'��
������$�����������
�
��=�����.����	��
�������������������5,6
����$
����	�
�� 0,7 	��������	��������
 
��
���
������������������
�5,6�
$�������� �����4.� ���� '��������	����
��	�����������������5,6����	����	���
��$�������������������������

D�������������������� (1) : 30 ;�



F42 �G�
����3���?������

��"����('!���

��= P1340–1341–1342–1345

������� ������	���T��	����'�
����������5L6�
��������	����'������������5/6�

D�������������������� (2–3) : 50 ;�
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!���.� 7������������� �����
� 516�
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 ������������	�������
���9���@������4.�)���	�����	��������

������	���� �����������	�������� � ���
��������	����	������$���������
�����
����������516�

�������
������� 516���	���������
������	�����
���$���� ��	�������� A�	���� L�1� 	����
���	�� �� �����
� ���
������ ���	�� ��'�
�������� ���������� ������
� 516�
3���������� ���	�� �������� �� ������
��������������
?����� �����
� �������� ��	���� ���	���
���	��� ���	���� ����
����� �	�
���������	����������	���'��
������

$)�(� ����
���� �����
� ����
� ��������� ��������

�	������	����������������'����

D�������������������� (1) : 30 ;�
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��= P1370

������� ������	���T��	����'�
����������5L6�
��������	����'������������5/6�

D�������������������� (3) : 50 ;�

D�������������������� (2) : 35 ;�

!�=��.
7������������� ��
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� 516� �� ����
��
������� ����
$��� ��� ��������


���������

!9�=�7B������
!����.���������������
 (4)����$����
 ��
����
�
���9���@������4. 2��������������
�(4)��
��	�������“A = 30 55”���������������	�
��	������$���������
���������������

�������
������ (4) ��	���� ����� 
������	���� �
���$���� ��	�������� A�	���� ,� 	����
���	�� �� ����
 � ��
���
� �� ���������
�����
 (4).
3���������� ���	�� �������� �� ������
��������������
?����������
 (2) ����������	�������	���
���	��� ���	���� ����
����� �	�
���������	����������	���'��
������

$)�(� ����
���� �����
� ����
� ��������� ��������

�	������	����������������'����

D�������������������� (4) : 30 ;�
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��5����6��@9��2J�
��;��5��9�
)���������	���
 ������
 (1). ;������
���������������,:M����������
��
 (2).
)������� !�	���
 ��
� �	������ �
������� 2���������� ����
� �	������
�������� �� ���������� �
��
 (2) ��
����	�������� �������� ������
����
����������
����������	��
����������
(3).

��=��������=��
��������9���

���������������������������	��

A�	������	����� ����	����������	����������������������516�����	����'������

��������������������	����
������������������	�����������������������������
��������	� ���	������������ ��
� ������� ���� ����� ����������� �����	���
���	������	����'����������������������	����
��������������'���	 �����������
��� $�	����$� �������$�� ������
��� �
	�� ����������� ������ ��� ����'�� 
����� �
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������	�����������������'���������
$������������
������������
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������	 ��������
�����������������$��������
��������� ���	��� ���� ���� �	��
��� ���������� �����	���� ���� ��� ��$� ����� ����

����������	�����������������������

4���������� ���'���	�� �� ��	���� ��� �
���'�� 
������� 4�
������ �������
��������	��

2�����������%�������������
	��������	�������'��������	�������	������
��������	��������������������$���������
���
�����������
�������	���������	�
�����	���������������������������������

����������
����������	� (3) ����	�
������	������$������������������
 (1).
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� ������ �� �������� ����
��������� ��'�������	��� RENAULT
TRUCKS�
A�������������������������	��������������$��	�����
�����������������	��
3���	��

������������

�����	����������E���������������������������������
����� ����!����
T��'�������	�����RENAULT TRUCKS�
)������������������	����������������������	�����
���������� �51���������
��L6�
)��	 ��
��� ����������� RENAULT TRUCKS� �� ������� �	���������
�
A��������������������	�����	����$������$������	�
�

'3�	��<���4�7��9��=����
��.

@�	�
 Bc @�	 ?����
 N ?������������������� �������� ���������� ��������
>��������
 M >�� )���
 G )�������� �������� ������������ ��������
4�������
 Or 4� O�	��
 J O�������� �������� ���������� ������������
>�����
 R >� 8�	
��
 Bu 8�	�������������� ������������ �������� ��������
F��	�����
 Vi F��	 A�	���
 Ve A�	������ ������ ������ ��������

(���
������
���
�	�����	
������

�������

����"' 1

!�)�� ���
���9��@ 

��	��<���� $����
* $��
�G����9��@

D���� 1������������������������������������������������������������������������������
��������5���	������'�����	 ����	�6 208 F21. . . . . . . . . 

����"' 2

!�)�� ���
���9��@ 

��	��<���� $����
* $��
�G����9��@

D���� 1������������������������������������������������������������������������������
��������5���	����������6 275 F35. . . . . . . . . . . . . . . . . . . . 

����"' 3

��	��<���� $����
* $��
�G����9��@

D���� 1������������������������������������������������������������������������������
=������������������5�	�����������) 618 F21. . . . . . . . . . 
=�����������������Q,L���5�	�
����������������6 4000 –. . . . . . . . . . . . . . . . . . . . . . . . . 
=�����������������#�5�	������������������6 144 –. . 
=�����������������Q,L���5�	���������	�!���6 46 –
=�����������������#�5�	���������	�!���6 155 –. . . . 
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* $��
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D���� 1������������������������������������������������������������������������������
��������5��������	���$���������6 632 F5����������������������

����"' 5

 �)�������
���9��@�

��	��<���� $����
* $��
�G����9��@

D���� 1������������������������������������������������������������������������������
��������5���	������'�����	 ����	�6 208 F21. . . . . . . . . 
��������5���	����������6 275 F35. . . . . . . . . . . . . . . . . . . . 
@	�����������������
���������
�����5��'���) 0403 –
��������5��������	���$���������6 632 F5����������������������

����"' 6

09�=���@��4���	�9�����150 A

��	��<���� $����
* $��
�G����9��@

D���� 1������������������������������������������������������������������������������
G�����	�������������5���������$�������) 201. . . . . 

����"' 7

 �)�������
���9��@�

��	��<���� $����
* $��
�G����9��@

=����������	�������������5�	�����������������
���'���	�) 045 –. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
=����������	�������������5�	�����������������
���'���	�) 047 –. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
=����������	�������������5���	��
����������������)088 –
��������5���	������'�����	 ����	�6 208 F21. . . . . . . . . 
=������������������5�	�����������) 618 F21. . . . . . . . . . 
=����������	�������������5��	����������
��'�
��'��	��������������'����	������������!������'�
����
�������) 651 –. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
=����������	�������������5�	�����������������
���'���	�) 1025 –. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
=����������	�������������5���	��
����������������) 1026 –. . . 
=����������	�������������5��������

�����!������'������
����������
����) 8083 F21. . . . . . . . . 
=����������	�������������5J�����
��'�<
��'��	���������������	����'����	������
	��������'�����
���) 8084 –. . . . . . . . . . . . . . . . . . . . . . . . . . . . 
=����������	�������������5�������'��
������	�
�������
���������) 8086 –. . . . . . . . . . . . . . . . . . . . . . . . 
=����������	�������������5J�����
��
<
��'��	��������������
��'���
����) 8087 –. . . . . . . . . . . . 
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'+')�"'������(�!')'�+')' �'��('"�����%�� “BOM”

 �)�������
���9��@�

��	��<���� $����
* $��
�G����9��@

=����������	������������
5�	��������������'��$���) 608 F41. . . . . . . . . . . . . . . . . . . . 
=����������	������������
5���	��
����������������) 818 –. . . . . . . . . . . . . . . . . . . 
=����������	������������
5�	��������������'��$���) 5026 –. . . . . . . . . . . . . . . . . . . 
=����������	�������������5���'��������	 
������������/I���:�) 5027 –. . . . . . . . . . . . . . . . . . . . . . . . . 
=����������	�������������5���	��
�������	�
$�	����$���������) 8067 –. . . . . . . . . . . . . . . . . . . . . . . . . 

09�=���@��4���	�9�����150 A
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��?�5 $��
�G�*

@	�����������������
��������������� 2. . . . . . . . 
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�B<����9��@�BA�3�����=�������4���	��B5��=�

�9����5� (C.E.C.U.)

)���
�%����� (1) ��	���� ����	 ������� ���	 ����	���� ��� �����	���	���

�	��� 
����	����� �
������� ���'��������� 5������
����� �� ������	���
�
�!����	����
���	��
��	�������������	 ����'���#��������
����� RENAULT
TRUCKS).
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��	��<���� (�J���9@

������������%�������������� ,I����������������������������������������������

������������'������������� 5��. . . . . . . . . . . . . . . . . . . . . . . 

�	�!������������������	���
������ 1��������������������������������

������������������ 1����������������������������������������������������������������

�����������������'������� ,I��������������������������������������������������

��������
�����
�!������5!�����6 L,����������������������������������

���������
������	���������� 21����������������������������������������������

A������
������	���������� L,����������������������������������������������������

@�������
������	���������� L,������������������������������������������������

8����������!����� 1������������������������������������������������������������������

A������'����������!����� ,I����������������������������������������������������

������������!������ 1������������������������������������������������������������

F�����������'��$��� L,����������������������������������������������������������������

)���T��'��	 L,������������������������������������������������������������������������������

C������������'������� M��. . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

�	�!��������� L,������������������������������������������������������������������������

�	�!���������	� L,����������������������������������������������������������������������

�	�!����
%���� L,����������������������������������������������������������������������

�	�!��������
 L,������������������������������������������������������������������������

�	�!���	���
 L,��������������������������������������������������������������������������

��������
�������!��� RI��������������������������������������������������������

F�����	����'������� RI��������������������������������������������������������������

F������	���'������� RI����������������������������������������������������������������

=�����
�����������5����'���$6 L,����������������������������������������������

�������������	���'����
����� RI������������������������������������������
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)�
��������
#���������
��� (2)
#�����		�	��������
���� (1).

(� ��
������
�� �
� 	�����	
����
�

�������

�������������	���'����
�����  (3)

��������
�����������������  (4)

)�
��������
#���������
��� (2)
#�����		�	��������
���� (1).
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��5������5=B
7	�� ����
��� �� 	������ ��������� ��
������
 � �
��
� 5,6� �� ��������
�	��#!��
���������

$���
�������	�9����=�����9�
)������� ��
	�
 (2). ���� 
��������
������������	���������	���� (3). 

$���
����
�3���9�B��6����� (4)
7	������
�����	����������������'	
%�

(7).

���B�3��?��
�����9� (5)
7	������
�����	����������������'	
%�

(7).

���B�
��@��
�����9� (6)
7	������
�����	����������������'	
%�

(7).

$)�(� ����
���� ������� 	����� �
����� ����������
������ ��� ������ ��������
� �	�
�	��������
�������#�����������������
��	�
 � '������������� ���������'�
�	����
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$��9���9�5���B��=��?��9��B (4)
������� ������ (2). ���� 
��������� ��
������������������	���������	���� (5).

$��?��9��B�
��@��
��
�A�9��4 (3)
������� ������ (2). ���� 
��������� ��
������������������	���������	���� (5).

+����B��6�����
��5������5=B
7	�� ������� 	����� ���	�����
����������	��

����
����B����5=B

���(����-
���� 
��������� 	����� ���'�� ����
��	���	���� �������� ��� ��
����		������
�������������+�	�������
���
������ ������ 	���
� ��� ��
����	����
� ������� ��� ��	��

����
�����
� ������
� �	�� 	���
���� �
��'��
���� ��	�
%�$� �	���$� ��� ��	����� �	�
������$� �����$� 	����� ���� ����'����
������ ��
��� ��� ������� �����

��������
�	��������	��������
��������
��� ��������� 	
�%�� ���'�� ����������� ��
�������������������������
���������
������ �������� 	����� ����$�����
�������� ���������� ������� ��	�� ���
�����������'���	����������������	
����
��������
����'�



G13 ;���9���3���
������

�	�!���������

�	�!����
%����

������������
�����

��5=��9�<�<��
�����9�
��5������5=B
7	�� ������� 	����� ���	�����
����������	��



G14 ;���9���3���
������

(� ��
������
�� �
� 	�����	
����
�

�������

�)��'��

#���9��=�9����������B

+�	�� ��
�������� �	������������
������� ���	�� ��������������� ���

����������� ��
������ ��'��	���
������
� ����9���� �
������
������	���'�� �	��� (3)�� )����
� ��'��
�	��
������������
?����� ���	 ����� �����
�� ��
��������
��'	����� ������
� ���	 ������ ������

5�������. G1).

"�6��9�B��
�9<���

+�	���
������������'
������'�������'��
��� ����
������	�� ��������
� ��'��	� �
������� ����� �� ������ ��������	�
��������� ����������

��� �����'
� �
�����	������ MI� ���
��� ��������
���������� (4).
;�� ������	����� �	��� (3) ���������
�������
� <�	���#���<�� �����	� ��

	���	������������!�����
��������5���
�����	��
����. C36).

���9���@���@9��	�����BG�
�9<����

?����� ���������� !
��������������

	������
����$��������� (5)����
���

��
��'	������	��
 ���
�������
�"
7���������

��������'
��������	�����
MI����
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(4) ������	���'�� �	��� (3). ���������
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������� �������2A��������� (5)� "
��	�� �������� ������ �� �����	����
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���������� (4) ��	������'���
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�����������������
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7	������
����������$������	��"
– 4������
������%�
�5,6.
– ������
�������������5L6�
– 4������
�������������'���������

7	��������������$������	�
����������
����� (3).
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��+��%��$�������$)�"'�)��������
����������������$������	������	���������������	���������$������	����'����
��	�����

(���
������
���
�	�����	
������

�������
��	��<���� $�	* �5=��*

G�����	���������������������R#����������
(“ABS/EBS”) F1 10. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
�����	���	�����
����
�������������JABS–ASR< F1 10��
�����	���	�����
����
���� “EBS–ASR” F1 10. . . . . . . . . . 
=�	�����	 �������	����������	���	� F1 10. . . . . . . . . . . 
=�	�����	 ������'���������	���	� F1 10. . . . . . . . . . . . . 
8	����
�����	�
 F1 10. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
2����	�����!	����������� ”MODEM GPS” F1 10. . . . . . 
2����	�����!	������������'������� ����
“EUTELTRACS” F1 10. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
)��������
�!�����������
 F2 10������������������������������������������
8��������
�!�����������
 F2 10. . . . . . . . . . . . . . . . . . . . . 
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������

��	��<���� $�	* �5=��*

)��������
�!������	���
 F3 10��������������������������������������������
8��������
�!������	���
 F3 10. . . . . . . . . . . . . . . . . . . . . . 
)��������
�!������������� F4 10����������������������������������������
=�����������������5������������6 F5 10������������������������������
����������
����
��������	���������� F6 10. . . . . . . . . . . 
�������������	 ����	�
 F6 10. . . . . . . . . . . . . . . . . . . . . . . 
�����	���	�����
����
���� EECU ������	�����'���	� F7 10. . 
��	����������
�������� (dCi11) F8 10. . . . . . . . . . . . . . . . 
��������
�����
�!������5!�����6 F8 10��������������������������
>�����	�����	�������	 ��������������
�����$
!�����
 F8 10. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
��������
����������������� F9 10������������������������������������
F������	���'�������������� F10 10������������������������������������������
F������	���'��������	���� F11 10��������������������������������������������
F�����	����'��������	���� F12 10��������������������������������������������
F�����	����'�������������� F13 10������������������������������������������
�����������!�����	���'������� F14 10����������������������������������
.���������$��������	���������	��5����	���������	�
6F15 10
B	��������
���$�'��! F15 10��������������������������������������������������
����#��'��	��������	����#��'��	� F16 10. . . . . . . . . . . . . . 
F������5!�����6������'��$��� F16 10��������������������������������������
=�	��!�����
�������'������� F16 10. . . . . . . . . . . . . . . . . . . . 
��������������	���$�	��������	���������� F16 10. . . . . 
���	 ����	����!������'�������	�������������
	��������	� F16 10. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
(���������������� F17 20��������������������������������������������������������
=�	��������������������������������
$� F18 15. . . . . . . . 
�����	���	�����
����
������������������
��������
������� F18 15. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
����'������	�����	����'��!�	���� F19 25��������������������������
����	��������!��� F20 10. . . . . . . . . . . . . . . . . . . . . . . . . . . . 
������������	�������'��	 ���������	�� F20 10. . . . . . . . . 
=�����������������5���	������'�����	 ����	�6 F21 20����
=�������LM���5����������������	�) F21 20. . . . . . . . . . . . . . . 
N�	���	���� F21 20����������������������������������������������������������������������
>���	�����	���������������������� F21 20. . . . . . . . . . . . 
(��������
��������	� AT 2000 F22 20. . . . . . . . . . . . . . . . . 
(��������
��������	� Thermo 90 F22 20������������������������������
�	�!��������������������	� F23 10����������������������������������������
�	�!����������������������� F23 10��������������������������������������
�	�!��������
��
%���� F23 10������������������������������������������������
�	�!������$��
��
%���� F23 10������������������������������������������������
������������������ F23 10��������������������������������������������������������
��������	�������������5��	������6 F23 10. . . . . . . . . . . . . 
������������	������	������������� F23 10. . . . . . . . . . . . . 
@������
������ ��� “EUTELTRACS” F23 10. . . . . . . . . . . . 
@������
������ ��� “AGAT” F23 10. . . . . . . . . . . . . . . . . . . . 
7��'���	������	����E������������������������	� F24 20
7��'���	������	����E��������������������������� F24 20
?����������	���'����$�'��!� F25 5. . . . . . . . . . . . . . . . . . . 
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��	��<���� $�	* �5=��*

A�
����
���'��	 F26 10����������������������������������������������������������������
)���#��'��	 F27 10��������������������������������������������������������������������
)���#��'��	��������� F27 10. . . . . . . . . . . . . . . . . . . . . . . . . 
�����	���	�����
����
�������������JABS–ASR< F28 20��
�����	���	�����
����
�����“EBS–ASR” F28 20. . . . . . . . . . 
����������������	�������'��������
��!������'���	���� F29 10������������������������������������������������������������������
����������������	�������'��������
��!������'��������� F29 10����������������������������������������������������������������
=�	����������
����	�������!������'���	�����'�
����	� F29 10. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
����'������������������	� F30 20������������������������������������������
����'��������������������� F30 20����������������������������������������
����
������	� F30 20������������������������������������������������������������������
��������	�������������5%�����	������������
,L���	�������	����	����) F30 20. . . . . . . . . . . . . . . . . . . . . . . 
����������'
	�������!�� F30 20. . . . . . . . . . . . . . . . . . . . . . . 
A�
����
���'��	�"����������������������������9'�
� F30 20
=�����������������5������������6 F31 20. . . . . . . . . . . . . . . 
�����������	���������	� F32 20����������������������������������������������
;���������	��������	� F32 20��������������������������������������������������
;������������	��!�� F32 20������������������������������������������������������
=����������'������� F33 10��������������������������������������������������������
�����	���	�����
����
������������� F33 10������������������������
@	��#�����	 ����	��
������	�
��������� F34 15��������������
��������������������
�������� F34 15��������������������������������
(��������
��������	� F34 15��������������������������������������������������
>�����������������������'���������	� F34 15����������������
���	 ����	�������
��
���'��	������ F34 15����������������������
�������
������	���������� F34 15. . . . . . . . . . . . . . . . . . . . . 
=�����������������5���	�����	 ����	����������6 F35 15. 
G�����	���������������������R#����������
(“ABS/EBS”) F36 20. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
B	����������������	���	���� F37 10. . . . . . . . . . . . . . . . . . . . 
B	����������������	��������� F37 10. . . . . . . . . . . . . . . . . . . 
�����	���	�����
����
���� ”EECU”�
������	�����'���	� F38 25. . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
=�	��!�����
������'��$��� F41 10. . . . . . . . . . . . . . . . . . . . . . 
�����	���	�����
����
������������������
��������
������� F42 10. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
=�����
�����������5��'���6 F43 10������������������������������������������
����������������QLM�� F43 10��������������������������������������������������
;������������������������� F44 25. . . . . . . . . . . . . . . . . . . 
4���
����	 ����	���	�����
�������� F45 10. . . . . . . . . . . 
@	���������	��������
��	��������������
 F45 10. . . . . . . 
���������	�����������
'����
������'� F45 10. . . . . . . . . . 
)�������������
'����
������'� F45 10. . . . . . . . . . . . . . . . . 
������������
�����'����'��������'���	� F46 10������������������
�����������'��������	����'��!�	���� F46 10. . . . . . . . . . 
����
%��
��������	��5�������	�) F46 10����������������������������



G19 ;���9���3���
������

��	��<���� $�	* �5=��*

>���������������
$� F46 10������������������������������������������������������
8�����	������
������	���	����������������� ZF F46 10. 
�����������	���	 ����'������������	���
�������
'����
������'� F46 10. . . . . . . . . . . . . . . . . . . . . . . . 
�����	���	���
��	���
����	������
������
���'�������� F46 10. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
�����	���	�����
����
������������� F47 10������������������������
@	���������������'��
����	�������������
 F47 10. . . . . . 
�����	���	�����
����
���� ”ABS” F49 3. . . . . . . . . . . . . . . 
�����	���	�����
����
���� ”EBS” F49 3. . . . . . . . . . . . . . . 
�����	���	�����
����
���� ”VECU” ������	�
��������	� F57 10. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
8�����	������
������	���	����������������� ZF F662 5. 
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��	��<���� $�	* �5=��*

>���������������
$� FC 15������������������������������������������������������
7�!������'�	�����'������	� F61 50. . . . . . . . . . . . . . . . . . . . 

$���	�9��@���=�4?���4
�����$������	�� 5,6� ��������� �������
������������������	 ����������
�

���
�����
������������'������ ����
���
�����
����������
���
��
�	����$
����	�%�
	����
�����	
����
���
	�&�
-�������
�
��
���	��	����� (10A).
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